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Uwiwwpbpp-twiuwhwzhy
L< Upniuhph dwpgh $-8-93.LobU-Swpl nbnwlwy tzwbwlnpjwt wynnéwbwuwwphp 4d 0+000-4d 19+889
hwunwdh Jepwljunnigdwl wzluwwnmwupubph
Cunhwlnip wzluwmwtipubp

£L npwd
Qunp. | dbpwbuyws | Uhwdnph Lunhwlnip
NN Ulvwnwtpbbph whjwbnuip dhwy. uuyp wndbpp wpdbpp
1 2 3 4 5 6
/€unnywé YU 0+000 + Y 9+500/
I. Lnnuyhlr wyfuunputipbibp

1 20a-Vll Ywpgh puwhnnh thiuptignul wugypwbigpuyhl 3 0,000 1996,200 0,000
hapbipny h=1-2d

1" | 20a-Vll wpgh puuhnnh dijuptgnud hhnpndnpéng 18 480 367,000 1996,2 958 908 605,400

7 206-VIll jwpgh puwhnnh thfupbgnud wuwypwugpwjhu P 0,000 2763.0 0,000
haptipny h=1-2d

2 | 206-VIll wpgh puwhnnh thiuptignd hhpndapény g3 469 650,000 2763,0 1 297 642 950,000

3 | 98-V Lwngh puwhnnh shhupbignuf wuwjpuligpwhls P 0,000 1512,9 0,000
hapbpny h=1-2d

3 | 98-V Ywpgh puwhnnh thjuptgnud hhnpndnipéng gl 123 268,000 1512,9 186 492 157,200
Luwjuopnp thfupbgywd 20a-VIl Yupgh pbwhnnh

4 | dawlynud kpu, 2.503 2.0, pwpdnud w/h wbinuihnfunud 13 96 073,000 1575,900 151 401 440,700
igwlynuywn dplisle 1 Ld
Luwifuopnp thjupbgywd 20a-VIl Yuipgh puwhanh

5 | dawlymd prynngbipny. nbnuithnfunwd 304 Ynnph 3 384 294,000 575,100 221 007 479,400
Lnunwlymyd
Luwfuopnp thjupbgywd 206-VIll Ywpgh puwhnnh

& | dawynud kpu. 2.5d3 2.un. pwpdnwl w/h wbnwidnfuaw 1Y 93 930,000 1575,900 148 024 287,000
[guilnuyn dpligle 1 Yd
Lwfuopnp thfupbigywé 20a-VIIl lwpgh puwhnnh

7 | dpwlynud prynngbipmy. wbnudgintundd 300 4nnph g 375 720,000 574,200 215 738 424,000
Ynunwlnud
Luwfuonnp thjupbglwd 9a-V Ywpgh puwhnnp dawlnu

& | bpu. 2.5d3 2.un. pwpdnud w/h unbnuahnfund (guilnyn L 41 064,000 1305,900 53 625 477,600
dhtisle 1 L
Luwfuonnp thjupbigwd 98-V Ywpah puwhnnh dawlnud .

9 anynatzpntl. inbnuithnfuncd 300 Ynngh Ynunwnud d 164 252,000 574,200 94 313 498,400
9a-V Ywpgh puwhnnh dowlmd pnynngbpny .

10 bR 504, [hagN (e il o [unugnud) ] 14 866,000 1327,500 19 734 615,000
9a-V Ywpah puwhnnh Jawymd fpu. 1.043 2.0,

11| pwpdmd w/h U inbnuithnfunad (hgp 144 (hwpend. a3 25 313,000 1650,600 41781 637,800
opnd. juunwgnud)




92-V Ywpgh pwhnnh dawlnud bpu. 2.5 43 2. .

12 | pwpsinud w/h wbnuithnfund dhtsle 148, Ynunwlnus g3 1041,000 967,500 1 007 167,500
hbUwwjwinbiph hbwnwnwpd hgph hundwn
10e-1V Yuwpgh puwhanh dawynul tgu. 2.50° 2.0 .

13 pupdnud wh L nbnuigintuntd gulinywn dhbst 14 d 90 512,000 1067,400 96 612 508,800
10e-1Y Yuipgh pwhnnh dowlned prynngbipny. .

14 nbnuudhnfunul 300 Ynngh Ynunulnul U 361 904,000 298,800 108 136 915,200
10elV Lwngh puwhnnh Jawlnud prynngbpm| .

15 ubnuthnfuncd 506 (hap (hwpenud. sprud. futwgnud) u 30 492,000 1166,400 35 565 868,800
10e-I¥ Yupgh puwhnnh dzawlned kpu. 2.503 2.0,

16 | pwpdnd w/h L inbnwibnfunad thgp 14d (hwpenud. g 29 140,000 1699,200 49 514 688,000
opnwl. fuwntugnud)
10e-1Y Jwpgh pwhnnh dawlmd kpu. 2.503 2.0,

17 | pupdmud w/h L inbnwhnfumd jhgp 24d {hwppnd. u? 14 114,000 1812,600 25583 036,400
gnnud. funwgnud)
10e-1¥ Ywpgh piwhnnh dawlmd Epu. 2.503 2.0,

18 | pwpdmd w/h b inbnuithnfunul (hgp 44d (hwpend, U 20 534,000 2037,600 41 840 078,400
opned. funwgnud)
10e-V Yuingh puwhnnh dgwlymd kpu. 2.5 43 9. wn,

19 | pwpdnd w/h inbnuethniund dhtigle 1A, Yonwymd u? 436,000 1007,100 439 095,600
funnnywlubph hbwwnwnps hgph hwidwp
10e-1¥ Yupgh puwhnnh dauwlnud kpu. 2.5 d3 2. i,

20 | pwpdnd w/h tnbnwcinfenud dhbsl 14d. Yrauwnwlnad o 332,000 1007,100 334 357,200
hgunbintipb |hgph hwdwp
10e-1V Yupgh pbwhnnh dawlm kpu. 2.5 43 9. 10,

21 | pwpdmud w/h inbnuintund Jhugl 144, Ynunwlmd d? 11 415,000 1007,100 11 496 046,500
Ynnbwlbtinh |hgph hwidwp
10e-1V Yupgh plwhnnh dowlned kpu. 2,5 43 2. in,

22 | pwpdnd wih inbnuithnfunad dhgh 14d. Ynunwlynud 18 28,000 1007,100 28 198,800
npbuwdh htnwnwpd (hgph hwdwp

Uuinpwbbph Ywnnignud 0,000 0,000

1 20a-Vll Ywpgh piwhnnh thfupbgnud wuypwhgpuht 5 0,000 1996,200 0,000
(hgplipny h=1-24

1° | 20a-VIl Ywpgh puwhnnh thfuptignwd bhapndnipGny Ul 6 435,000 1996,200 12 845 547,000

2 206-VIll wpgh puwhnnh thfupbgnid wwypwugpwht B 0,000 2763,000 0,000
thgpbipny h=1-2d

2 1 206-YIll Ywpgh puwhnnh thluptignd hpppndnipéng 1f? 55,000 2763,000 151 965,000

3 9a-V Ywngh puwhnnh thfupbgnud wuipwligguhl g 0,000 1512,900 0,000
(haptpny h=1-20

3" | 9a-V Ywpgh piwhnnh upbgntl hhnprdngpsng g 2771,500 1512,900 4193 002,350
Quwnhbwlbbph Yuwnmgnd bwfuwwybu tdhjupbglwd 20a-

4 | VIl jupgh pwhnnmd payangbpny (nbrtuthnjunmd Iy 6 435,000 443,700 2 855 209,500
dhtsle 200)
Uuwnhiwitbph Guwnmgnd bwhuwwbu hupbgywd 206-

5 | VIl jwngh puwhnnnud pnynngbipny  {(unbnughnpunud g? 55,000 443,700 24 403,500
dplisl 204)
Uuinpwbtibpp Qwnnignud bwhuwwtu ihjupbgywé 9a-

6 | Vywpgh ptwhnnnud pnynngbipny (tnbnwihnfuntd g 5 543,000 443,700 2 459 429,100
dhtisl 200)
Uuwnhfwbltbph Ywanignu 10e-1V Lupgh ptnshnnnud 8

7 anuynnatnny  (wbnuithnfunud Shusl 200) u 7127,000 211,500 1507 360,500

Lunudblp 1. 0,000 3 783 265 450,650
I, bnnuyplr winnibbip 0,000




1 20a-V!l Yuipgh puwhnnh thfupbgnid wuypwbgpunht £ 0,000 5698.800 0,000
thgpbipny h<0.54.
4 150,000 5698,800 23 650 020,000
2 206-VIll uwngh puwhnnh plupbgnd wjwjrrwlgpuyhl & 0,000 9338,400 0,000
thgpbpny h<0.54.
5 807,000 9338,400 54 228 088,800
3 9a-V Yungh puwhnnh thiupbgnud wwjrwlgpwiht U3 0,000 4435,200 0,000
thapbipny h<0.54.
717,000 4435,200 3130 038,400
bnnuyhb wnndibph hpwlwiewgnd bwhiunybu
4 | thjuptigywé 20a-Vil Ywpgh puwhnnnul tpu 0.6503 ¢? 3 948,000 2199,600 8 684 020,800
2. pupdnul wnbnuihnfunud igulnyw 140 dheht hbin
“nnujhts wanibph hpwlwbitgnud bwhwyby
thfunbgyws 20a-VII Yungh puwhnnnud dbnpny. .
3 pupdnu kpu 0.65u3 2.un. wbinuithnfunud (guintyn 14 d 202,000 ek LY eI
dheht hbn.
“nnwiht wanubph ppuslwtiugnid bwhiwbu
& | tlupbgywé 206-VIll Ywpgh puwhngnu kpu 0.6543 g 5 517,000 2199,600 12135 193,200
2. pwpdn wbmwihnfunud |guiynyn 1Yd Shghu hbn
bnnuwtht wembbph hpwlwbwgnu bwjuwwbu
thfuptigdwéd 206-Vill wpagh puwhnnaw dbnpny. .
7 puipdnud tpu 06563 2.un. inbrusthnuned gulnyn 140 u 290,000 16 326,000 4734 540,000
dpehts hkn,
Ynnuwiht wnnubiph ppwlwbwgnud bwhuwwby
thiuntigyuws 9g-v 3
8 Ywngh puwhbnnmu tpu 0.65d3 7.u1.. pupdnud u 1362,000 1 843,200 2 510 438,400
tnbnwehnfunud lguibnywn 148 Jhehls hiin
Unnuyht wnnbph hpwlwtiwgnid bwhiwwby
thiupbgyws 9a-V Yupgh phwhnnnui dbnpny. pwpdnud .
9 kpu 0.6503 . unbnusthifunud guilynyn 1L Ghehl ] 72,000 12175,200 876 614,400
hbn.
“nnuwjhl wanwbph hpwlwbwgnul 10e-1V Ywpgh
10 [ pwhnnnud bpu 0.6503 2.n.. pupdnul nbnuihnfunud J? 2 365,000 1 427,400 3 375 801,000
gwlaywn 14d dhoht hbin
“nnuithl wnnibph hpwlutiwgnud 10e-1V Yuingh
11 [ puwhnanu dbnpny. puwpdnud kpu 0.6503 2.1 W 124,000 6 731,100 834 656,400
unbnwihnfunid [gunyw 1Yd dhohls hin.
Cunwdtp 11 0,000 116 740 976,400
. Gagbutibp 0,000
10e-1V Yupgh bwhuwwbu dawlwd pwhnnh pupsnud
1| kpu. 2.5 43 2. 1. w/h. wbnushnjunul Ynnuwlubph hgp ul 11 415,000 1539,900 17 577 958,500
14d (hwpenul. gpnud. funwgnul)  h=26ud
2 | innbbnh wipuignud wiwquiinuGuih tynyeny ® | 43903,000 | 639,000 | 28054017,000
hdh9.=10ud.
Chnwdbp (11, 0,000 45 631 975,500
V. Epplblbih duy 0,000
1| Cwwnhluynp bupwhhdp. (wjwqulnwhé) h=10 ws 2 227 958,960 507,600 115 711 968,096




hbwywquiht bhdp {C-5) h=20ud
1004 hwdwip
fuht (40-70) 10% - 2.64°
fuh6 (20-40) 35% - 9.tJ*
2 uh6 (10-20) 20% - 5.24° 2 151 729,600 2 083,500 316128 621,600
fuh6 (5-10) 10% - 2.64°
Juh6 {0-5) wjwq 25% - 6.54°
gnip-1.1d3
3 | hungnpwhwnhly pupdp dwlnnlblnysjwdp w/p h=6ud u? 145 588,000 4 149,900 604 175 641,200
4 | ungnpwhwinhly w/p h=6ud 2 145 588,000 5 688,900 828 235 573,200
5 | "B" whwh dwupwhuwinhl fuhun wiwp w/p h=4ud 2 145 588,000 4 211,100 613 085 626,800
Lununitbp IV, 0,000 2 477 337 430,896
V. hgunplinbp & Jnupplip 0,000
; 20a-VIl Ywipgh puwhnnh thhupbgnud wuypwbigpuyplu P 0,000 5 604,300 0,000
thagbipny h<0.54.
1" | 20a-Vil jwpgh puwhnnh thjupbgned hhnpninéng u 75,000 5 604,300 420 322,500
2 98-V Yungh puwhnnh thjupbigmd wwjpwlgpwhu o 0,000 4 362,300 0,000
thaptipnd h<0.51.
2" | 98-V Ywpgh pwhnnh thfupbignd hhnpnudnipény g 8,000 4 362,300 34 898,400
Luwfuopng thfupbgywd 202-VIl Yuwpgh plwhnanh
3 | dpawynui tpu. 1.043 2.un. pwpamd w/h wbnuithnfunw ? 75,000 1974,600 148 095,000
lgulnywn 1 Yd dhe. <bin,
Luwtuopnp thiuptigywd 9a-V Ywpgh pwhnnh dawynud
4 | tpu. 1.0u3 2.0, pwpdnud w/h wnbnuiinjund lguynywn e 16,000 1 647,000 26 352,000
1 L dhe. <bn
10elY Ywpgh puwhnnh dawlnud pruyrngbipny .
3 wnbnuihnfend S04 thgp (hwpenud. gpnud. funugnud) u 15,000 117,800 LFZE
Swbwuwwphh hwbnyphg bwjuwwbu Ynunwlws 10elV
Lwpgh puwhnnh pwpdnuw tpu. 2.503 2.0, .
5 nbrutpntunud (hap 1 4 dhg hbn. (hunnud. s, ] 332,000 1507,500 500 490,000
fuunwignid)
bprlbhbth dwu 0,000 0,000
huSwjwquight hhdp { €-5) h=12 ud
fuh6 {40-70)- 10% - 1.564°
[uh6& (20-40)- 35% - 5.46.°
1 | [upé {10-20)- 20% - 3.1243 Y 962,080 1.371,600 1319 588,928
fuh8 (5-10)- 10% - 1,56
fuhts (0-5}- unjwig 25% - 3.9°
onip-1.103
2 | Bunhyh dwbpwhuenpl jupn w/p h =4 ud R 899,080 4223,700 3797 444,196
Ubnwnuljwy funnnjwlbbp @ 53004 0,000 0,000
1| WwqubnuSughts 2bpn h=10ud (dGwn, funn. wwly) I 2,145 5 853,600 12 555,972
2 | Utn. funnnuhubph @ 530x5d4 ibqunpnid gqid 33,000 129 420,000 4 270 860,000
3 | Qpudbymuwgnud {2 2Epn niwp phumdng) qdu 31,200 3 060,900 95 500,080
4 | Uhwdny pbunnlib B-20 qfuwdwubp o 2,400 116 515,800 279 637,920
5 Sfuwtiwubph gpwdblnuwgmy (2 2bpn nwp R 9,000 | 261,800 11 356,200
phunnuiny}
Cununitip V. 0,000 10 933 868,196
Vi. Rpuwqdh lpunnignd lif0+000-id2+ 200 0,000
1 ;f;: ‘h":'nl:{‘“f‘% puwhnnh thlupbgnul ww)pwlgpuyh g 0,000 3 433,500 0,000




h=0.5-14
20a-Vll wpgh plwhnnh thiupbignyd hhnpndnipény g 248,000 3 433,500 851 508,000
5 | 98-V Ywngh ptawhnnh thupbignud wupwligpuyhl 5 0,000 1 978,200 0,000
hgpbpny h=0.5-10
9a-V Ywngh puwhnnh thuptignud hhnpndnipéing 15 34,000 1 978,200 67 258,800
Fupwdninnt pwinmd bwtewybu thhupbgywd 20a-vH
3 | Yupgh plwhnnnuf kpu.0.658 2. i, pwpdnud 2 236,000 2127,600 502 113,600
wbnwihnfunul [gwlnywn 14d dhohbn. (1x0.4x620)
4 | Linyup &bnpny 1Y 12,000 15 516,000 186 192,000
hupwdninnt pwlnnul bwhiwwbu thfupbguwéd 95-v
5 | Yungh pwhnnnul kpu.0.6508 2n.ynnph Yrwnwynd 15 65,000 855,000 55 575,000
{1x0.4x170)
6 | Linyup dbnpny I 3,000 9 996,300 29 988,900
hupwidnune pwitnnud 10e-1v bwngh puwhnnnu .
’ £pu.0.650° 2.:n.ynnph Ynunwlnus (1xD.4x1410) d SR S S22t
8 | Linyup dbnpny ? 28,000 5 312,700 148 755,600
Ujwah Uwhiwwunnpwunwlwb 2tnun h=10ud .
9 (2200x0.4x0.1) U 88,000 6 291,000 553 608,000
10 | Lnp wnihtphibl unnnywlp wbnwnpnud d=50x3ud qod 2 200,000 1288,800 2 835 360,000
11 | Ninhn dhwgrnud d=5044 hwn 2,000 2 619,900 5 239,800
12 | Ujwgh wwanupulihy sbpin h=20ud {2200x0.4x0.2) ol 172,000 6 291,000 1 082 052,000
13 | <kwnwnwnd (hgp prynngbipny 2 586,000 818,100 479 406,600
14 | <nwnwpd thgp dbnpny Iy 30,000 1 818,900 54 567,000
Luwhuwbu Ynunwlws 98-V Yupgh puwhnnh pwpdnu 3
s bpu.0.6503 .. L ibinunhnfumy igwiljnyn 14d dhg.htbn. 4 16,000 1782,000 kb
Curnudbtp VI 0,000 7 244 349,300
Vil. pblwdf unnignud 0,000
Epluytinaljut gpbbwdh unnignd L=1804
Ud 3+4240-L4ud3+360. d3+540-483+560. yu3+920- 0,000
Yu3+940. 4+080-YyS4+100 (L=1801)
206-VI1l Ywpgh puwhnnh thjupbgnud Wty pwigpwhl .
1 {hgptipny h=0.5-1d (170x0.75xI) (i} 0.000 3 408,300 0,000
1 | 296-VIll Yuungh pbwhnnh ihtuptignd bnpndnipéing it 127,500 3 408,300 434 558,250
{170x0.75x1)
94-V bwingh plwhnnf thfupbignul wuypubigpuwht )
2 ihgpbinng h=0.5-10 (10x0.75x1) ] 0.000 1 962,000 0,000
2 | 98-V iuingh puushnnh thhupbgnd hhnpndninéng & 3,750 1 962,000 7 357,500
{(10x0.75x1)
Lwluopnp thfupbgywd 9a-V Ywpgh puwhnnh dawynud
3 | bpu. 0.6543 .. pwpdnud w/h inbnuihnfunud W 6,500 1769,400 11 501,100
gwhnywn 1 4 dhg. <bn,
4 | Lnup dkinpny d? 1,000 11 431,800 11 431,800
Luwluepnp thtupbigdwé 206-VIll Yupgh pwhnnh
5 | dzwiynul bpu. 0.65U3 7., puipdnw w/h nbnwiinfunud e 115,500 212,300 243 970,650
gwlnywn 1 4d dhg. <bn.
6 | Lintwp bnpny 19 12,000 15 400,800 184 809,600
7 | tuh6 40-7004 ubwwynpyws puwhnnh Jdbg h=7ud u? 135,000 495,000 66 825,000
8 | blwdh wnnignud qéd 180,000 9 816,300 1766 934,000
Lujbwljwb npbbwdh huwamgnul  L=744
Ud3+280. i3+320, W3+540. LU3+920. yJ4+080 0.000 R




206-VIll Ywpgh Ruwhnnh thtupbgnul W) Rwlgpwihl .
" | \hgptipny h=0.5-14 (51x0.75x1 1 “ el 3 408,300 Ly
206-VIll ywpgh puwhnnh thiupbgnul hhnpndnipny .
(51x0.75x1.1) d 42,000 3 408,300 143 148,600
9a-V hwngh ptwhanh fitupbgnul wupwlgpught .
2 | |hgpbpny h=0.5-1 (23x0.75x1.1x0.5) d e 1962,900 e
-V Yupgh Puwhnnh thfupbgnul hhnpndnpény -
(23x0.75x1.1x0.5) i} 9,500 1 962,900 18 647,550
Luwifuopnp thjupbigyws 9a-v Ywngh puwhnnh dawlynud
3 [ tpu. 0.6503 2.1n. pwpdnuf wi/h wbnhnfunud 2 18,000 1769,400 31 849,200
gwloyn 1 Yu dhe. <bn.
4 | Lniip &bnpny 3 1,000 9 921,600 9 821,600
Luwfuopnp thfupbgyws 206-Viii Ywpgh piwhnnh
S | dawynd kpu. 0.6503 9.0, pwpinu w/h wnbnwihnfunu Ul 38,000 212,300 80 267,400
[gwynyun 1 4d dhe. <bn,
6 | Lmup bnpny g 4,000 15 400,800 61 603,200
7| tuh6 40-700d ubwwynpywd puwhnnh dbg h=7ud u? 3,000 18 665,100 55 995,300
8 | Mblwdh Yunmgnud qdd 74,000 22 395,600 1 657 274,400
Bwbuwwphh hwunyphg Uwhiuwybu Ynunwlwd 10elv
9 | 4. puwhnnh pupdnud kpu. 2.503 2.0 inbnunhnfunud d¢? 28,000 845,100 23 662,800
hbunwnwpa (hgp 1 4d dhg hbn.
10 | <buwnwpd hgp pnunngbpng g 26,000 812,700 21 130,200
N | <bwwnwpd jhgp dbngny 42 2,000 1 805,400 3 610,800
Cunwdtlp Vil 0.000 4 834 498,950
Vill. Bwbwupuphughl bawbibilip 0,000
1 [ Unp fwb. Upwbbibph tbinuinpnu. win pYnud’ 0,000
- bwhrwqgnigwglinn hwn 704,000 23304,600 16 406 438,400
- wnwybint@wh hwuin 16,000 28793,700 460 699,200
- wngbnn hn 26,000 28793,700 748 636,200
- phlwnpnn hwn 4,000 28793,700 115 174,800
9 | - ubnblungmpuy huwn 20,000 10012,500 200 250,000
- Inwgnighy nbinbiljuinynipgut hunn 30,000 13464,900 403 947,000
- wbhunnuiliuib Uwhwgdiuwl P 1,780 54377,100 96 791,238
{(hwwinly phjwnpuitiph)
- whhuinulwls uhugbdu @ 3110 54377,100 169 112,781
(wnbnblwinynipw)
3 | Ywlquwy dtun. funn 57x3.50d huin 702,000 222i11,100 15 592 192,200
4 | Uhwény| ptwnnbib hpdp B-15 g? 73,710 48568,500 3579 984,135
Chnwdkp Vil 0,000 37 773 225,954
IX. Lpwgdnuf 0,000
Lawgdnuip punhubing twlbpbup (eBpdnwywun >
1 h=34d. wuls qunhubHh w wguuip) d 6 030,950 9720,000 58 620 834,000
Clnuwdbbp IX. 0,000 58 620 834,000
X. Upgbjunpulinglibp 0,000
Utn. wpqbuipwlngubph wbnwnpnul 3 404,
1| Yuquwlubp gdbbp N16. puyin 2d Yngin qbd 15 522,000 28 088,100 | 435983 488,200
hwnywdwidwnhsny
Ubwn. wpgbjwihwlngubph wnbnwnpnul 3 4.
2 | Yulqluwgbp 2ybibp N16. puyip 4 Ynown qdd 2 860,000 22 952,700 65 644 722,000
hwpywéwdwnhsnyg
3 | Mnthdbpuwhl ninnpn unitibph {C-1) nbnwnpned hwtn 86,000 4 512,600 388 083,600




Clnuwdklp X,

0,000

502 016 293,800

Ubinwnwlwh dwpin=102044 pinnnjuiieliph whnwnpau

0,000

9a-V lwngh puwhnnh thjuptignud
Wwyrwugpwihl thgplipny h=0.54

2

0,000

4 347,900

0,000

9a-V Ywngh puwhnnp thiupbigmd
hpnpndnipény

g3

137,000

4 347,900

595 662,300

20a-VIl jwpgh plwhnnh thlupbgnud
wuwjrwlgpwihl (hgplipny h=0.5u

ks

0,000

5 586,300

0,000

20a-VIl ywpgh puwhnnh thfupbgnuf
hhnadninéng

g3

210,500

5 586,300

1175 916,150

206-VIIl Ywpgh pbwhnnp thiuptignu
wuwypwugpwihl |hgpbpny h=0.54

2

0.000

9154,800

0,000

206-VIIl wipgh pwhnnh plupbgnud
hhnpadninéng

it

138,000

9154,800

1263 362,400

nnujht wfuwwnwptbp 10e v Ywpgh puwhngnud
hnith ninndwb hudwn bpu.1.0 ¢3 2w, pwpdnul wh U
nbnuip. guilinyin 1.04d bbn. Ypw

l]!

69,000

1295,100

89 361,900

Cnnuwjht wptuwunwupubp Uwiuopnp htupbgyws 9a-v
Yungh puwhnnnud hnih N huwdwn tpu.1.0u3
2. pwpdnul w/h Lk wbnuwih. [gulnyn 1.04d. hbn,
UYpw

e

59,000

1641,600

96 854,400

<nnuiyhb wfuwwnmwbipbbin tufuonnp thfuptiguwé 20a-
VIl uipgh puwhnnned hmish ninnbwl hwiwp
kpu.1.0d3 2.1n. puipdnu w/h L tnbnwih. iguihnin
1.04d. hbn. Ymw

ig

38,500

1967,400

75 744,900

<nnuihl whwnwliplbip bwluopnp thiupbgdtus 206-
VIl wngh pwhnnnud hnh nnndwu hwdwp
Epu.1.0u3 2.0, pupdnud w/h u inbinwith. |gwlnywn
1.04d. hbn, Ypw

d’J

17,000

1967,400

33 445,800

<nn. wphuwnwliplibn 10e IV Yupgh puwhnnau
thnunpuwlubiph thnpdwl hwdwp kpu.1.0 d3 2.0,
pupdnud w/h b wbnwih, (guwlnywn 1.04d hbe. Ypw

It

131,000

1295,100

169 658,100

<nnwihl wyluwnwbiptbip bwhionnp thfupbgywé 9g-v
Ywngh puwhnnnud funnnygulh thnunpwilh dhpdwl
hwdwn Epu. 1.083 2. in. pwpanud w/h W inbinuihnfunad
guwlnywn 1.04d hkn. Jpw

3

131,000

1641,600

215 049,600

10

<nnuitht waluunwipbibp bwiuopnp thupbgywd 20a-
VIl yuipgh puwhnnnud funnnguiyh thnunpwyh thapdwt
hwdwn kpu. 1.0d3 2. w. pupanid w/h b wbnuithnfund
[gwlnywn 1.04d hn. Jpw

e

172,000

1967,400

338 392,800

1

<nnuihb wfuwinwbpibn bwhuopnp thiupbgyws 206-
VI Ywpgh puwhnnnud funnnduilh thnunpwlh hapuwl
hwiwp Egu. 1.003 7. . pwpsnuw w/h W inbnuidinfunwd
[gwynuyin 1.04d hbn. Jpw

d’!

121,000

1967,400

238 055,400

12

<nn. wluwinwbiplibn 10e IV Yuwpgh puwhnnnul
thnunpwliiph thapdwle hwdwp kpu.1.0 3 Unnph
Ynw Ynunwlbny bbnwnuwnd thaph hwdwp

hE

140,000

646,200

90 468,000

13

<nn. wziiwinwliplibn buifuopnp thfunptigywd 9p-v
Ywngh puwhannud jennniwljh thnunpwliubph
thapdwb hwdwp kpu.1.0 03 Unnph Yptw Ynenwytny
hbwwnwpd |hgph hwdwp

U3

141,000

838,800

118 270,800

14

Swlwwwphwihl hwlnyehg 10e-v Ywpgh puwhnrp
Wwhrd Epu. 2.503 2.0, pupanud w/h b
wnbnuwinfunid hbinwnwpa (hgph huwifwp 2.040

‘j3

112,000

949,500

106 344,000




15 | Ujwquynwbuyhlt bwhuww. h=10ud ol 11,340 6421,500 72 819,810
16 | huSwjht hhdp h=30ud vl 177,301 5263,200 933170,623
FHhuwdwuh Yunnegmd dhwany| pbiinihg  B20 FI00 0,000 0,000
17 | hhdpbp U2 32,460 115962,300 3764 136,258
hpuwititip W 53,100 115962,300 6157 598,130
18 | Npobwlhwwyuwiht wipwbbp 316 AS00c 1=134ud lig 108,740 791,100 B0 486,514
Ubinwnulwl dwipn= 1020 Jd funnndwih nbnwnpn
19 1q5=249.08 g, wwinh hwuwn, 1004 qéud 205,000 369042,300 75 653 671,500
20 | [haskh b RBbulpusls winudp dhudng phuant - 820 # 21,880 81470700 | 1782578916
Pulwdpwyhlr ppwdblinwwignul 2 sbpn nwp phunnedny 0,000 0,000
21 | tunnywly gdd 195,100 5872,500 1145 724,750
pbunnl 0 319,380 1257,300 401 569,047
<hnwnwnd hgp 0,000 0,000
w)pnynngbipny 10elv Iy 233,000 808,200 188 310,600
22 | wpmynngbipny 9a-v 13 74,000 808,200 59 806,800
pjabnph wafuunnwugpny 10elV o3 29,000 1796,400 52 095,600
p)dbnph waluwwnwbpny 95-v g2 10,000 1796,400 17 864,000
Clnusibtp 0,000 94 916 519,098
Fnwrnuwljwh dwpn=122054 lunpnwltibph wbnugpnud 0,000
98-V Ywngh pwhnnh thtupbignud
1 Iy 0,000 4 344,300 0.000
wwpwugpwhl (hgpbipny h=0.54
" 98-V Yungh puwhnnh ¢riupbignud H 18,500 4 344,300 80 369,550
hhnpadnipény
20a-VIl Ywpgh puwhnnh hhupbgned
2 Y 0,000 5 581,800 0,000
wwjrwlgpwhl |hgpbipny h=0.51
2 | 202Vt huingh pushnnh thhuptignud P 437,500 | 5581800 | 2442037,500
hpnprdmipéng
206-VIll Yuspgh puwhnnp thfupbigmd
3 g 0,000 9146,700 0,000
ww)pwugpuhl thgpbipny h=0.54
3 | 206-VI Luipgh pushnnh shfupbgrud A 7,000 9146.700 64 026,900
hhnpndntpény
<nnwjht wztuunnwipbbp 10e IV Ywngh puwhnngnus
4 | hnh npiwt hwdwp bpu.1.0 U3 2.un. pwpénud w/h L i 27,000 1294,200 34 943,400
inbnwih. |gwnyn 1.048 hbn. Ypuw
<nnwjht wzhuiwnwbplibin bwhuopnp thiupbigws 9.V
Yungh puwhannud hntth nenndwl hwdwp tpo.1.0d3 =
5 2. pwpdnd w/h b inbnuid. lgwlinyn 1,044, hbn. u 8,000 1640,700 Ly
Ypw
<nnuiht wpjuwnwlplibp Uwjuopnp thiupbigywd 20a-
VIl Yuingh ptwhnaad hndih nupndwt husduin .
J Epu.1.0d3 2.1n. pwpdnud w/h U wbnui. (guiynyn d - 1137.600 63136,800
1.04d. hkn. Jpw
nnujhb woluwwwlipltp Uwluonng thjupbgyws 206-
VIl Yupgh puwhnnad hnuh nipdwt hwdwp .
7 ERu.1.003 2.un. puspdnud w/h L inbnwih. (gulnywn d 1000 1137,600 LLEZul
1.04d. hbn. Jpw
<nn. upfuwinuipubin 10e IV Gupgh puwhnnnu
8 | tnunpuljibph tinpuiwl hwdwp kpu.1.0 U3 2.1, u? 17,000 1294,200 22 001,400

pwpdnul w/h b inbinuah. \guwlnywn 1.04d hbn. gpw




nnuihtr wliwnwbptibp bwiuopnp thhupbgywé 9ga-v
Yuingh puwhnanud funnnywlih thounpuwlh thnpdul .
J hwdwn kpu. 1.003 2. in. pwpdnul wih W nbnuithnjund . — Lty 23 532.600
Qulnywn 1.04d hbn. Ypw
Cnnwibl wafsunnwliplibip Uwhuopnp thhupbigyws 20a-
VIl ywngh puwhnnnad funnadwyh thnunpegh ginpdwt .
10 hwdwip Epu. 1.003 7. . pupdnud w/h U wbnuiginfunud d Sz ALY 434 563,200
wlnywn 1,044 hbn, Jpw
Cnnuihl wafuwwnwlipiip bwiuepnp thiupbgywé 206-
VIl wpgh pbwhanmd funnadwlph dinunpulh .
i thopdwl hunfwn Egu. 1.003 3. tn. pupdnu w/h b i 6,000 IEZEAL el
inbnwihnfunud |gwynywn 1.04d hbn. Ypw
<nn. walewnwpliin 10e IV Yungh ptwhnnnu
12 | thnunpwlbbiph thapdwb hwdwp bpu.1.0 d3 Ynnph e 93,000 645,300 60 012,900
Upw Ynunwlitiny hbtnwnwna hgph hwiwp
<nn. wfuwnwiptibin Uwluopnp yijupbgyws 95-V
Ywngh puwhnanud funanduyh dinunpwlsbph 3
" | it hadwp tpu.1.0 U3 Yangh pw Unanuled | 9 1,000 LY S
hbnwnwna jhgph hwdwp
Swbwwumhwihl hwinyphg 10e-1V wpgh puwhnanh
14 | dawlmd kpu. 2.503 2.un. pwpdnud wih bt a3 135,000 948,600 128 061,000
wbnuihnfunwl hbnwnwnpa |hgph hudwn 2.04d
15 | UWwqunubuyht bwfuww. h=10ud » 4,130 6417,000 26 502,210
16 | hwuhl hhdg h=30ud ® 162,840 5259,600 856 473,264
Huwdwuh Ywnmgnud dhwany phinthg  B20 F100 0,000 0,000
17 | hpdgbp U 27,140 115869,600 3144 700,944
hpwltbp Iy 71,070 115869,600 8 234 852,472
18 | Nplbwluwuyuwiht wipwiiubp @16 A500c 1=144ud g 63,560 790,200 50 225,112
Uinwnuljuwl dwpin=122004 funnnyuwlyp
19 nbinwnpu. qdu= 357.49 g wwinh hwwn. 1200 gl 142,900 581018,400 83 027 529,360
20 | ok b Ryl winwdh dhudny] plunts - 520 & 9,620 81405900 | 783 124,758
Butwdpwjhl gpwidbynmuwgnud 2 sbpwn nwp ppunnudny 0,000 0,000
21 | funnnyfwly gbu 133,580 7018,200 937 491,156
pbnnt i 227,280 1256,400 285 554,592
22 | Bwpuyhu |hgp ol 13,800 6141,600 84 754,080
Lhunwnwnd (hgp 0,000 0,000
w)pnunngbpny 10elv ¢ 182,000 808,200 147 092,400
23 | w)pnynnqbipny 9a-v U 10,000 808,200 8 082,000
pldbnph wafuwinwupny 10elv g 20,000 1795,500 35 910,000
plabnph wofuwwnwupm| 9p-V g3 1,000 1796,188 1796,188
Curpudbtip 0,000 101 013 089,386
Ubinwnulwb dwpin=142004d funpndwlbbiph nbywgand 0,000
Lnnwjht waluwwnwbiptbp hnh nugndwt hwdwp pU.
1 | Fpud,0d3 2.1, pwpdnud wih b wbinuih. (gulinyn
1.0Ud hbn. Ypw P 4,000 1298,700 53 246,700
2 | <o, wahinwtipubp funnndwlyp thnunpwlbiph ph.




thapdwl hwdwp tpu.1,0 ¢3 2.0 pwpdn wih b
wbnuith. gwlnywn 1,044 hbn. Ynw

g2 115,000 1298,700 149 350,500
pl.
<nn. waluwinwplbp hunnnyulgh thnunpwhubpp
3 | thopiwt hwiwp kpu.1,0 Ynnph dpw Ynunwlbyng
hbunwnwna thgph hwduip Iy 123,000 648,000 79 704,000
Ujwqulnuysuwght bwluwyy. h=10ud u? 10,560 6417,000 67 763,520
huuht hhdp h=30u w2 14,820 5259,600 77 947,272
Hhwdwuh wangnus dhwany| pbiinihg  B20 F100 0,000
6 | hhptp Iy 4,210 116423,100 490 141,251
hnwblibp g 13,914 116423,100 1619 911,013
7| Npduwlwuguwht wdpwliibp @16 A500c 1=235ud 4q 14,840 790,200 1 726,568
Ulinwnulust dwpuin=1420d4 funnndwlijh
8 it pnud, 1g8i= 622.36 g, wwnh huen. 1804 goud 33,400 300763,350 10 045 495,890
9 ;2“39';“50% ltuybls winwidubph Uhuwany peunnt @ 5,192 81700,200 424 187,438
Ruwdpuyht gnwiiblinwwgnud 2 sipn vwp phunnudng 0,000
10 ™ ey qou 32,600 8738,100 284 862,060
phinnt W 14,330 1255,500 17 991,315
<bthwnwipd jhgp 0,000
) " pU.
w) pnynngbipn
n | W FManqanng ? 111,000 810,900 90 009,900
pU.
&h b
R} Stineh wzhuuiinulipng P 12,000 1801,800 21 621,600
Snynipgniti niibgnn qiuwdwubph pwlinnud hbunwhwp
121 drip6ind, pupantd w/h L nbnuihnfund guiynyn 1,0yd 1Y 1,200 26757,000 32108,400
hbn. Jpw
Snjnuejnis nebibignn b/p onwlubnh wwwdnbunwdnud,
13 | pwpanud w/p L nbnwihigulnyn 1,044 hbn, Ynw i 4,730 38464,200 181 935,666
{d=1.0u)
Cunwdbup 0,000 13 648 003,094
Ubinwnuwljwb dwpn=152045 funnnijwiljubph nbinwnpaut 0,000
9a-V Yungh plrwhnnp thlupbigned a
1 uypuiligpuwyhl thgptipny h0.50 ] 0,000 4341,600 0.000
r gﬁ;‘:‘;‘lﬁfﬁé’nﬁ"‘"“"“f‘ thiuntignud d3 62,000 4341,600 269 179,200
202-Vil Lwpgh piwhnnh thhuptigmid .
2 wupuigpuiht (hgptpny h=0.54 d 0,000 5578,200 0,000
7 ﬁﬁ:ﬂ‘:&i‘r‘l‘g‘:&‘ Ruwhnnf thhunbgnud & 0,000 5578,200 0,000
206-VIll hungh pliwihnnh thjupbgnul .
3 wupwlgpUIhl (hgpkny h=0.54 ] 0,000 9140,400 0,000
206-V1I Ywngh puwhnnh thiupbgned .
4 wpwligpUIhl {hgpbrnd h=0.54 d 0,000 1293,300 0,000
3 ﬁgg;:'&'n?;ﬁh Rutuhnnh hfuptignus P 12,000 9140400 | 109 684,800
<nnwiht wafuwnwliplibp Uwjuopng rfupbgyusd
4 puwhnnmd hniuh mnndwts hwdwp tpu.1.0d3 2.0, P 16,000 1638 900 26 222,400

pwndnd w/h b nbnuih, 1gwnywn 1.0, hbn. Ypuwr
9g-V
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T -



<nnujht watuwnwbplibp bwiuopng thlupbgywd
puwhnnnud hnwh nupndwt hwdwp bpu.1.0d3 2.0,

3
. pupdnd w/h b nbnuinh. \gwlnyen 1.04d. hbn, pw . LY Ut e
20a-¥Il
£nnuijht wluwnwlplbip Uwiuopng Yilupbig s
puwhninud hntih nupndwt hwdwp Epu.1.0d3 2.0, .
6 pwpdnd w/h b nbnuwih. gulnywn 1.04d. hbn. Ypw . Sty L 5 894,100
206-VIll
<nnuihtt wahuwwnwipbp hndup mdwt hwdwp
tpu.0 43 2., pwpdnd w/h b wbnuih, (gulnyn 27,500 1293,300 35 565,750
1.04d hbn. Jpw 10e-1V
<nn. wziuwnwlpltp funnnyuwlp thinunpulubph
6 | thnpdwt hwdwp Epu.1.0 J3 2.0, pwpdnd w/h b Ul 106,000 1293,300 137 089,800
wbnuwi. gulnyw 1.04d hbtn. Jpw 10e-1V
<nnwihb wzjuwmwupubp bwjuopnp thiupbgywd
puwhnnnud ppnnnduih thnunpuwilih thnpdwt hwdwp .
7 kpu. 1.043 9. v, pwpdnd w/h b wnbnuihnfund d 0,000 LR o 0.000
gwinywn 1.04d hbn. Jpw 20a-VII
<nnuijhtn wuunnwtplitp bwjuopnp thiupbguywd
puwhnnnud funnadulh dhnunpwlyp inpdwl hwdwp .
8 kpu. 1.0d3 2. w. pwpdmd w/h b inbuhinfund d 9,000 L2 iy 17 682,300
lgulnywn 1.04d hn. Ypw 206-VII
Znnwjht wafuwwnwbpubp bwiuopng hlupbgywd
puwhnnnud funpndwlh tinunpubh tnpdwt hudwp .
9 bgu. 1.003 9. . pupdnud w/h L wbnwinunus d 23,000 1638,900 37 694,700
gwynywn 1.04d hbn. dpw 8a-V
£nn. wziuwrnwugubp fungnyulh thnunpulubph
10 | thnpdwt hudwp bpu.1.0 43 Ynnph dpw Ynunwulybng gl 70,000 645,300 45171,000
hbumwnwpd |hgph hwdwp 10e-1V
£nn. waluwwnwupubp Bwifuopnp thjupbgws
powhnnoud funqrdwlh  thounpwlubpp thnpudwb &
L hwdwp bpu.1.0 &2 Ynnph Ypw Yrunwlibind hbwnwnunps u 23,000 837,900 19.271,700
Ihgph hwdwp 9a-V
Bwiwwwphw]h hwtnyehg 10e-IV Jwpgh pwhanh
12 | dpwlyned Lpu. 2.543 .. pwpdnud w/p b i 0,000 947,700 0,000
inbuihnfumd  hnwnwnd thgph hudwp 2,040
13 | Uwqulynwbught bwfuww. h=10ud 18 2,250 6410,700 14 424,075
13 | huwjp hpdp h=30ud 18 53,740 5255,100 282 409,074
Fjuwdwuh Yuwnngnd dhwany pbinnbhg  B20 F100 0,000 0,000
14 | hhdpbp 15 8,390 115786,800 971 451,252
hpwlubp g 13,850 115786,800 1 603 647,180
15 | Npduwyuwuwht wdpwuubp @16 A500c (=235ud \q 44,520 790,200 35179,704
Ubnwnuljwt dwpin=152004d junnnfwyh
16 bnu a5 =537 0 wunh hisuin IS add 44,000 870459,300 38 300 209,200
18 | swuabinh U hbtwluyhl winwsdubph dhuwany; phunt @ 3,490 81347,400 283 902,426
B20. F 200
Lujwdpwihtr gpwdblinwiegnd 2 gbpn viwp phuinnuing 0,000 0,000
17 | funnniwl qéd 40,000 8738,100 349 524,000
phinnt ¢ 74,240 1255,500 93 208,320
Lhunwinwpd thap 0,000 0,000
18 wjpninngbipny 10elv 15 0,000 807,300 0,000
wipninngbpny 9a-v o 40,000 807,300 32 292,000
piabnph watuwwnwupm 10elY 2 0,000 1793,700 0,000




piébnph watuwinwupnt] Sp-V

d3

3,000

1793,700

5 381,100

19

Lwnuwjhb [hgp

g3

3,500

6138,000

21 483,000

Cunudbip

0,000

42 696 567,081

Cwjwpnih 6/p fungndwlubph d=1.0d nbnwnpnad

0,000

9a-V Jwngh puwhnnh hiupbigrud
wwjpwugguihl thgpbpny h=0.5d

d2

0,000

4 371,300

0,000

9a-V Lwngp puwhnnh thhepbignud
hpapmdnipéng

60,000

4 371,300

262 278,000

20a-VIl Ywpgh puwhnnh thfupbgnud
wuypwligpw)hb thgplipmy h=0.5u

e

0,000

5 616,000

0,000

20a-Vll Yuwpgh puwhnnh thjupbgnud
hhnpndripéng

u’3

129,500

5 616,000

727 272,000

206-VIll Yungh puwhnnh Ghjupbignud
wwjprwugpwihl thgpbpny h=0.5d

g2

0,000

9 203,400

0,000

206-VIIl Ywpgh puwhnnh thiuptgnud
hpapndrpéng

il

25,000

9 203,400

230 085,000

£nnwjhu watuwnwbupbbn 10e 1V jupgh phwhnnnul
hnitp nigndwt hwdwn £pu..0 U3 2.un. pwpdmd w/h b
wnbnwth. jgwynywn 1.04d hbn. Ypw

u’3

71,000

1302,300

92 463,300

<nnuyht wfuwnwlptitin bwiuopnp hiuptigywd 9a-V
Lwpgh puwhanmd  hndsh nupndwt hwdwp bpu.1.0d3
2.0, pwpdnud w/h L b, iguwlnyn 1.04d, htn.
Jnpw

d3

41,000

1 650,600

67 674,600

<nnuight wauwinwuplibp Uwiuopnp thiupbgyws 20a-
Vil wpgh puwhnnnd hnuh mgndwl hwdwp
Lpu.1.003 2an. pupdnyd w/h b wbnuith, |gulnywn
1.0ld. hbn. Ypw

U3

25,000

1978,200

49 455,000

Znnw)ht wyfuwnwiiplip Uwiuopnp thiupbgws 206-
VIl wpgh puwhannud bbb aupndawt hudwp
kpu.1.003 o.0n. pwpsnd w/h b whnuih. igwlniyun
1.04d. hbn. Jpw

d.’l

3,000

1 978,200

5 934,600

<nn. watuwnwlptibn 10e IV Yuingp puwhnnmd
thnunpwliubph dinpdwt hwdwip bpu.1.0d3 2.0,
pwpdnwl w/h b inbiqwith. jgwlnyw 1.040 htn. Jpw

NEd

8,000

1302,300

10 418,400

Znmwiht wztuwnwipubp bwiuepng thiupbigwé 9a-V
Ywpah puwhnanud funnnywyh dnunpwlh gnpdwb
hwdwp kpu. 1.043 2. w. pwpanud w/h b wbnwdnfund
igwynyw 1.04d hbn. Jpw

I.IJ

59,000

1 650,600

97 385,400

<nnujht wphuwinwupubp bwjuopnp thfupbigyws 20a-
VIl Yuipgh puwhnnnuf funnndwlh thnunpwyh tinpdwt
hwdwp fpu. 1.003 2. . pupdnd w/h b nbnuidinfund
tguinywn 1.04d hbn. Jpw

2

104,500

1978,200

206 721,900

n

£nnwiht wzfuwinwupubp bwiuepnp thfuptigywd 206-
VIl Ywpgh puwhnnmd funqaduwyh dnunpulh thnpdwl
hwdwp Lpu. 1.043 2. w. pwpdnd w/h U wbnwdinfunu
igwijnywn 1.04d hbin. Jpw

g3

22,000

1978,200

43 520,400

<nn. wuwinwlptiip 10e 1V Ywpgh puwhnnnud

thnunpwlubph tinpdwt hwdwp Epu.1.0d3 Yonph Ypw
yrunwiibiny hnwnuwpd thagh hwdwp

e

126,000

649,800

81 874,800

13

<nn. whuwwnwpubn bwiuopnp hlupbigywd 9a-v
Lwpah ptwhnnnud funpniwlh thnunpulubph
thnpuwt hwdwp bpu.1.0d3 Yangh Ypur Ynenwltiing
hbwwnwpd |hgph hwdwp

lj!

20,000

843,300

16 866,000




Buwbwupuphugpl hwinyphg 10e-Y Ywpgh puwhnnh

14 | dpwlynud bpu. 2.543 .. ppsinud w/h b W 42,000 954,900 40 105,800
wbnwihnfumd hiwnwpa (hgph hwdwp 2.04d
9 | UWjwquinwwht bwhwwunpwunned - h=10 ud I 19,040 6 456,600 122 933,664
Quudweeh Yuwnmgmd dhwany pbnthg  B20 F100 0,000 0,000
10 | hpdphp e 14,240 116 587,800 1660 210,272
hpwlibp 1y 19,376 116 587,800 2 259 005,213
1 1‘;‘;‘"‘ b bbbt winudh dpudnyg piiant 8 20.F g 1,124 81 910,800 911 175,739
Cwdwpnyh Gfp N12 onuilh wbnwnpnd v=0.35 43
P=1.1wn sunhbpp 120x100x10ud
12 ;‘;g“‘gg;‘“"“‘zw:zs'? U3, AcS00=67.714qM13 | 70000 | 101 020,500 | 7 071435,000
Onwliubiph Lwpbph dowlnd {ubithwzt Ubpdéws
phuindny)
13 | Onwlubiph hhdgbipp dhwényg ptwnnt B 20.F 100 g 50,073 81 910,800 4101 519,488
14 | Unubdwjht gpudblmuwgnud ¢ 70,000 6 221,700 435 519,000
15 | Rudwdpw)hb gpwdblmuwgmd 2 obpun niwg phunuing 2 403,070 1264,500 509 682,015
Chunwnwpd (hgp . 0,000 0,000
w)pnynngbpny 10elV 3 142,000 812,700 115 403,400
16 | w)pnynngbpny 9a-V g 18,000 812,700 14 628,600
p)sbnph wauwinwupny 10elV 15 16,000 1 806,300 28 900,800
p)stnph wahuwwwupny 9a-V Iy 2,000 1 806,300 3 612,600
Chmpudklp 0,000 19 166 080,991
Swjupmlp b/p funpnjulubph d=1.250 nbnuwnpmd 0,000
9a-V Yungh plwhnnh thiupbgnud
1 Iy 0,000 4 365,000 0,000
ww)pwugpwiht thgphipny h=0.5d
p | 3V lungh pwhnnh puntignul ¥ 448,000 | 4365000 | 1955520,000
hhrpninipéing
20a-Vll Ywpgh puwhnnh Gdiupbignud
us 0,000 5 608,800 0,000
wwjpwugpuyht [hgpbpnd h=0.54
20a-Vll luungh plushnnh thfuntignid P 68,000 | 5608800 |  381398,400
hhnpndnuypény
206-VIll wnpgh puwhanh thfuptignud
2 F 0,000 9190,800 0,000
wwypwgpw)hl (hgpbpny h=0.54
y | 206Vl ungh puhnah thiunbgnud i 262,000 | 9190,800 | 2407 989,600
hhnpndnipény
Znnwyht wabuwnwbptbip hnth nundet busdwp
3 | tpu1.0 U3 2an. pwpdnud w/h b nbnwih. lgulnyn g 82,500 1300,500 107 291,250
1.04Jd hbn. Ypw 10elV
Zanuyhti wipluwanwbiptibp bwiuopng hluptigywd
puwhnnnud hnh aipndwb hwdwp Epu.1.0d3 2.0, .
4 pwpdmyd w/h b nbnuih. (gulnyn 1.04d. hbn. Jnw v 197,000 1647,900 324 636,300
9a-V
Lnnwjht watuwawisplibp Lwuopng thfupbgwd
puwhnqnd  hmup niquiwt burdwp bpu..0d3 2.0, .
5 | pupdmy wh U whnwe. igulnyen 1.04d. hin. Ypus i 77,000 e 152113,500
20a-VIl
Znnuihb wfuwinwupbp bwiuopnp thiupbgywd
puwhnnnud  hntsh nqniwt hwdwp Epu.1.0d3 2.0, 5
5 pwpdnud wi/h b nbnuah. gwlnyn 1.04d. bbn. Jpw d 64,000 1975,500 BhErh Y
206-Vill
g | S wohu-libp thaunpuwbbbinh thpdwt husduwip Epu. e 111,000 1300,500 144 355,500

1.043 2.0 pwpdnud w/h b wbnunhniu.gulnyn 1.04d




han. Jpw 10elV

Zanuihu wahiwwnwupbbp bwiuopng thfupbgywd
puwhnnmd fungndulh thnunpwbh thnpdwl hwdwnp

3
7| tpu. 1.003 7. 1n, pwpanud w/h b wbnuwipnfend u o s izt 355 946,400
jgwYynywn 1.04d hbn. Yypw 9p-V
<nanwijht wyuwinwlglibtp bwjuopnp thjupbgywé
puwhnnnud funnnywlh tdinunpulh hnpdwb hwdwp s
10 Epu. 1.003 9. un. puspdmud w/h b ibuodnfund ] 55,000 1975,500 108 652,500
[gwlynywn 1.04d htin. Jpw 20a-VIl
Lnnuyht watewnwupubp bwjuepnp thfupbgyws
puwhanmd funnnywih dhnunpuelip gnpdwt hwdwp 5
8 Epu. 1.003 9. 1n. puspdnud w/h L inbnuiinfuncs d 198,000 1975,500 391 149,000
lgwynywn 1.04d hbn. Jpwr 206-VIN
£nn. wotuwinwupubp funqnyubh thnunpulyubph
9 | dnpdwt hwdwp Epu.1.0 & Ynnph Ypw Ynunwlb)ny W 99,000 648,900 64 241,100
hbunwnwpa thgph hwdwp 10elV
£nn. wfuwnwlpbbp twiuopng thjupbgyws
puwhnnnud funqrdwih  qinunpuliuph dhinpdwt .
10 hudurp Epu.t.0 & Unnph dnw Ynnwlbmy hbnwnwnd d 483,000 842,400 406 879,200
(hggh hunfwp 9g-V
Bwuwwwnhwhl hwinyphg, bwhuwwybu Yruswlws
14 | 10e-1¥ Gwpgh puwhnnh pwpdnu w/h tpu. 2.503 2.0, L W 14,000 953,100 13 343,400
nbnunhnfund hbnwnwpd thggh buwdwp 2.04d
1| Ujwquiynybu)hly bwhuwwenpuunnd h=10 wd gl 67,310 6447,600 433 987,956
Hjuwdwuh Yunmgnu dhwany) ptnnnhg 820 F100 0,000 0,000
12 | hhdphbp g 28,780 116423,100 3350 656,818
hpwuubp ¥ 47,242 116423,100 5 500 060,050
f¢ubph Ywangnd dhwdny) pbwinhg B20. FI00 0,000 0,000
13 | hhipbp 1Y 25,300 64805,400 1639 576,620
hpuiiibp u? 27,840 67182,300 i 870 355,232
14 | Onwlubpp hhdgbpp dpwény| pbwinu B 20.F 100 g 51,080 81793,800 4178 027,304
15 ;l(.)uagh L hbbwlwihb wwnwdh dhwdny ptwnnu B 20.F P 25,802 81793,800 2 110 443,628
Cwywpnyh b/p N14 onulh wnbqunpnad V=0.52 43
P=1.3wn yunhbipp 149x100x12ud
16 gz"g'“‘;gg“'"‘C‘r’OO:”" [TEEB I T S ) R 51,000 142940,700 | 7289 975,700
OnwYubph Ywpbiph dyuynud (Guubhweb Ubpddwd
nhuwntdng}
Cwywpnyh b/p Ni5 onulh nbnumprd V=0.61 43
P=1.5wn ywihbpp 153x100x14ud
17 Euzljorl.qgggm.Ac‘jOOﬂ?.I ljg/d3. Ac500=103.34q/d3 huin 0,000 163501, 200 0,000
Onuwlyubiph Yuwpbiph dowlnyd (Guibhweb Uepdddwsd
phuinwing)
18 | b/p bwhuwpupdws funnnwlubph inbnwnpnud qéu 165,080 153220,950 25 293 714,426
19 | Ruwdpughl gpuiiblnmuwgnid 2 2bpun viwp phinnwing g 2 310,075 1262,700 2916 931,703
20 | Unubidwshlu gpudyniuwgnud Iy 56,960 6212,700 353 875,392
21 | Shdbuwnughu awnfu U150 1Y 3,390 0,000
22 | Ruipwjhl thgp ol 0,000 6171,300 0,000
23 Chwnwnwipd hge . 0,000 0,000
wjpnunngbpny 10elV U2 101,000 811,800 81 991,800




w)pninnabpny Sa-V

d!

435,000

811,800

353 133,000

p)abnph wouwnwupny 10elV

3

12,000

1803,600

21 643,200

pjabnph wptuwwnwtipny Sa-v

hE

48,000

1803,600

86 572,800

Clnunikp

0,000

62 420 893,818

0,000

Cwjwpnyh 6/p funpnultibph d=1.5d wnkqunpnid

0,000

9a-V Ywpgh puwhnnh thfupbignud
wuwjpwigpw)hl jhgpbpny h=0.54

d3

0,000

4 360,500

0,000

9a-V Yupgh puwhnnh thiupbgnul
hpnpndninény

d3

37.000

4 360,500

i61 338,500

20a-VIl Yungh piwhnnj difupbgmd
wuwjpwugpwiht |hgpbpny h=0.5d

L

0,000

5 601,600

0,000

20a-VIl wpgh puwhnnh thiupbgnd
hpnprdnpéng

2

59,000

5 601,600

330 494,400

206-VIll wpah puwhnanh ghlupbgnud
wwjpwlgpwjbl |hgptipmy h=0.5d

03

0,000

9 180,000

0,000

206-VIll Yungh puwhnnh hjunbgnud
hhrpadnipény

d}l

0,000

9180,000

0,000

<nnuht wphuwuwtipbp hadih nupndwi hwdwp
tpu.1.0 U3 2.un. pwpdnud w/h b nbnwd. |gulinywn
1.04d hbn. Jpw 10elV

I.P

65,000

1298,700

84 415,500

Znnuibl wtuwinwtpubp bwiuopnp thiuptiglws
pwhnnnud hntuj nindwt bwdwp Epue.1.0d3 2.0
pwpdnd w/h L wnbinwip. (@wynyn 1.04d. hba. dpw
9n-v

d!

42,000

1 646,100

69 136,200

<nnuyht watuwwnwbiptitin bwluopng thiupbgywd
puwhnnd hntih niqdwy hudwp bpu.1.0d3 2.w.
pwpdnd w/h b ik, igwlnywn 1.0Yd. hbn. Ypus
20aVvIl

e

6,000

1 973,700

11 842,200

nnuwjhtt wluwnwtipubp Uwjuopng whupbigywé
pbwhnnnd hnuh nudwl wdwp Epu.1.0d3 2.0,
pwpdnd w/h b nbnuwih. (gwlnyen 1.0Yd. hin. yYpw
206-VIl

II.'!

0,000

1973,700

0,000

<nn. walu-bbip thnunpwiubph ginpdwt bwdwp tpu.
1.043 2.0 pwpdnud w/h b inbruhinfu. jgwlnyn 1.04d
hbin. Jpus 10elV

d’:!

65,000

298,700

84 415,500

<nnwjht whuwinwipubp Uwhuopnp thupbgdwd
puwhnnntd funanyulyp thnunpwlh gapdwt hwdwp
tpu. 1.003 2. w1, pwpanu w/p L tinbinwihnfund
gwlnyun 1.04d hbn. Jpw 9a-¥

3

15,000

1 646,100

24 691,500

10

<nnwjht wohuwinwipbp bwiuepnp thtupbigywé
puwhnnnut funnnywlh ginunpulh thapdwl hwdwp
Epu. 1.063 7. w. pwpdnd w/h L inbnwithnfunud
(gwnyen 1.044 hbn. Jpw 20aVIl

d!

53,000

1 973,700

104 606,100

n

<nnuijht wpuwinwbipbp bwhuopnp thfupbgdwd
plwhnnnu funaniwlh thnunpwlp tinpdwt hwdwp
kpu. 1.043 7. . puwpdnul w/h b wnbnuihnfunud
[gwlnyn 1.04d hbn. ypw 206-VINl

u’3

0,000

1973,700

0,000

12

<nn. waiuwwnwptbp junnndwyh dinunpuiubiph
thnpdwt hwdwp Epu.1.0 $2 Ynngh Upw Ynanwlbm|
hbwwnuupd hgph hwdwn 10elv

lj?-

107,000

648,000

69 336,000

i3

£nn. wzhuwinwptbn bwiuopnp thfupbigyws
pluwhnnntd funndwlp ginunpruliiph dinpdwt
hwiwp Epu.1.0 2 Yanph Ypw Ynunwlbm] hbnwnwps
thgeh hwdwp 9a-V

63

17,000

841,500

14 305,500




14 | Wdwqulnwiwsht bwhiwwunnpumand =10 ud g 35,210 6 439,500 226 734,795
Spuwdwuh Guwnngnd Jhwany) plivinbhg B20 F100 0,000 0,000
15 | hhuptp B 11,930 116 289,000 1387 327,770
hpustitibip 15 23,298 116 289,000 2709 301,122
(albph Ywnngmd dhwény pbnntthg B20. FI00 0,000 0,000
16 | hpdpbp 19 10,340 64 729,800 669 306,132
hpwllbp B3 11,160 67 105,800 748 900,728
17 | Onwlubph hhdpbph dhwdng pbnnt B 20.F 100 15 28,960 81 700,200 2 366 037,792
18 ]Ll(.Ju[;ph L hetuluwybt winwdp dhwany( pbnnu B 20.F P 11,493 81 700,200 938 980,399
Zwlwpnuh b/p N16 onwyh wlnunpnd vV=0.72 43
P=1.8un swihbipp 178x100x14ud
19 ;’;g”;;’g;‘“'“soo:'e‘s 4g/d3. Ac500s76.74q/i3 hwn 19,000 220797,900 | 4195 160,100
Onuwlibph Ywpbph dawlnud (Yuwbitihwpb) bepdddws
phwmdny)
Cwywpndh bfp N17 oqulh nibnuwnpaul V=0.84 43
P=2.1tn ywthbpp 182x100x16ud
19 ;szg.ngxgglb.At:sOO:lS.?qudB. Ac500=119.04Yyq/u3 At 0,000 354 021,400 0,000
Onuwlubph Ywpbph dawlnmd (Yubbhuph) bbpdadwsd
phunnuind)
Lwdwpnyh B/p N71 onwilh wbnunpnd ¥=1.19 43
=3.0w swihbipp 194x100x22ud
2 ;szg.t.qFL;ggm.ACSOOQ4.20!4qu§3. Ac500=118.0yg/J3 hun 0,000 347 505,300 0.000
Onwlubph Yupbph dawlngd (uwiubhweby bbpddyws
phunnuing)
21 | b/p bwhiwpepyuwsd unqnwlubph inbinwnpd qéd 106,800 300 763,350 32121 525,780
22 | Ruwdpuyhl gpwdblimuwgnid 2 2bpn nwp phundnd | (R 1 080,868 1 260,900 1 362 866,461
23 | Unubiduyhle gpuadbilynmuwgnod o? 27,020 6 205,500 167 672,610
24 | Smdbbunwpli puinwiu LN50 gl 2,150 0,000
Lhinwnuind hep . 0,000 0,000
wipninngbnnyg 9a-V o 70,000 810,900 56 763,000
25 | wipmynnqbipny 10elY Iy 41,000 810,900 33 246,900
plsbnph woluwwnwupny 9z-V IR 2,000 1 801,800 3 603,600
platinph woluwunwtipny 10elv w? 11,000 1 801,800 19 819,800
26 | Lwpuhtt (hap iz 30,400 6 164,100 187 388,640
Snynyeyni nlubgnn gluwdwubph pwnmud hbnwhwp
27 | dupiny. puwpdnud w/h Woinbrunhnfumd lgwynyen 1.044 I 0,000 26 757,000 0,000
hbn. Jow
Snynuegnit niibignn b/p onuljubph wwwdnbinwdnd.
28 | pwpdmd w/h b wbnuihigwynyun 1.04d hbn, Jpw u? 0,000 38 464,200 0,000
(d=1.0d)
Cunudbup 0.000 48 149 217,029
Cujwpnyh b/p funpnyjulubiph d=2.00 mbnwnpod 0,000
20a-VIl Ywpgh puwhnnh thiupbgned
1 u? 0,000 5599,800 0,000
wwjpwugpwiht (hgpbpny h=0.5d
p+ | 202Vl luingh pluhnnb tpfungnud ® 489,000 | 5599800 | 2738302200
hpnpndnipény
206-VIl Ywpgh puwhnnh thfupbgnud
2 g? 0,000 9177,300 0,000
wuypuligpwht (hgpbpny h=0.54




3+ | 206-VUl huingh pluwhnnh thuntgnid & 182,000 | 9177,300 | 1670 268,600
hhnpndnipény
<nnuwihb wafuwinwuptbp hnh mondwl hwdwp
3 | bpul.0 43 2.n. pwpdnud w/h b nbnuap. guljnywn e 84,000 1298,700 109 090,800
1.04d hbn. Upw 10elV
<nnuhl: wzfuunnwplbn Uwhuopnp thjupbgywd
puwhnnnid hnwsh nupntwb hwdwp kpu.1.0d3 2.0, .
4 pwpdnud wh U nbnuith. (gwlnyen 1,046, htin, s u 184,000 1972,800 362 995,200
20avll
<nnwjht wuwnwbplibp bwieopnp hlupbgyws
puwhnnnud hnh nupndwt hwdwnp kpu.1.0d3 2.0, o
S puwpsnd wh L nbnunh. [guitipygun 1.0yd. hbn. Ypw v 86,000 1972,800 169 660,800
206V
<nn. wizhu-ubp thnunpwltibiph dinpudwl hudp tpu.
6 | 1.0u3 2. pupdnuf w/h Lt wbnuihnfu.gulinyn 1.04d gl 62,000 1298,700 80 519,400
hbn. Jpw 10elV
Lanwjht wtuwwnwtpbp bwhuopng thuptigywé
puwhannud funnniwlh thrunpulp thnpdwt  hundwp ]
7 kpu. 1.0U3 7. wn. puspadnid w/h b wbnwithnuns o 305,000 1 972,800 601 704,000
jgwynywn 1.04d hbn. Jpw 20aVil
Znnuwih wfvwinwuglbp bwuopnp thfupbkgywé
puwhnnmd funqnijwlh dinunpwlh thapdwt hwdwp .
8 bpu. 1.0U3 2. . puapdnud wih U wbnuithnfunud d 96,000 1972,800 189 388,800
[gwlynywn 1.04d hbn. Jpw 206VII
Znn. wotuwwnwiuplbn funnpdwlh ginunpiuljubph
9 | tinpdwt: hwdwp tpu.1.0 8 Ynnph Jpw Ynenwlibnyg e 28,000 648,000 18 144,000
htwnwnwna hgph bwdwp 10elV
Bulwwwnhwiht hwunyehg 10e-IV Yupgh puwhnnh
10 | dpwhnd tpu. 2.503 2.:n. pwpdngd wih L ¢ 144,000 952,200 137 116,800
wnbnwdginfundd hivwnuwpd thgph huiwp 2,044
11| UWjwauinyéw)ht bwhwwuinpuonnd - h=10 ud Iy 46,970 6 437,700 302 378,769
Sfuwdwuh Gwnngned dhwéany piionuhg  B20 F100 0,000 0,000 0,000
12 | hphdpbp 15 21,060 116 253,000 2 448 288,180
hpwiubp g2 40,596 116 253,000 4719 406,788
fHebph Ywnmgnui dhwdény peinnthg 820, F100 0,000 0,000 0,000
13 | hpdpbp u? 15,750 64 710,900 1 (019196,675
hpwuubp iy 28,830 67 084,200 1934 037,486
14 | Onwlubnh hhdpliph dpwdny; phwnnt B 20.F 100 i 159,760 81675,000 | 13 048 398,000
15 :]‘gph LT ICTE R O T T R st e 28,542 81 675,000 2 331 167,850
Zwywpnih bfp N72 onulih wwbnwnpowd V=1.09 43
P=2.7uwn ywihlipp 232x100x16ud
16 ;‘;é"‘”ggg‘“"‘ﬁoc’:”"s (ARSI LTS huwtn 96,000 426 324,600 | 40 927 161,600
Onwlubph Ywpbiph dowynud (Gubibithweby Ubnddyws
phwnudnt])
17 | Rudwdpwjhb gpwibymuwgnud 2 gbpwn wwp phunidng | (@ 945,357 1 260,900 1192 000,641
18 | Unubdwht gnwdbynwwgnid d? 165,800 5 203,700 1028 573,460
19 | Rwpwjhb hgp iy 48,580 6162,300 299 364,534
Chunwnwpd thgp . 0,000 0,000 0,000
20 | wipnynnqgbipny 10elV g 155,000 810,900 125 689,500
platinph wotuwwnwupny 10elV 15 17,000 1 800,900 30 615,300
Cunwdbup 0,000 75 483 469,383




&/p 6.0x3.0 pugywépny funnniwlh nknqunpnut 0,000

<nnuyhb wauwinwigbbp hntuh anndwt hwdwp

1 | bpw1.0 3 2.0, pwpénud w/p L wbnwih. (gulnyn w? 194,000 1295100 251 245,400
1.04d htin. Jpw 10elv
<. wafu-bbp thnunpuwlbbiph Giapdwl hwdwp tpu.

2 | 1.0d3 2.en puwpdnuf w/h b inGuithnfu.gwynyen 1.0y 1Y 1 414,000 1295,100 1831 271,400
htin. Jpw 10elV
<nn. wphuwnwlipbp bhnunpwlbbph thnpdwl hwdwp

3 | tpu.1.0d3 Ynnph Ypw Ynunwlbyng hivwnwpd jhgeh 2 308,000 646,200 199 029,600
hwdwn 10elV

4 | Ujwqulnubw)ht bwjuwy. h=10ud 3 9,120 6 421,500 58 564,080

5 | hufiwgpt hhdp h=10ud Wl 47,130 7 210,800 339 845,004

6 %";":g‘g“h hpuiitph hpiptinh dhwdny| plnnt B @ 224220 | 64543500 | 14 471 943,570
Chbwpwtibph hpwiibph hwdwpnth N3 pinlubiph

7 | ptannt hunn 90,000 356 181,300 32056 317,000
swith. — 285x165x100ud. V=3.01d3. P=7,2un:
<btwpwitbph ppwtitbph hbtwlbbph dhwang)
b/phinnts. 8

8 w.y. B8 A240C-9.23 Lyg/u3. P12 A500C-34.31yq/d3: U 18,030 971108,200 1847 963,046
B25. F200
B/p hwwpnyh qluwnhpltinh N8 pinyubn swih. -

9 302x75x60ud. Vo1.0943. P<2.7un: hwwn 30,000 217 749,600 6 532 488,000
Sfuwnhpltinh pinlubinp htbwpwltph pkbph 3

10| htwn dhunpuuil (Inbnhuwuguiwt) pinnt: B25. F200 | Y 1,830 el
N31 dwdlh uwpbph huwpndh bfpbunnte, swih. -

11 | 53x100x660 ud . V=3.0743. P=7.7 wy; hwn 45,000 1185 815,70 53 361 706,500

w.uy. Al= 33.1 lig/d3. All=152.34g/d3

2 | Owelih uibnh il Abwpubughl dutp Brlgbpa |- 36,610 | 6863400 |  251269,074
nnipbpnhnpg:
Ynpnnutbnh dhwanyg pbunt junqaduip Jnunpnud o

13 bigmid bapughl wwynh Upw: B20. F100 U 3,300 66 910,500 220 804,650
Bwyh vwbph pinbubph Gplsbpn unubdw)hb

14 | enuedtlynunugnu hangwdng’ uupniqwhg Jamnh ® 689,400 | 10 809,000 | 7 451724,600
wipwwdnpwd piinnting H=4ud:Udpwbwplu guig ’ ' !
(100x100 ) @4 Bp-Il. P=0.217 1n:
Lnyup' hbbwpwiibiph hpwbubph pinyutiph dhgl
Juwpbph unubidwhl gpwdblymuwgnut wwanwuithy

15 Jbunh 8x25¢50ud huwpndh pbinnbt uuihlilbnhg 2 264,880 20 844,900 5521 397,112
B20.F100:

t | puih L hbtuuybts wimudh dpudny gt B20 » 12,780 81463500 | 1041103,530

17 | Punnndwlif hwawlih Yunmgnud dhuwsnyg plinntihg ® 84,880 | 70365600 | 5972632128
B20. F100
?;(r)]_gnpq. pubph Ywnnignwd dhwanyg plinnbhg B20. 0,000 0,000 0,000

L2 hhdplp N 40,020 64 543,500 2583 030,870
hpwbubp P 31,680 66 910,500 2119 724,640
hunnnuwlh hrwbbiinh U hdgtnh. munann, pLsnR

19 | gpnitwnh hbun 2thynn Jwlbplnypubiph pudwdpwpl e 548,130 1 258,200 689 657,166
pnwdblnutegnul:

20 | Pwpwjhl (hgp Iy 59,450 6 146,100 365 385,645
Lhinwnupd hgp . 0,000 0,000 0,000

21 | w)pnuynngbipny Iy 277,000 808,200 223 871,400

plabnph watuwunwpny g3 31,000 1796,400 55 688,400




Chrpwdbip 0,000 137 593 066,410
| 0,000
Chuwupuin 1. Yd 6+725 - Ul 64782 0,000
9a-V ljwpgh pliwhnnh gifupbignid wuw)pwbgpuhl
1 hgpbpny h=1-24 W 0,000 1 485,900 0,000
1 | 9a-V fwpgh pwhnnh thfupbgnud hhnpndnipényg e 405,700 1 485,900 602 829,630
206-VIll Yupgh puwhnnh thfupbgnud wwjpwugpw)h
2 (hgmtipny h=1-20 wd 0,000 2 715,300 0,000
2' | 206-VIlt hungh puwhnnh thiuptignud hhnpnumpéng hg 1144,000 2 715,300 3106 303,200
Lwluopnp  thjuptigwéd  206-VIll  Ywpgh pluwhnnp
3 |pwpand w/h 1003 2. w. Epu. U wbnwipnjung | 1 086,800 1972,800 2 144 039,040
lguwilgnyen 1 d htin. Jpw
4 | Linyup dkngny P 57,200 15505,200 886 897,440
Lwluopnp thfupbgyws 9a-V Yungh puwhnnh
5 | dpuwiynudp Epu. 1.0 2.0 Ynnph Ynunwlinuing J? 770,700 841,500 648 544,050
hGuinwnwind |hgph hwdwp
6 | Lnyup dbnpny u? 40,600 9898,200 401 866,920
7 | Lwpwywwnpwuinulwb 2tpn g 45,000 6436,800 289 656,000
g | Souwwuunh hhiiph ppuiljuliignud dhudny| P 357,930 | 74455200 | 26 649749,736
tiplwpptinnuhg
g | Shuwiuunh hpuilh hpwlulwgnul dhudny ? 382,050 | 73001,700 | 27 890 299,485
bpYwepbunnthg
10 | <pdphph nL hpwUp wdpwu Ug 37 373,640 450,900 16 851 774,276
p | Cobwuywnh hbbwduuh apelwdh - (guiugaipnh) |- 52450 | 10293,300 | 539 883,585
ppwlwiwgnud
12 | Hpbtwdwght funndwutiph whnwnpnud d 74,720 2480,400 185 335,488
13 | <bbwyunnh ublyghwutiph Bhel dhownpp ® 91,000 433,800 39 475,800
14 | Rujwdpwiht gpuidbyniuwgnid 2 682,190 1260,900 860 173,371
Buwbiwwwphwyht hwinyghg. Lwfuwwbu Gnunwlws
15 | 9a-V Yupgh puwhnnh pwpanul w/h kpu. 2.503 2.0, U L 331,890 1505,700 499 726,773
wnbnuihnfunyd huwrwnpd thgph hwdwp 1.044
16 | Canwnuwpa |hgp prigngbpny 9a-V ? 1 086,040 810,900 880 669,836
17 | <Ginunund |hgp dbnpny  9a-V ul 57,160 800,900 102 939,444
Cunwidbbip 0,000 82 580 164,074
Lhbuwnyunn 2. U 6+930 - L 64993 0,000
9a-Y Ywngh puwhanh thfupbigmy ww)pwligpu)hl
1 thgptipny h=1-24 o 0,000 1 485,900 0,000
1" | 98-V Ywpgh puwhnnh thjuptignd hhnprdnipény hg 596,400 1 485,900 886 190,760
208-Viil Ywpgh puwhnnh thjupbgnid ww)pwligpwjhl
2 inggtipny h=1-2 o 0,000 2 715,300 0.000
2 | 206-VIll jupgh puwhnnh thjupbgnul hhnpndnipany Og 2 252,900 2 715,300 6 117 299,370
TLwhopnp  thiupligywd 206-VIIl Ywpgh plwhnnh
3 | pwpdnd w/h 1.0d3 2. . tpu. b nbnwdinfumd 2 2140,200 1972,800 4322 186,560
[gulnuwn 1 Yd hbin. Ypuw
4 | Lnyup dbanpny ? 112,640 15 505,200 1746 505,728
Luwiluopnp thfupbigiwéd 9a-V Ywnah puwhnih
5 | dauynuip tpu. 1.0 2.0 Ynnph Ynunwlnudng u? 1133,200 841,500 953 587,800
htwwnwpd thaph hwdwp
6 | Lnyup sknpny i 59,600 9 899,100 589 986,360
7 | Lwhwwwwnpwunwwl gbpn ? 64,500 6 436,800 415 173,600




g | CBlunquenh bhiph ipuwluwtiwgnid dhudng| @ 662,180 | 74457,000 | 49 303 936,260
bpywpepbuinthg
g | Sotuuyuunh hpuwlih hpuubwgnid dhuwany ® 707,030 | 73003,500 | 51615 664,605
bpYjwppbinlihg
10 | <pdpbpp nu hpwith wdpwt g 72 085,020 450,900 32503 135,518
p | Cobwuunh hbunbwdwuh gpblwdh - (gudupnipah) | 60,450 10 293,300 622 229,985
hpwlwbwgnid
12 | "pBuwdwihti fjunnndwlubph wnbnuwnpnud ] 114,540 2 480,400 284105,016
13 | <kUwupuwnh ubyghwiibph dholt dhgwnhp 150,000 433,800 65 070,000
14 | Ludwdpught spuwdblynwiugnud u? 1 040,550 1260,900 1312 029,495
Buwbwwwphwihb hwtinyehg. bwuwwbu Yneswlws
153 | 9a-V Ywpgh puwhnnh pwpédnad w/h Epu. 2.5d3 2.n. L ? 709,100 1 505,700 1067 691,870
wbnwihnfumd  hbwnwnwnd (hgph hwdwp 1.044
16 | <binwnwpd (hap pminnglipny 94-v W 1 806,860 810,900 1465182,774
17 | <bunwnwpd (hgp dbnpny  9a-V vy 95,100 1800,900 171 265,590
0,000 153 341 241,291
Ckbuyuwwn 3.
Ld7+425 - Wi7+454.5 0,000
9a-V Ywpgh puwhnnh tifupbigm wwjpwlgpuwhl 3
1 hapbipn h 1.0-2.01 g 0,000 1483,200 0,000
1" | 9a-Y Yupgh pbwhnnh thfupbgnd hhnpndapéng g 0,000 0,000
Lwiuopnp thiupbigpwd 94 -V Ywnpgh plwhnnh
dawlnuip b pwpdnud bpu. 1.0 g.n.w/h wbingwlnywn g3 0,000 1642,500 0,000
dhlasl 1.0
Unyup &bnpny g3 0,000 11523,600 0,000
Luwfuopnp tiupbigywd 9a-V uipgh puwhnnh
dawlymwdp bpu. 1.043 2.0 Ynngh Ynwnwlndng s 0,000 839,700 0,000
hbwnwnwpd |hgph hwdwp
206 -VIIl Yuwpgh puwhnnh thfupbgnu wwjpwbgpw)ht .
lhgebinnd h 1.0-2.01 ) 0,000 2710,800 0,000
206 -VIll wpgh pbwhnnh thfupbgnud hhnpndnpény 15 0,000 0,000
Trwifuopnp thjupbgnwé 206 -VIIl Qupgh puwhnnh
dzwlnudp b pupdnad fpu. 1.0 2.n.w/h wbn.gwlnipn ug? 0,000 1969,200 0,000
Jhtsle 1.04d
Lnyup  &binpny g2 0,000 15477,300 0,000
Lhbwwwinh hhdgh hpwiwbwgnyd  Shwdnyy P 0,000 65168.100 0,000
pbuinlihg
Chiwjunnp hpwth hpwywtwgnd  dhwadny| B 0,000 67460,400 0,000
pbwinuhg
Chuunyunh  hbnbwdwup  gpbwdh  (gudwpntpnh) qdd 0,000 10275,300 0,000
hpwlwliwgnu
pblwdwihi funnndwlubph tnbnunpaud gdd 0,000 2475,900 0,000
Lujwdpught spwdblnewgnd g 0,000 1258,200 0,000
Lbuwwyuinh utlyghwbibph dhele dhewnhp 0 0,000 432,900 0,000
Lbwnwnwnd |hgp paynngbpny 9g -V gd 0,000 809,100 0,000
Lnyup &bnpny 94 -V g2 0,000 1797,300 0,000
Cunudbup 0,000
Cunhwlnipp 7 875 407 215,30
Cunuwibtp' stwfuuwinbulws dwhuukp ** 229 550 790,621
Udpnnen 8 104 958 006

* Updlipp bbpunnud £ pmpnp dwfuubpp, bbpuwinpug «Swhnyaps ' 1% L UUS-U 20%




** Qbwfuwnpbufud wzhnoegubipbbpp U dwhubph hudwp wuwgphpuspnip bnndhg uwpuwqnmpl ypipulunpdng wpwhninpught dhonglibpp
bupwiw bl déwpdwt' opehtpu Ynndhg  hputusinpng thwuipwpnpbpp fGunpwpnaquilpet wlpplbiph,  hbnpbudjught b pbfubplutut

huynnmpyml hpuitpustnuging whabph bopwilpugnipmmbtibph waljumaul) bbiplppuwiginn nbuwypnud:

Dwlwjupbpp-twhiwhwhy
<& Uyniuhph dwpgh $-8-93.Lébu-Swplh wbnulwl bywinuljnipjut unjnin@wbwwwphp {d 0+000-
L 19+889 hwunyjwéh Yhpwlwnnigdut wiluunnwiptibph

Ld 0+000-yd 9+500 hwnfws

(Rwpwijwy UM pulbpnipjwl Ynndhg hpwlwiwgybihp wiuwwnwbptibp)

wfh L inbnwihnfunud gwynyun Shgle 14

< npund
Qunh. Uhwynph Cunhwbnp
NN Wlvwnwupbbph wbywbinidp Shwy. Tuwdwn wpdtpp wpdtipp
1 2 3 4 5 6
/Quined Y 0+000 + Lpf 9+500/
I. Snnuiyhl wafuwpuhplip

1 20a-Vil Ywpgh puwhnnh thiupbgmu wuhpwligpuwht & 0,000 1996.200 0,000
thgpbipny h=1-24

1"} 20a-VIl wpgh plwhnnh thfuptignus hhapndnpéing W 120126 1996,2 239 795 521,200

2 206-Vill Yuwpgh puwhnnh thjupbgnud wwpwlgpw)ht P 0,000 2763.0 0,000
(hggtpny h=1-20

2 | 206-VIll ywpgh puwhnnh thiupbgnud hhnpndninéng ? 354260,0 2763,0 978 820 380,000

3 98-V Yungh puwhnnh tfupbgnul wwirwligpuw)ht el 0,000 1512,9 0,000
thgpbpny h=1-24

3' [ 9a-V Ywpgh piwhnnh thjupbgmd hhnpndnipény vl 84542,000 1512,9 127 903 591,800
Luwtuopnp thfupbgywé 20a-VIl wpgh ptwhnnh dawlnud

4 ! Epu. 2.503 .. pwpdnul w/h wbnuihnfumd igulnyan o 24024,8 1575,900 37 860 682,320
dhtisly 1 Ly
Lujuopng thfupligqwd 20a-Vil Ywpgh puwbnnh dowlmd .

5 punnqipny. wbnuthnfunid 304 Gangh Ynunwlid d 96101,2 575,100 55 267 800,120
Lwifuopnp thiupkgywéd 206-Vill Yupgh puwhnnh dowlynud

6 | bpu. 2.503 2.n. pwpdnud w/h nbnwithnjunud (gulnyw U2 70852 1575,900 13 655 666,800
vps 1 4d
Luwtuopnp thfupbgywéd 20a-VIil Ywpgh ptiwhnnh dawinud 3

7 preyingbipni. nbnuthnfunus 30 Ynngh Ynunalaed ] 283408 574,200 162 732 873,600
Luwfuopnp thfupbigqwé 9a-V Lwngh plwhnnh dawlnud

8 | bRu. 2.5d3 2.n. pwpdnud w/h wbnuihnfund (gulnin I 27300 1305,900 35 651 070,000
Uplisle 1 Yo
Luwtuopnp thiupbgywd 98-V Yungh pwhnnh dawlynud .

9 prynnqbpny. wbnuithnfunus 308 Unngh Ynunwlnu d 102552,67 574,200 58 885 743,114
98-V Yuwpgh plwhnnh dowlinu! prynnglipny .

10 inbnguthnfunid 500 |hgg (hwipnud. opnul. funwgnic) d 11779,165 1327,500 15 636 841,538
98-V Ywpgh pwhnnh dwhnud kpu. 1,043 2.0, pupdnd

1 wip b wbnwithnfunid fhgp 14d {hwprnul. oprd. Ve 19890 1650,600 32 830 434,000
juunwgnud)
9a-V Jungh puwhnnp dawlnud tpu. 2.5 U3 2. w. pwpdnu

12 | w/h whnuithafunad dhugh 144, Yawnwlnud hbiwwwinbph g2 713,96 967,500 690 756,300
hbunwnuipa |hgph hwdwp

13 10e-1V Yupgh puwhnnh dulyned tpu. 2.5 2.un. pupdnud 5 6623,3698 1067,400 7 069 784,925




10e-1V Yuipgh puwhnnh dowlnu painngbpny. .
14 nbinguthnfuncd 306 Ynngh Ynunwlnd u 26349,479 298,800 7 873 224,325
10elV Ywpgh ptwhnnh dawlnd prynngbpny .
15 nbnwipnfund 500 (g (hwp@md. gpnud. futwgnis) u 2524118 1166,400 29 441 312,352
10e-IV Jupgh pluuhnnh dawlnud bpu. 2.543 2.0, pwpdmd
16 | wih b wnbnuthnfund (hgp 14d (hwpenud. opmud., u? 23347 1699,200 39 671 222,400
luunmwgnud}
10e-IV hwpgh pbwhnnh dawlnud bpu. 2.503 9.0, pupdned
17 | w/h b wnbnwihnfunu thgp 2U4d {hwppmd. gpnid. g3 8467 1812,600 15 347 284,200
futnwegnud)
10e-1V wpgh puwhnnh dawlnud kpu. 2.5d3 2.0, pwpdnud
18 | w/h k wibrquithnfunul thgp 4Yd (hwpenwd, gpnud, 0 16029 2037,600 32 660 690,400
funwgnud)
10e-1V Gwpgh pwhnnh dawlnw tpu. 2.5 43 3. i,
19 | pwpdn w/h nbnudhnfunid dhugle 14U, Ynunwlnud I 80,65781964 | 1007,100 81 230,490
junnniulubph hinnwnwpd |hgph hwadwp
10e-1V Jwpgh ptwhnnh dawlnud tpu. 2.5 43 2. .
20 | pwpdnud wih inbnuidinfunud dhtigh 1Y, Ynunwlynud e 61,41833972 | 1007,100 61 854,410
hguntintiph thgph hwiwip
10e-¥ Ywngh puwhnnh dawlnwd tpu. 2.5 43 2. un,
21 | pwpdnud w/h wbnuihnfumd dhtigh 14, Ynunwlymd 1Y 5700,35 1007,100 5740 822,485
Ynnwlubiph thgph hwdwn
10e-1V Yuipgh ptiwhnnh dawlnu kpu. 2.5 63 2. w1,
22 | pupdnud w/h wbruthnfunad dhtsl 14, Ynownwdynud @ 5,179859977 | 1007,100 5 216,637
nptbwdh hbrwnwpd |hgoh hwdwp
UuwnhGwbbbph Ywnnignud 0,000
1 20a-VIl upgh puwhnnh hjupbignud ww)pwugpwih P 0,00 1996.200 0,000
ihgptipny h=1-2d
1" | 20a-VIl wpgh puwhnnh difupbgned hhgpadnegpéng 3 4648,00 1956,200 9 278 337,600
3 206-VIl Ywpngh puwhnnh thfupbignud uuypwgpw)ht P 0,00 2763,000 0,000
thgptipny h=1-24
2" | 206-VIll jwpgh pwhnnh thjupbgnud hpnpndnipéng u? 54,00 2763,000 149 202,000
3 9a-V Lupgh puwhnnh ihfupbgnud wupwligpuyht NE 0,00 1512,900 0,000
lhgebpny h=1-24
3" | 9a-V Ywpgh puwhnnh thjupbgnud hhrgpadnipéng P 2686,00 1512,900 4 063 649,400
Uunhwltbph Ywnngn Dwfuwwtiu thiuptgywd 20a-Vil
4 | Ywpgh puwhnnnud pnynngbipny (inbnwithnfunud dhugle g 4648,00 443,700 2 062 317,600
204)
Uuwnhéwblibph Yuwnngmd bwhueybu hfupbigdws 206-
5 | VIl jwpgh puwhnqnud poynngbipny (nbnwidinfumd Wl 54,00 443,700 23 959,800
dhlsh 204}
Uunpbwblibph Ywnngnud bwiuwwybu thfupbigdws 9a-V
6 | Yupgh phwhanmd prynngbpny (inbnuihnfunud dhgl Y 5372,00 443,700 2 383 556,400
204)
UuinhSwlibpp Ywnnignui 10e-1V Lupgh plwhnnoud 8
7 pnynngtipny (nbnuwinfuned dhtle 200) d 5031,00 211,500 1064 056,500
Chnundtlp 1. 2014 709 082,715
. Ynnuyplt wanibibp
1 20a-VIl Ywpgh puwhnnh Gifupbgmd ywjpwugpuyht 5 0.00 5698,800 0,000
(hgpbipny h<0.54.
1175,00 5698,800 6 696 090,000
2 206-V1ll Yupgh puwhnnh thfupbignud wwjpwligptuht & 0,00 9338,400 0,000
(hgpbpni h<0.54,
4044,00 9338,400 37 764 489,600




98-V Yupgh puwbnnh thfupbignd wupwbgpuht
thgplipny h<0.54.

2

0,00

4435,200

0,000

249,00

4435,200

1104 364,800

4nnujhb wnniubiph hpwlwtwgnad twfuwbu
tlunbigywd 20a-VIl wngh puwhnnmd kpu 06543 2...
pupdnul nbnuwihnfunud gwlnywn 144 dhehts hbn

2

mz.a

2199,600

2 458 728,781

Ynnuwtht wanwbph ppwlwbwgnu wpuwwbu
thiuptigifwd 20a-VIl wpgh puwhnnnwd dbnpny. pwpdnud
kpu 0.65d3 2.1, wbnwthnfunud (guwlnyun 14yd dhgpts htin.

2

57,19

12 532,500

716 768,404

Unnuihlr wnndiph ppwljwtwgnud Ywuwybu
thfunbguwd 206-VINl Yuwpgh plwhnnmd tpu 0.6543 2.0,
paupdnui nbnwehnfunul guljnyen 14U dheht hln

2

3842,04

2199,600

8 450 959,411

Unnuijht wnniibph hpwlwbwgnus Uwuuwbu
thfupbgywd 206-Vill Yuwngh plwhnnni dbnpny. pwpénud
fpu 0.6503 p.un. inbinwihnfunud \guinyn 14d Sheht hin.

g

201,96

16 326,000

3297 137,896

“nnuihts wnndibph hpwlwiiwignul Ywhnwwbu
thfupbigyuwd 9a-V

Ywpgh puwhnnnud kpu 0.6503 ... pwpdnd
wbnuihnfuntd (gulinyin 14U Sheht hbn

d3

473,00

1843,200

871 825,888

Ynnuhly wnabbph ppwlwbwgnd bwhiwwbu
thtupbigdwd 98-V Ywpah plwhnnn dknpny. puwpdnud
fpu 0.6503 3.1 inbinuithnfunud ulynyun 1yd dhgh hin.

3

25,00

12175,200

304 430,942

“nnwiht wanbph hpwlwbwgn 10e-1V Lupgh
puwhnnmd kpu 0.6503 2.u.. pwpdnud wnbnwithnfunud
[guilinywn 14 dhghb hbin

3

784,849

1 427,400

1120 283,944

11

Yanu)hb wnnibiph hpwlwliugnid 10e-1v Ywngh
puwhnnmd dbnpntf. pwpanu tpu 0.6503 2.1n
tnbnunbnfunid iguinyw 14d dhehl htin.

I.IJ

4,151

6 731,100

276 989,227

Clnwdbup 1.

63 062 078,892

HL. Unninulfbbp

10e-IV Lwpgh Uwhuweybu dawlwd ptwhnnh pwpdnud
kpu. 2.5 U3 7. w. w/h. nbinwthnfunut Ynnbwlbph thap
14d (hwprenud. gpnul. funwgmd)  h=26ud

e

5700,35

1539,900

8777 968,965

Unnbwlbbiph wipwgnu wqulynyiughts bynyany
hdhe.=10ud,

W

21924

639,000

14 009 436,000

Cunudbbp I

22 787 404,965

IV. Gpplbith duwu

Cwuinplywynp bbpwhhdp. (wwqulynyh) h=10 wi

P

111 925,560

507,600

56 813 414,256

hubwywquihl hhdp (C-5) h=20ud
1004 huwdwp

fuh6 (40-70) 10% - 2.60°

fuht {20-40) 35% - 9.1

fuh6 (10-20} 20% - 5.24°

[uhé (5-10) 10% - 2.64°

fup6 (0-5) wywq 25% - 6.50°
gnip-1.1u3

75 847,500

2 083,500

158 028 266,250

Fungnpwhwinhly pwpap Sdwinuinlbinypywdp w/p h=6ul

0

72 840,600

4 149,900

302 281 205,940

fungnpuwhwinply w/p h=6ud

iy

72 840,600

5 688,900

414 382 889,340

"B" npwh dwpwhunnhl fuhn niwp w/p h=4ud

2

72 840,600

4 211,100

306 739 050,660

Cununitep Iv.

1238 244 826,446

Y. bounpbinlip b dnuppbp




1 20a-VIl Quingh puwhnnh thjupbgnul wwypwlgpwhl g 0,000 5 604,300 0,000
thapbpny h<0.54.
1" | 20a-VIl Ywpgh puwhnnh thiuptignud hhnpndnipény o 75,000 5 604,300 420 322,500
) 9n-V Ywpgh puwhnnh dhfupbignud wwjpwligpuiht g3 0,000 4 362,300 0,000
lhgpbipny h<0.54.
2" | 9a-V Ywngh puwhnnh tjupbgnud hhnpndngnéng 2 8,000 4 362,300 34 898,400
Lwfuopng wluptigywsd 20a-VIl Yuwpgh puwhanh dawlned
3 | tpu. 1.0u3 2.0, pwpdnud w/h nbnuihnfuntd (gulnyn 1 ? 75,000 1 974,600 148 095,000
Ld Jhg. <bin.
Luwfuepnp thtupbgyws 9a-V Ywpgh plwhnnh dowlmd
4 | bpu. 1.0d3 2.0n. pwpdnud w/h inbnuithnfunid (gulnyun 1 gl 16,000 1 647,000 26 352,000
4 Uhe. <bin.
10elV Ywpgh puwhnnh dawynud prynnqtnny .
S wnbnwihnfunid 50d hgp (hwppnid. gprud. futnwgm) ¢ 117,800 0,000
Swhwwwnhh hwbnyphg bwhwwbu Ynunwlws 10elV
Ywngh puwhnnh pwpdnd Epu. 2.543 2.1, .
5 wwehnfund (hgp 1 L dhg htin. (huppatd. g, 1} 92,000 1507,500 138 690,000
futnwignud)
Gpplblbh Jwu 0,000
hudwwquyht hhdp (€ -5) h=12
Juh6 (40-70)- 10% - 1.5618
juh6 (20-40)- 35% - 5,461
1 | fuh6 (10-20)- 20% - 312482 iy 467,780 1371,600 641 607,048
fuh6 (5-10}- 10% - 1.56.4
fuhé (0-5)- wywq 25% - 3.9
gntp-1.1d?
2 | b whwh dwbpwhunhl fupin w/p h = 4 ud g 433,580 4 223,700 1 831 311,846
Ubnwnwlwb funnaduliusp @ 53000 0,000
1| WhwquynwGubl gbpn h=10u {dbun. funn. wwly) 1Y 1,560 5 853,600 9 131,616
2 | Ut funnnyuiubph @ S30x540d wbknwnpnud qbd 24,000 129 420,000 3106 080,000
3 | Rpwdblyniwwgnud (2 26pn wwp phinnwing) qdJ 22,691 3 060,900 69 454,604
4 | Uhwaény) pitintib B-20 qifuwdwubp W 1,745 116 515,800 203 373,033
S| Suwdwubnh gpwdblnuwgnud (2 gbpin twp phinnudn) u? 6,545 1 261,800 8 259,055
Lunwdbp V. 6 637 575,101
V. Qpuqdfi fuwanignud (j0+000-4d2+200
202-VIl bupgh puwhnnh thiupbignud wuypwlgpunh
T | thapbpmy g 0,000 3 433,500 0,000
h=0.5-14
20a-VIl lwpgh puwhnnh gijuptignd hhnpndnognéng ul 248,000 3 433,500 85t 508,000
2 9a-V Yungh pwhnnh thtupbignud wwpwlgpuyht el 0,000 1 978,200 0,000
thgpkpny h=0.5-1d
9a-V Ywpgh puuwihnnh glupbignud hhnpmdnipény 1y 34,000 1978,200 67 258,800
fupwininnt pwlnnu bwhuwwbu hlupbgws 20a-Vi
3 | Ywpah puwhannd fpu.0.658° 7. in. puwpanud 0 236,000 2127,600 502 113,600
unbnuithnfund igwinyu 14 Jhehbin. (1x0.4x620)
4 | Lnyup dbnpny Iy 12,000 15 516,000 186 192,000
fupwdnunnt pwlnnud Lwluwwybu hiuptigdwd 9a-V Gupgh .
3 pbwhnnnu kpu.0.650° 2.un.4nnph Ynunwynud (1x0.4x170) d L 855,000 55 575,000
6 | Linyup dbnpny @ 3,000 9 996,300 29 988,900
fupwidninne pwunnu 10e-1V Yuwpgp puwhnnmd .
7 £pu.0.6508 p.un.ynnph Yrwnwlnut {1x0.4x1410) ! 536,000 679,500 Sl




8 | Lnyup &bnpny g 28,000 3 312,700 148 755,600
Uwqh bwiiwwywinpwunwljput 2ipn h=10ud

9 (2200x0.4x0.1) 1 88,000 6 291,000 553 608,000

10 | Lnp wnihtphibl unnndulh nbnwnpnul d=50x3dd qdu 2 200,000 1288,800 2 835 360,000

11 | Minhn Jhwgnud d=50JJ hunn 2,000 2 619,900 5 239,800

12 | Ujwagh wwpnuwithy sbpin h=20ud (2200x0.4x0.2) 02 172,000 6 291,000 1 082 052,000

13 | <bhwnwnuwnd |hgp poynngbpnyg g 586,000 818,100 479 406,600

14 | <ownwnwnd hgp dbinpny 1y 30,000 t 818,900 54 567,000
Luwwwbu Ynunwliws 98-V Yupgh puwhnnh pupangd .

15 £pu.0.65u3 2.n. b nbinuinhnfund (guwlnyw 14d dhe.hbin. 0 — UL LRk N0y

Chnudbup V1. 7 244 349,300
Vil. pBhwdh Gunnignof
Gpyujbwlwh npbbwdh Ywnmgnud L=1804
Lf 3+240-L4¥3+360. Yd3+540-483+560. [U3+920-
yd3+940. §i4+080-4J4+100 (L=1804)
206-VIll Yupgh puwhnnh thiupbgnud wwypwligpwh .

! lhgebpny h=0.5-1d (170x0.75x1) 'j 0,000 3 408,300 9,000

[ 206Vl luungh pwhnah ibfuplignud hhpndninginy # | 127500 | 3408300 | 434558250
{170x0.75x1)
9n-V Ywngh plwhnnh hlupbignd wwjrpwlugpuwhl:

2 thgrbpng h=0.5-1d (10x0.75x1) ¢ 0,000 162,000 2.000

2 | 94V yungh plwhnnh thtuptigmud hnpningnény P 3,750 1 962,000 7 357,500
{10x0.75x1)

Luwfuopnp tfupbgywé 98-V Gupgh puwhnnh dawlnud

3 | kpu. 0.6503 2.un. pupdnul w/h nbqwihnund Quiljnyn 1 g3 6,500 1769,400 11 501,100
L ipg. <bn.

4 | Lntup aknpny g 1,000 11 431,800 11 431,800
Luwfuopnp (hfupbgywsd 206-VIIl wpgh piwhnnh dpwlynud

S | kpu. 0.65d3 g.un. pwpdnud w/h ibnuihnfunud guwlnuyn 1 Iy 115,500 212,300 243 970,650
Yu dhe. <bin.

& | Lnitp 8knpm| g2 12,000 15 400,800 184 809,600

7 | fuh6 40-7004 ubwwinnywd pliwhnnh dbg h=7ud g 135,000 495,000 66 825,000

8 | Mphuwdh Yunmgnud gdud 180,000 9 816,300 1766 934,000

Lwjbwlwl npbuwdh Yunmgnud L=744 0.000
L4d3+280. Yu3+320. YU3+540. U3+920. yU4+080 '
206-VIH Ywngh puwhnnh thjupbgnd wwpwlgpwbl .

" | \haptipny h=0.5-14 (51x0.75x1.1) i 0000 | 3408300 0,000
206-Vill Ywpgh puwhnnh thtuptignid hhnpmdniény gt 42,000 3 408,300 143 148,600
(51x0.75x1.1)
9a-V Yungh puwhnnh thiupbgnid wusyewligpuiht 3

Z lhgptipny h=0.5-1d (23x0.75x1.1x0.5) 4 0.000 962,900 0,000
98-V Yupgh ptwhnnh hfuptgnud hhnpndnipény .

(23x0.75x1.1x0.5) d 9,500 1962,900 18 647,550
Luwtuopnp (fupbgywsd 9a-V Luwpgh pbwhnnh dawlnud

3 | kpu. 0.65d3 g.:n. pwpdnd w/h nbinwihnfunud uwlnin 1 u? 18,000 1769,400 31 849,200
LJ dhe. <bn.

4 | Lnwp sbnpny g 1,000 9 921,600 9 921,600
Lwtuopnp thfupbgquéd 206-VH) Ywngh puwihnnh dpwlmy

5 | kpu. 0.6503 2.un. pwpdnd w/h wbnwihnfunul |gwynyun 1 ol 38,000 2112,300 80 267,400
Yd dhy. <bn,

6 | Lnibip dGnpny W 4,000 15 400,800 61 603,200




7 | huhti 40-700d ubwuwndnpuwd pliwhnnh utig h=7ud g2 3,000 18 665,100 55 995,300
8 | Ypbuwdh Ywnnignud qdd 74,000 22 395,600 1657 274,400
Butiwwwphh hwinyphg Uwhuwbu Ynunwljwd 10elV 1.
9 | pwhnnh pwpdnud bpu. 2.543 7.0, nbnuthnfunu u? 28,000 845,100 23 662,800
htunwnwnd thgp 1 4d vhe htin.
10 | Lbwwinwpa thgp payngbipny 1P 26,000 812,700 21 130,200
1| <bunwnwpd |hgp atinpny U3 2,000 1 805,400 3 610,800
Clnuniblp Vil 4 834 498,950
Vil Bulnwupuphughly bauwbibip
1| Unp Swb. Vpwttibiph whnwnpnd. win pyau’
- bwuwqgnizwglinn hwn 356 23304,600 8 296 437,600
- wnuwbnyzjwy hwun 9 28793,700 259 143,300
- wnglnn hunn 14 28793,700 403 111,800
- phwnpnn hun 3 28793,700 86 381,100
7 | - wbnbluwunynipjut hiun 9 10012,500 90 112,500
- (nwgnighy tbnblunnynippwt hunn 9 13464,900 255 833,100
- wishunnulub bwhiugdlul P 1,78 54377.100 96 791,238
{hunnnuy phywnpwbph)
- wuhwuwlwy Ywhuwgddwy
(inbnblundmput) W2 0 54377,100 0,000
Ywlrquuwrly dbin. funn 57x3.504 hunn 356 22211,100 7 8907 151,600
Uhuwdny( phunnbib hhdp B-15 U3 37.38 48568,500 1 815 490,530
Chnwdbbp Vil 19 210 452,768
IX. bpwqdnd
Lawgdnuip pimhwlnip dwlbpbug (Phpdnuywuwn h=34u.
1 e 2859,95 9720,000 27 798 714,000
wwyuwibl gunhlbbph wybugdudp)
Chnwdblp 1X. 27 798 714,000
X. Upgbpunpulingbibp
Utwn. wpgbwihwlngtiiph wibnwnpnud 3 40,
T | hwbguwllbn 2blp N16. puyp 24 Ynon qdud 7 332,000 28 088,100 205 941 949,200
hwpywdunhwphsny
Ubin. wpgbuihwlngutinh wbnwnpnu 3 4ud,
2| Yubigbwhubp gytbp N16. puyin 4d Ynpn qod 616,000 22 952,700 14138 863,200
hwnywdwdwiphyny
3| Mnipdbmughl mannpn, uniubpp (C-1) inbnuwnpmd hwn 49,000 4 512,600 221 117,400
Lunuitp X. 220 301 929,800
Ubnwawlwt dupn=10200§ junqndwlibph nbquinpnud
98-V hungh pwhnnh thiupbgnud
1 Iy 0,000 4 347,900 0.000
wuyrwUgpuyhl thgplipny h=0.5
i | 2V yuipah puuhnnh thiuptignud @ 102,000 | 4347,900 443 485,800
hhnpndnipény
20a-VIl jwngh puwhnnh gfupbgnud
2 3 0,000 5 586,300 0,000
wwrwlgpuihl hgplipny h=0.54
z | 202-Vll huingh ptwhnnh thuptignus P 85500 | 5586,300 | 477 628,650
hhnpndninény
206-VIll Ywpgh puwhnnh thhupbgnu
3 o3 0,000 9154,800 0,000
wuwijpwugpwihl (hgptipny h=0.54
3 | 206-Vill buingh plwhnnh thtuptgnud @ 71,000 | 9154,800 | 649 990,800
hhnpndnipény




Cnnuiht wahuwnubipitn 10e v Ywpgh pliwhnnnu
hnith mgnuwl hwdwp kpu.1.0 d3 2.0 pupdnd wih b
whnuih. [gudinywn 1.04d hbn, Ypuw

|j3

35

1295,100

45 328,500

<nnwjhu wzfuwurnwptibp Uwfuopnp thiupbgywé 9a-v
Ywngh plwhnnnu hmih ninndwt hwdwn Lpu.1.0d3
2.0, pwpdnu w/h b inbnuid, (gwynywn 1.04d. hbn. Ypur

it

54

1641,600

88 646,400

Cnnuijht wahiwnuwbiplibp Uwluonnp thfupbge|wd 20a-vi)
Yungh plewhnanud i nunndwl hwdwn bpu.1.0d3
2. pwpdntd w/h b inbnwth, [gwynywn 1.04d. hbn. Y

g2

13,5

1967,400

26 559,900

Znnwjhts wtuwnnuitiplibp Uwluopng thfupbgywd 206-vill
Ywngh ptwhnnnu hnif nuynduw hwdwp kpu.1.0d3
2:n. pwpdnud w/h b b, [9wynyn 1.04d. hbm. Ypus

a2

n

1967,400

21 641,400

<nn. watuwnwiptibn 10e v Lwpgh piwhnnnw
thnunpwlbiph tinpiwl hwdwp tpu.1.0 3 2., pwpdnud
w/p W inbnuih. \gwlinyn 1048 hn, Ypw

g

105

1295,100

135 985,500

Cnnuwihb wptutnwbplbp Uifuopnp thfupbgyws 9a-v
Ywpgh puwhnnnig funanduityh thnunpulp thnpdwy
hwiwip tpu. 1.0d3 2- 1. pupdnud w/h b inbnuihnfunis
[9wlnyen 1.04d hbn. Ypw

d!

123

1641,600

201 916,800

10

<nnuihl waluunnwliptibp Uwiuonnp thlupbguyws 20a-VII
Yupghp puwhnnawd funnnyuwilyh thnunpuwlh thnpdwy
hudwp kpu. 1.043 5. in. Puwpdnul w/h U nbnuihnfunud
lgwlnywn 1.04d htin. Ypw

u?

72

1967,400

141 652,800

n

<nnuihb wouwimulipbibp Utwfuonnp thiupbgyws 206-viN
Yupgh puwhnnmy funnnyuwiyh thaunpwlih thnpdwb
huwidwp bpu. 1.063 2. 0. pwndnwd w/h L nbnwthnfund
[gulnywn .04 hbn. Ypw

e

60

1967,400

118 044,000

12

<nn. waluwwnwbiplbp 10e Iv Lwngh puwhnnnu
thnunpwiiubnh hnpuiuwl hwiwn tpu.1.0 d3 Unnph tmu
Ynunwlbiny hbvwnwns thaph hwiwp

lF

102

646,200

65 912,400

13

<nn. wahiwnwiplibp Uwituopnp thupbgywsd 95.- Ywpgh
RUwhnnnuw funnnrguljh thnunpuwilibiph thnpdwb hwiiwp
tpu.1.0 43 Ynnph Ynw Ynunwhtny hnwnwna thggh
hunfuip

2

27

838,800

22 647,600

14

Bwlwuwjwphwihl hwunyphg 10e-1v Ywngh plwhnnh
Wawhnud kpu. 2.503 p.1n. Pwndnu w/h b wibnuiinfunug
htwnwwpa thgph huiwp 2.0ud

03

44

949,500

41 778,000

15

UywquiljnuyBiuhts Ufuwy. h=10ud

8,84

6421,500

56 766,060

16

huGuiht hhdp h=30ud

125,401

5263,200

660 010,543

17

Huwdwuh Ywnnigmd dhwdny) pinnbhg  B20 F100

0,000

hhdpbn

22,26

115962,300

2581 320,798

hpuwtiibp

34,9

115962,300

4 047 084,270

18

Npiliiluigehl wdpwbtbp 16 AS00c I=134ud

Ug

67,84

791,100

53 668,224

19

Ubtnwinwljwtl dwpin= 1020 d unnnywlh inbnwnpnud
196=249.08 lig. wwwnh hwuwn, 1044

qéd

144,8

369042,300

53 437 325,040

20

Ywph b hbbwlwht wunwh dhwény plwnt B20 F100

14,78

81470,700

1204 136,946

21

Lutjwdpwiht ppudbiynwiwgnu 2 gbpun tnwp phuninwing

0,000

funnngul

gt

138,1

5872,500

810 992,250

pbwinl

206,79

1257,300

259 997,067

22

<hunwnwnd |hgp

0,000

w)pnynnqbipny 10elv

d’J

131

808,200

105 874,200

w)pnynngbipny 9a-V

63

24

808,200

19 396,800




pldbnph Lu2_|11u1mumgm[ 10elv

Y

15

1796,400

26 946,000

plbngh wouwwnwupny 9a-v

F

1796,400

5 389,200

Clnudbup

65 750 125,948

Ubinwnuljw dwupin=1220d4 junnndwlbph mbnugpnid

9a-V wpgh puwhnnh phlupbgnud
wwprwlgpuypt \hgpkpnd h=0.54

2

0,000

4 344,300

0,000

9a-V Jungh puwhnnh thiupbgnud
hhnpndnupém

dl

18,500

4 344,300

80 369,550

20a-Vil fuwpgh puwhanh thjupbigmd
wwypwlgpwhb thgplipny h=0.5d

dﬂ

0,000

5 581,800

0,000

20a-Yll Yupgh puwhnnh thlupbgnd
hhrpndnipény

u3

182,500

5581,800

i 018 678,500

206-VIll Ywpgh plwhnnh thiupbgnud
ww)pwlgpuyhl (hgplipny h=0.5d

63

0,000

9 146,700

0,000

206-VIll Yuwpgh puwhnnh thjupbgnd
hhapadnipény

g2

7,000

9 146,700

64 026,900

£nnwjht wptuwunwupbbn 10e IV hwpgh puwhnnnu
hnith nipndwt hwdwp £pu.).0 03 2.0, pupdnud w/h L
inbnwih. |gwynywn 1.04d hbr. Jpw

d3

25

1294,200

3 235,500

Lnnuight wahuwinwbiptibp bwiuopng thfuptigwd 9a-V
Gupngh pbwhnnnud hntuh ninadwt hwdwp bpu.1.04d3
2.0, pupdnd w/h W b, igwiynyn 1.04d. hbn. Jpw

it

1640,700

13 125,600

<nnuiyhu wauwwnwbpbbn bwhuonpnp hfupbgywd 20a-Vil
Ywnah puwhannud hndih aordwts hwdwp Bpu.1.043
2.0, pupdnud w/h b ibquith. \gwynywn 1.04d. hbn. Jpw

it

9,5

137,600

10 807,200

Znnwiht waluwwnwlptbp bwheopng thjupbigwd 206-VIH
Yupgh puwhnnd hnwh nipndwt hwiwp kpu.1.0d3
2.n. pwpdnd w/b b wnbnut. gwlngn 1.04d. hbn. Jpw

I.F

137,600

1137,600

£nn. wzjuunnwptin 10e IV Quipgh puwhnnnd
thnunpwlubpp thapdwl hwdwp fpu.1.0 U3 2., pupdnud
w/h bt inbnwth. (gwlnyw 1.04d han, Ypw

|.P

17

1294,200

22 001,400

£nnuwiht watuwnwlpttp bwhepnp thiuptigywd 9a-V
Yuwpgh puushnnnd funqndwlh dinuapwlh ginpdwb
hwdwp Epu. 1.0d03 2. wn. pupanud w/h b nbnwitnfunud
[qulynuywn 1.0l hbn. Ypw

U3

18

1640,700

29 532,600

10

Zanuyht wafuwnnwlplbp bwpuopnp thfupbigwé 20a-Vil
Ywpah puwhanmd fungnywyh thounpwlih hnpdwt
hwdwn Epu. 1.0d3 2. w1 pupdnwl w/h L inbnuihnfuncd
gwlynywn 1.04d hbn. Jpw

U3

173

1137,600

196 804,800

n

Lnnuight wzuwinwiptibp Uwhuopnp hupbigywa 206-Vii
Jupgh puwhnnnut funnndulyp inunpwlh dnpduwl
hwwp tpu. 1.0d3 2. w. pupdmd w/h b wenwihnfund
guwinytn 1.0Yd hbn, Jpw

d3

1137,600

6 825,600

12

<pn. wyhuwinwliputin 10e IV Ywpgh puwhnnnud

thnunpuwlubph thapdwl hwidwp bpu.1.0 J3 Unnph Ypw
ynwnwlybipny hbwnwnwpd thgph hunfwp

NE

48

645,300

30 974,400

13

<nn. wouwinwupttip bwiuopnp thjupbigywd 9a-V Ywpgh
puwhnnd funnnduwih thnunpwlubiph tinpdwl hwdwp
kpu.1.0 43 Ynnph dnw Ynunwlbngd hinwnwpa thgph
hwdwnp

ﬂa

il

838,800

9 226,800

BSwtwujwphwiht hwunyphg 10e-lV Yupgh puwhnnh
dawlnud kpu. 2.543 2., pwpdnud w/h U whnuiinfund
hbwwnwpd (hgph hwdwp 2,044

1]3

948,600

9 486,000




15 | UWwquhnydw)b twhiww. h=10ud W 1,47 64i7,000 9 432,990
16 | hubwhb hjip h=30ud Y 108,32 5259,600 569 719,872
Yfuwdwup funnmignud dhwany) pivinbhg  B20 F100 0,000
17 | hpuiphip Iy 14,3 115869,600 1656 935,280
hpwbitibp ke 39,78 115869,600 | 4 609 292,688
18 | Npubwlwuwywht wdpwibap $16 AS00c 1=144ud ba 36,32 790,200 28 700,064
19 u”ﬁ:‘:‘&ﬂ'ﬁ‘qg:’:"‘;;;ioiﬂqr"m’:nl‘;‘mum12 . odi 92,3 581018,400 | 53 627 998,320
20 | Ywph b hbbwlwiht wwwdh Jhwany pbinnu B20 F100 g 2,4 81405,900 196 188,219
Lulwpw)ht gpdblnwwgnud 2 sbipn wwp phtinudng 0,000
21 | funnnywy add 86,58 7018,200 607 635,756
pbwinb W 112,74 1256,400 141 646,536
22 | Bwpuwjhtu hgp e 13,8 6141,600 84 754,080
Chuinwnuwind fhgp 0,000
wipmnngbnny 10elV Iy 32 808,200 42 026,400
23 | wipnynngbipny 9a-v Y 10 808,200 8 082,000
p)abnph waluwinwlpny 10elV P 6 1795,500 10 773,000
pjdbnph watuwinwupny 9a-V e 1 1796,188 1 796,188
Cunwibbp 63 091 213,843
Ubunwnuwljwl dupn=142000 funqajwlbkph nibqunpnud
<nnwiht wfuwnwuptbn hntih sgiwe hwdwp tpe.1,0 pU. 10elv
1 | d3 2an. pwpsnid w/h b enbnwih, (gulnywn 1,04d hbn,
Ypw a? 41,0 1298,700 53 246,700
pU. 10elv
<nn. wtuwnwupubp funiaduwlyp inunpuubph
2 | thnpdwt hudwp tpu.1,0 03 2., pupdnd w/h b
b, igulinytn 1,04d htn, Ypw P 15,0 1298,700 149 350,500
pl. 10elv
<nn. watuwnnwibpbp funinwlh tinunpuljubph
’ hlhbnwpiflinzwuf;upnh?:l}fp@ e i 123,0 648,000 79 704,000
4 | Wwquynwwht bwpuww. h=10ud i 10,56 6417,000 67 763,520
5 | hutwhl hhig h=30ud a2 14,82 5259,600 77 947,272
Ypuwdwuh Ywnmgmd dhwdny phtnntthg  B20 F100 0,000
6 | hpdpbp @ 42 116423,100 490 141,251
hpwbiubp g 13,94 116423,100 1619911,013
7 | Npluwwuywhb wdpwutep 316 A500c¢ 1=235ud yg 14,84 790,200 1 726,568
8 m”‘;:‘ﬁ;‘ﬁ'ﬂ'qgi”‘gz‘gioﬁihl‘l:‘tﬁ:l‘lh‘“#zum‘]8 i qdu 334 | 300763,350 | 10 045 495,890
9 ;L;g;‘t}znh L hEbwlw)pb wnwdtbph Jhwany pbnnt B20, B 5,192 81700,200 424187,438
Ludwdpuyhtl gpwdbynwwgned 2 sbpun twp phundng 0,000
10 funnnduwly qdd 32,6 8738,100 284 862,060
phunnt g 14,33 1255,500 17 991,315
. Chinwnwnd |hgp 0,000
w) pnynngbipny pl. 10elV




3

11,0

810,900

90 009,900

p} dbnph woliwuwbipny

pu.

10elV

u’3

12,0

1801,800

21 621,600

12

Snjnuentt nibignn guwdwebph pawtmnud hlinwhwp
dnepbnd, pwpdmd w/h b wbquidnfund iguilngen 1,040
hbn. pw

1,2

26757,000

32108,400

13

Qnjneeinie mubignn b/p onulubph wuwwdnbunwdnd,
puwpdnud w/h U wbqwihigwynyun 1,04d hbn. Jpw
(d=1.0d)

u’!

4,73

38464,200

181 935,666

Cununibup

13 648 003,094

Utnwnuijwl dwpn=15200¢ unnnjuljtbph nnbnunpnud

9a-V Jwnah puwhnnh thiupbignd
wuypwugpwihl |hgptipny h=0.5d

lF

4341,600

0,000

9a-V Ywpgh puwhnnh thfupbgnud
hhnpadmp&ny

IP

62

4341,600

269 179,200

20a-VIt wngh puwhnnh thfupbgnud
wwjpwlgpwiht |hgptpny h=0.54

g3

5578,200

0,000

20a-VIl Ywpgh puwhnnh thfupbgnud
hpnpadnpéing

03

5578,200

0,000

206-Vill ywngh puwhnnh grjupbgmd
wwjpwlgpwhb jhgptpnyd h=0.54d

it

9140,400

0,000

206-VIll jwpgh puwhnnh tphjupbigoud
wwjpwlgpuyhb thgpbpny h=0.5d

ht

1293,300

0,000

206-VIli Yupgh puwhnnh thfupbgnud
hhnpndnupéing

L

9140,400

109 684,800

<nnuwjhtr wtuunwpubp bwiuopnp thjupbgywd
puwhannud hniuh nunadwu hwdwp kpu.1.0d3 7.tn.
pupinui w/h b inbnwdh. jgwynywn 1.0Yd. hbn. ypw 9a-V

I.F

1638,900

26 222,400

Lnnwjht wphuwnwlpttn Uwiuopnp thfupbgywsd
puwhnnnud hnh nupndwte hwdwp Epu.1.Gd3 2.n.
pwpdnd w/h b mbnuih. gwlnyn 1.04d. htn. pw 20a-
Vil

e

1964,700

0,000

Cnnuyht wuwnwipubp bwjuopng thfupbgywd
puwhnnntd  hntsp nupnuwb hwdwp $pur.1.0d3 2.0,
pwndnd wih W wbnuih. guwlynywn 1.044. hbn. dpw 206-
ll

lj!

1964,700

5 894,100

Cnnuyhtr wauuwnwlipubp hawh neqqdwb hwdwp bpue.1.0
U3 2.0, puwpdnd w/h b inbnuih. igwynyen 1.04d hbn,
tpw 10e-1V

1293,300

0,000

<nn. wyuwnwupubn funnnwyh thnunpwlubiph
thnpdwt  hundwp Epu.i.0 43 2.0, pwpdnd w/h b
wnbnusdh. |gulnyn 1.04d hbn. Jpw 10e-IV

2

1293,300

0,000

<nnw)ht wabuwinwiplip bwjuopnp thiupbigywa
puwhnnnid funnnjulp thauapwbh thnpdwt buwdwp tpu.
1.0d3 2. . pupdnud w/h b wbuithafund (gwynynn 1.0Yd
hbn. Jpw 20a-VII

2

1964,700

0.000

Lnnuhu wfuwnwbpubp bwiuopng thiupbigyws
puwhnnnud fungnwyhp thnunpuwlp ginpdwl hwdwp kpu.
1.043 2. wn. pwpdnd w/h L wbnuwipnfund igulnyen 1.044
hbn. pw 206-VIII

d’!

1964,700

17 682,300

Cnnpught wztuwnwiptibp bwijuopng thfupbgywé
puwhnnqmd funnnduiyp hnunpulh dinpdwt hwdwp tpu.
1.003 2. . pwpdnud w/h U inbnuihnfund (gwelynyn 1.044d
hbn. Jpw 9a-V

LIJ

23

1638,900

37 694,700




<nn. wizfuwwnwtipbp funnadwlh hnunpwiubph

10 | thapdwt hunfwp tpu.1.0 43 Yanph dpw Ynunwlbing IE 0 645,300 0,000
hinnwnwné |hgph hwdwp 10e-1v
<nn. whowwnwiipbibip Uwluopng thfupbgyws piwhnnnud
1| funqnjwlh thnunpuwubph dinpudwb hwdwp tpu.1.0 ¢ Iy 23 837,900 19 271,700
Ynnph Ypw Ynunwliny hbinwnwpd |hgph hwdwp 9a-V
Bwlwupuphwyhl hwtnyphg 10e-1V Yupgh puwhnnh
12 | dpwhnud kpu. 2.543 2.n. puipsnul w/h b nbnuinfund g 0 947,700 0,000
hbwnwnwpd |hgph hwdwp 2.044
13 | Udwaqwlnybught bwhiww. h=10ud Iy 0 6410,700 0,000
13 | hubwyht hhdp h=30ud gl 14,82 5255,100 77 880,582
Huwdwuh Lwnnignd Shwany| pbinnihg  B20 F100 0,000
14 | hhdgbp o 0,81 115786,800 93 787,308
ppwtibp i 3,13 115786,800 362 412,684
15 | Npduwlwwwht wdpwlbiip 816 A500c 1=235ud Yg 14,84 790,200 11 726,568
Ubtnwinuijwts dwmn=152004 funnndwlh
16 inbquinnnul.1g8u= 537 4g. wennh hwun, 1504 qdd 13,6 870459,300 11 838 246,480
18 ;l;udgcl)zph U hbbwlwht: winwdubph dhwany| phinnt 820, P 0 81347400 0,000
Buwdpuyht gpuntbilinwwgnud 2 gbpin nwp phinnwiny 0,000
17 | fenandul gbd 12,0 8738,100 104 857,200
phunnb 0 14,33 1255,500 17 991,315
Lhuinwnwpd thgp 0,000
w)pniinngqbpny 10elv W 0 807,300 0,000
18 | wjpnynngbipny 9a-v 18 20 807,300 16 146,000
pldtinph wpluwinwupny 10elv IR 0 793,700 0,000
pldbnph wyluwunwupn 93-v g 0 1793,700 0,000
19 | Pwpwihb |hgp U3 3,5 6138,000 21 483,000
Lunudbup 13 030 160,337
Cwpwpnifh &/p funpnjwYbph d=1.00 wbnwnpnud
98-V Yuingh puwhnnh ihjupbignui
0 0,000 4 371,300 0,000
1| wwjrwbgpwihb thgplipny h=0.54
98-V Ywngh puwhnnh thiuptignu 17,500 4 371,300 76 497,750
1" | hhnpndnipéng
20a-VIl Yupgh puwhnnh hiuptgnud
g 0,000 5 616,000 0,000
2 | wwipwlgpwhl jhgplipny h=0.54
202-Vll Luungh pliwshnah hfuptignud » 1,500 5 616,000 8 424,000
3 | hhnpndnipéng
206-VIli Ywipgh puwhnnp thfupbgnui
IE 0,000 9 203,400 0,000
wjwjpwugpught thgpbipnyg h=0.54
' 206-VIll Ywpgh puwhnnh gilupbgnud 2 0,000 9 203,400 0,000
2" | hhnpndnipéng
Znnwht wafuunnwbpubn 10e IV Gupgh puwhnnou
3 | hnth nipndwt hwdwp bpu.1.0 U3 2.0, pupdnud w/h 18 5,000 1 302,300 6 511,500
wbinuih. [gwlnyn 1.04d hbn. Ypw
<nnuyht wluwinwlpbbp Uwjuonnp thjupbgyws 9a-V
4 | Ywpgh pwbnnad hndsh nipnuwt hundwp Epu.1.043 Iy 2,000 1650,600 3 301,200
2:n. pwpdnul w/h U inbnwih. igulnywn 1.044. htin. Ypw
<nnwjhts wluwnwbiptbp bwiuopnp thiupbgyws 20a-ViI
6 | Ywpgh pwhnnnd hatih aupndwy hwwp tpu.1.003 Y 0,000 1 978,200 0,000
2. pwpdnul w/h W inbnuih, lgulnywn 1.04Y. hen. Ypw




<nnwihb woluwinwbiptibp bwiuopnp thiupbglws 206-VII)

7 | hwpah phwhnnmd bmup nupqdwt hwdwn bpu.1.0d3 e 0,000 1 978,200 0,000
2.1 pwpdnul w/h L inbnuigh. \gwlnyn 1.044d. btin. Ypw
<nn, watuwnwupbitip 10e 1Y Jupgp pbwhnnnd
5 | thnunpwyubph thnpdwt hwdwp pu.1.0d3 2.0, pupdmd g 4,000 1302,200 5 209,200
w/h L inbmwd. (gwlnyun 1.04d hbn, tpw
Znnw)ht wluwinwbpubp bwiuopnp thjupbglws 94-V
Lwpgh puwhnnnu junanfwlip hnuspwlh gnpdwb .
6 hwdwip Epu. 1.0d3 9. wn. pwpsnd w/h b vSquihnfumd d 33,000 LLes 2 ALY
lgwlnywn 1,044 hbn, Jpw
Znnujht wzluunwirgubn bwiuopnp thjupbgyws 20a-Vil
Lrwpap ptewhnnmed funanulp hinunpwyh thnpdwu .
7 hwdwp bpu. 1.0d3 2. wn. pwpand w/h b inbnunhnfunid g 5 Jerzaty 2 967,300
lgwhnywn 1.04d hbn. Jpuw
Znnw)ht wytuwinwbipubn bwiuopnp thjupbgywd 206-Vill
Ywpgh puwhnnnud junnniwlp hinunpwlb ginpdwt 3
1 hwdwp kgu. 1.003 2. wn. pwpdnd w/h b wbnuanfund u 0.000 1978,200 0,000
gwljnywn 1.04d hbn. Ypuw
<nn. wztuwnmwuplbtp 10e IV Juwpgh puwhannud
8 | hnunpwlbbph pnpdwt hwdwp bpu.1.0d3 Ynnph Jpw J? 33,000 649,800 21 443,400
Ynwnwitiny hbunwnwpd hgph hwdwp
<nn. wzluwnwupltp bwjuepng hiupbigws 9a-Y upgh
puwhnnnud funnnduiyh dinunpulubph thnpdwb hwdwp -
13 Epu.1.043 Ynnph Jpw Ynunwlybny hinwnupd (hgph d 0,000 843,300 0,000
huniwp
Bwlwwwphtuht hwunyphg 10e-1V Ltupgh puwhnnh
14 | dowlynd Lpu. 2.5d3 2.0, purpdnud w/h b wbrputhnjunud i 0,000 954,900 0,000
hbnwnuwpsd |hgph hwdwp 2.044d
9 | Wwquinwysw)hb bwfewwywnpuunng  h=10 ud u? 4,850 6 456,600 31 314,510
Sluwdwup Ywnngnud dhwdny pininthg  B20 F100 0,000
10 | hhdpbip g 3,560 116 587,800 415 052,568
hpwuubp o 4,526 116 587,800 527 676,383
1 | dwph b hebwluwjht wnwdh Jhwany) pbnnu B 20.F 100 $ 2,484 81 910,800 203 466,427
SwJwpndp bfp N12 enulh nbnunpnd ¥=0.35 43
P=1.11n sunhbipp 120x100x10ud wip.wwpni.Ac240=25.7
12 | Yg/d3. Ac500=67.714g/u3 B20. F200 hunn 19,000 101 020,500 1919 389,500
Onwlbbph Ywpbph dawynud (Yubbhwpb) bbpdddwd
phunuiny)
13 | OnwYybbph hhdpbph Jhwany) pinu B 20.F 100 Iy 13,133 81 810,800 1075 734,536
14 | Unubidw)pu gpuwndblmuwgnud i 18,000 6 221,700 118 212,300
15 | Rudwdpwht ppwdblynuwgnd 2 2bpwn twp phunwding u? 105,130 1264,500 132 936,885
Lhunwrgwpé |hgn . 0,000
w)jpningbipny 10elV Y 30,000 812,700 24 381,000
16 | w)pnynngbpny 9a-V i 0,000
plabnph watuwnwpny 10elV g 3,000 1 806,300 5 418,900
piabnph watueinwipny 98-V a2 0,000
Cunudbup 4 632 407,159
Swywpmjh B/p funnndeslbibipp d=1.250 nbnunpnuad
9a-V Jungh puwhnnh thtupbgnud
i U2 0,000 4 365,000 0,000
wwypwlgpwiht thgptipny h=0.54
p | 9a-V Uuingh ptwhnnh thuptgnud g 448,000 | 4365000 | 1955 520,000

hpnpndnipéng




20a-Vil wpgh puwhnnh thjupbgnud
wuypwbgpwht thgptipny h=0.5d

'j]

0,000

5 608,800

0,000

20a-VIl Ywpgh puuthnnh thiupbgnud
hpnpndnipéng

u’3

0,000

5 608,800

0,000

206-VIIl hupgh pbwhnnh thfupbgnud
wwjpwlgpwihl |hgpbpny h=0.54

3

0,000

9 180,800

0,000

206-Ylll wpgh puwhnnh thjupbigmud
hhnpndnipény

it

262,000

9190,800

2 407 989,600

<nnujht wajuwwnuwbplbp hnwh nupqdut hwdwp tpu.1.0
U3 2.0, pwpdnud w/h L wbquah, jgulngwn 1.04d hbn,
Upw 10ely

d!

1300,500

0,000

Cnnught wuwintwtiptibp bwiuonpnp thiupbguws
puwhnnnid hndsh ninAdwt hwdwp bpu.1.003 2.,
pupdnud w/h L nbnuah. igwynyin 1.04d. hbn. Jpw 9V

d3

197,000

1647,900

324 636,300

<nnw)hb wtuunnwplibn bwiuopnp Bhitupbgywd
puwhnnnwd hnibh ninndwl hwdwp kpu.1.0d3 2.10.
pwpdnud w/h L wbnuih. \gulnywn 1.04d. hbn. Jpw 20a-
Vil

d3

64,000

1975,500

126 432,000

<nnwjht wtuwtnwlpltin Uwiuopnp hiupbgyws
puwhnnaud hmbh ninndwb hwdwp Epu.1.0d3 2.1
pwpdnu w/h b nbnih. jgwlnyw 1.04d. hbr, Ypw 206-
Vil

3

64,000

1975,500

126 432,000

<nn. wtu-bbp thnunpwlubph thapdwt hudwp bpu.
1.0d3 2.0 pwpdnuf wih U whnwihnfu.gwynywn 1.044 hbn.
Ypw 10elV

3

0.000

1300,500

0,000

<nnwjht wpfuwwnwupbbin bwiuopnp thiupbgyws
puwhnnnu funnnywlh thnunpwlh thnpdwt hundwip kpu.
1.043 2. n. pwpamd w/h W wbnuithnfunud iguilnien 1.0Yd
hbn. pw 95-V

g2

216

1647,900

355 946,400

10

<nnuijhtr wuwinwbpbbn Uwiuopnp thiupbguws
puwhnand funanwlh tinunpuwlh dinpdwt hwdwp tpu.
1.0d3 2. . pwpdnud w/h U nbnwinfunud (guiynywn 1.0
hbn. Jnw 20a-VI)

d’3

1975,500

0,000

<nnujhls wfuwnwipubin bwfuopng hiupbgyws
puwhnnnd funnndwih thnunpuh thapdwt bwdwp tpu.
1.0d3 2. in, pwpdnuf w/h b nbnwihnfunud igwlnywn 1.04d
hbn. Jpw 206-vilI

dﬂ

198

1975,500

391 149,000

<nn. woluwnwliplbp funnaquyh thrunpuwlibph
thnpdwl  hwdwn Epu.1.0 P Yrnph Jpw Yrnwlbiny
htnwnuwpé (hgph hwdwp 10elv

l]':l

648,900

0,000

10

<nn. wifuwnwlpbbp Wwluopnp thiupbgdwd puwhnnnud
funndwlh  thnunpwltibph inpdwl bwdwp tpu.1.0 ¥2
Yrneh Ypw Lnunwlytnyg hbuwnwnpd |hgph hwdwn 94-V

U3

483,000

842,400

406 879,200

14

Bwiwwwnhwibt hwinyphg. Lutuwwbu Ynunwljwd 10e-
IV Ywpgh pwhnnh pwpdmd w/h tpu. 2.503 2.0, L
wbnuafund hbtwnwnd |hgph hwdwp 2,044

it

953,100

0,000

n

Ujwquijnuybuhl bwhiwwuwinpwunnyd h=10 ud

e

55,710

6447600

359 195,796

12

Suwdwuh Ywnmgnud Jhwanyy piinuhg  B20 F100

0,000

hhupbp

18,250

116423,100

2124 721,575

hpuwtrtibp

32,772

116423,100

3 815 417,833

13

felitiph Yunmgnd  Uhwdny) pliinntihg B20. F100

0,000

hhupbp

d’3

18,960

64803,400

1228 710,384

hpwubbp

21,890

67182,300

1 470 620,547

14

Onwlubph hpdpbph dhwany pbinnt B 20.F 100

NE

B81793,800

0,000




15 | Ywph W hbliwluht wenwih Jhwang| plnnb B 20.F 100 Iy 18,392 81793,800 1504 351,570
Cwywpnyh b/p N14 enuyh nbnwapnul V=0.52 43
P=1.3tn yuithtipp 149x100x12utf wdp.wwpnib.Ac500=17.1
16 | Yg/u3. Ac500=78.34q/u3 B20. F200 hwn 0 142940,700 0,000
Onuiyubinh Yuipbph dawlynul (Yuibbthwph) Ubpsdyws
phnnuiny)
Cwnjwpnih b/p N15 onuilih inbnwinpnul V=0.61 43
P=1.5tn sunhnp 153x100x14ud wip.wwpnib.Ac500=17.2
17 | 4g/u3. Ac500=103.34g/u3 B20. F200 hwwn 0 163501,200 0,000
Onwlubph Ywnbph dawlnu {Yuibihwpeb| UbNd&wsd
phwnidmy)
18 | b/p bwpuwiwpywd unqnywlubph nbnwnpnud qod 165,080 153220,950 25293 714,426
19 | Rudwipuyhl gpwdbynurwgnud 2 sbpin wnwp phunndng 2 1 659,535 1262,700 2095 494,845
20 [ Unubdwiht gpuwdblnuwgnud g 0 6212,700 0,000
21 | Shdbbwwpli swnwiu U150 ¢ 3,390 0,000
22 | Pwpuwjhb jhgp it 0 6171,300 0,000
Lbunwnuwnd |hgp . 0,000
w)pnuynngbpny 10elv g3 0 811,800 0,000
23 | wjpnynnqbipny 9g-v U3 435 811,800 353 133,000
plabinph wafuwuinwupny 10elV Y 0 1803,600 0,000
pjabnph wofuwwunwgny 9.V J 48,000 1803,600 86 572,800
Clnunibbp 44 426 917,275
Zunjwpnyh b/p funnnuwlybph d=1.5u wbknqugpod
9a-V Ywpgh phwhnnh thjupbgnid
1 3 0.0 4 360,500 0,000
wuypuhgpuyhl jhgplinny h=0.54
+ | 9a-V jupgh pbwhnnh Gijupkgnud
U | phopdadng o 37,0 4360,500 161 338,500
20a-VII hupgh puwhnn thjupbgnud
2 IS 0.0 5 601,600 0,000
wwypwlgpuyhl 1hgpkpny h=0.5u
+ | 20a-VII Ywpgh phuthnnp thjupkgnud
2| Lpqpmimindag P 12,0 5 601,600 67219,200
206-VII Yjwpgh phwhnnh thjupkgnuf
3 g 0.0 9 180,000 0,000
uuypwlgpuyhb |hgpbipmy] h=0.5u
- | 206-VIII Ywpgh piwhnnp thjupkgmud
3" | bpopn dmpdad i 0.0 9 180,000 0,000
2nnuyhb wajiunnwbpbibp hot nuqdwh hunfwp Epu.1.0
4 | d3 2an. pupdnud w/h b wknuid. jguihnyin 1.0 htn. Ypw W 55 1298,700 71 428,500
10elV
2nnuyht walunnwhipbbp twjuopnp tilupbgyus
3 | phwhngmud hnith nugnuwb hunfwp bpu.1.0u3 2.0, B 42 1 646,100 69 136,200
pupdnid w/h b nknui. jgwlnyn 1.04d. hte, Jpu 9a-V
Znnuihb wahwnwbpbitp bwjopnp hupbgus
6 | puwhnnnui hnip nupnuwh hwdwp bpu.1.0u3 24n. B 4 1973,700 7 894,800
pupdnuf w/h b wkqunh. [gulinyn 1.044. hkn. Jpw 20aVil
Zanuyhl wahwnwbipbikp tfeopnp thlupkglms
plwhngnud. hnibh nugwh hundwp bpu.1.0u3 2.n,
7 pupdnul w/h b b, (gwlnyw 1.04d. hin. Ypu 206- w 0 LE T e
VIII
2n7. wplu-bkp thnunpullikph thnpuwlb hwdwp tpu. 1,043
8 | 2t pupdnuf w/h b whnuithnjugulnun 1.048 hbn. Ypw g 65 1 298,700 84 415,500

10elV




Znnuyht wahiunwbiplitn bwjuopnp thiupbgyws
phuhnnnud junnnuyh thaunpwljh thnpuiwl hwdwp kpu.

? LOU3 2. . pupanud w/h b wknunhnjunud jguljnyn 1.04d . 15 Ll Lty
hkn. ypw 95-v
Znnuhb wphuunnwbipikp twhiopnp thjupbguwsd
Fuwhnnnud funnndwlh tinunpulih thapiwl hwihup tpu,
10 1043 . wi. puapdnid w/h b nbnuihnjunud (gurlnye 1.0l w 8 SRRz 15 789,600
hbn. Y 20aVII
Znnuyhb wylunnwbphbp bwuepnp thlupkgyus
puwhnnnud unnjuth hounpurih hopdwb hudwp kpu,
1 1.OU3 2. w. pupdmdf w/h b nknuithnjunwd (guyngn 1.04d e 0 L2ecly Ll
hbn. Yypw 206-VIII
2. wahunwbptbp unnodwlh thnunpulukph thopfot
12 | hunfwp kpu.1.0 W3 lYnnph Jpu Yninmlbiny hbnuguipd P 46 648,000 29 808,000
l]'LQPh hudwp 10elV
2nn. wpuunnwbiplikp bwluopnp thjupbgihwd phuthngmu
13 | pnnnjubh nunpulbph thaplwt hudwp kpu.1.04? iy 17 841,500 14 305,500
Yanph Ypw Ynunwlkiny hbnwnupd (hgph hwtwp 9g-v
14 | Ujwqulnyduwpb bwpwyunnpuuinnyd h=10 ud 'Y 26,92 6 435,500 173 351,340
Ypudwuh jwanignud vhwany) pkwinbhg  B20 F100 0,000
15 | hpupkp w? 7,720 116 289,000 897 751,080
hpulitkp B 16,962 116 289,600 1972 494,018
@Bubkph Jurmgmu Yhwany) phwnnihg B20. F100 0,000
16 | hhdpkp e 8,100 64 729,800 524 311,380
hpwllitp B B,580 67 105,800 575 767,764
17 | Onuljubph hhuplph dhwdnyy phwnnb B 20.F 100 g 0,000 81 700,200 0,000
18 | Ywph b hbnuljuyhtt wnwdh dpwany phunt B 20.F 100 1E 8,492 81 700,200 693 798,098
ZunJwpnh b/p N16 onuljh nbknunpnud V=0.72 J3 P=1.8n
ywnhlipp 178x100x14ud wp.ywipnil, Ac500=16.5 Yg/u3,
15 | Ac500=76.7g/u(3 B20. F200 hun 0 220797,900 0,000
Onuiijhitiph Yupbph dpwlnmu (Gubkhwpk) bkpsdgws
phuinudm])
2unjuwrpnfh &/p N17 onuiljh inbqunpmud V=0.84 I3 P=2.1un
sunthbpp 182x100x16ud wlp.ujwnpnil.Ac500=15.7gAl3.
19 | Ac500=119.044g/3 B20. F200 hwwn 0 254 021,400 0,000
Onuwlubph Yuwpkph dpwlnud (Gubbhwph) bkpss]ws
phunuim))
2wtwpnyh &/p N71 equiljh wbnunpnud v=1,19 U3 P<3,0wn
gunhlnpp 194x100x22u wuip.uwpnib, Ac500=14.204g/T3.
20 | Ac500=118.04g/u3 B20. F200 hunn 0 347 505,300 0,000
Onuljukph Yupbph dpwhnud (Yuibbgwpl) bhpssws
phwnuidn)
21 | &/p hwjiwpupws junnndulbkph nbgwnpod qdd 106,80 300 763,350 32 121 525,780
22 | Pujwdpuyhb ppudklniumgnid 2 gkpn nwp phunnudny u? 911,356 1 260,900 1149 128,780
23 | Unubduyht ppudbilniuwgnid u? 0 6 205,500 0,000
24 | 8hiblwnwhb swnuiu 17150 3 2,15 6,000
ZEwwrpupa |hgp 5 0 0,000
w)pnynnqtnpny 95-V B 15 810,900 12 163,500
25 | w)pmnngkpny 10elV B 41 810,900 33 245,900
platinph wzhunnwlipny 9a-v W 2 1 801,800 3 603,600
plaknph wahnunuwtipny 10elV B 5 1 801,800 9 009,000
26 | Pupuyhb thgp u? 30,4 6 164,100 187 388,640
27 Qnympjnih nibibgnn g juwiwuabph pwbgmud hbnwhwp g3 0 26 757,000 0,000

Unpédm}, pupdnud w/h b nbnuihnnu jgulngn 1040




hbn. {pw

Snjnupinit nubkgng E/p oqultkph wywdninwdnu,

28 | pupdnut wh b wbpuhygulmgn 100 hte, qpu @=100) | 0 e 0.000
Clpaftlip 38 899 567,181
Zujupnih b/p hunnnywljiikph d=2.00 wkqunpnut

202-VII Ywpgh phwhnnh thjupkgnud

1 v 0 5599,800 0,000
ujuwjpwhgpuht jhgpkpny h=0.54

. | 20a-VII Ywpgh phwhnnh shjupkgnul

1 hhnpnunipdny 5 0 55%99,800 0,000
206-VII Ywpgh ptwhnnh \hjupbgnu

2 3 0 9177.300 0,000
yuypwbgpuyht | hgppny h=0.50

. | 206-VII Yupgh plawhnnh hpapkgnud

2 hhnpnunupdng 3 0 9177.300 0,000
Znnuht wphuuunabiptikp hnbh nuyghoh hundwp tpu.1.0

3 | U3 2. pupdnud w/h b b, (gunywn 1.044 hkn. ifpw s 0 1.298,700 0,000
10elV
Znquyhb wahnunwbipbkp wjuopnp thjuptgdus

4 | puwhnnnud howbp nugnuiwt hundwp kpu.1.043 2.n, B 0 1 972,800 0,000
pupdnud w/h b b, igwlmyin 1,04, htn. Jpw 20aVII
Znnujht waunnwbplibp bwiopnp thjupbg|ws
piwhnnnud hnthp nuynuwl hwidwp kpu.1.043 2.0

> pupdnud w/h b nbnuih. |guilinywn 1.04d. hbn. Jpw e 0 1972800 —
206VII
2nn. wphu-tikp thnunpulitph hopdwb hwdwp kpu. 1.043

6 | 20 pupanuf w/h b wbknunhnfu.guljnya 1.04U hin. dpw g ] 1298,700 0,000
10elV
2nnuyhb wphnunwbiptikp wjuwonnp thjupkgws
pwhnnnud fangadwlh inunpuljh ginpudwb hunfup kpu.

7 1.0u3 2. w. puipdnud u/h U whnuiinfunud |gulnya 1,00y * 0 1972800 e
hEr. Jpw 20aVIl
Znnujht wahunnwbplbp bwpiopnp Yijupkgywa
Fuwbnpmud junnndubh thnunpulih hnpdwi hwdwp kpu.

8 1.0U3 3. w. puapdnuf w/h b nknudhnund (guilyngwn 1,044 v 0 1572800 0'000
hbn. Jpa 20611
2n1. walunuinwbplitp jungmijwlh hnunpwhbkph inphab

9 | bunfup bpu.1.0 B Ynnph ifpw Ynunwlking hbwwnupd g 0 648,000 0,000
1hgph hunfwp 10elV
Swhunyuphuyhb hwlinyphg 10e-1V Ywpgh phwhnnh

10 | dzmlynuf bpu. 2.5U3 g0, pupdnidf w/h b mbnuipnfunu i 0 952,200 0,000
htnmungupd hgph hwidwp 2.04d

11 | Udwqulnyduhb bwjowmgwnpuuand h=10 wid I 0 6 437,700 0,000
Quudwuh Junnignud dhwany) phinnkhg  B20 F100 0 0,000 0.000

12 | hhupkp B 0 116 253,000 0,000
hpuilibp P 0 116 253,000 0,000
Bhkph Ywnmgnud djrudny) phwnnihg B20. F100 0 0,000 0,000

13 | hhuipkp W 0 64 710,900 0,000
hpublibp W 0 67 084,200 0,000

14 | Onuljukph hpwpkph Jhwany) ptwnk B 20.F 100 3 0 B1 675,000 0,000

15 | Hwph b hbbwluyhl winundh dhwany) phinnt B 20.F 100 B 0 81 675,000 0,000
Zunjuwpmjh b/p N72 oqujh wkqunpntd V=1,09 U3 P=2.71n
swhbnp 232x100x16ud wp.wwpnib.Ac500=14.5 Yg/u3.

16 | Ac500=81.4q/u3 B20. F200 hunn 0 426 324,600 0,000
Onulbkph Ywpbph dawymud (Yubkhwpb bkpasgws
phuinudni)

17 | fuwdpuyhb gpundfbniuwmgnud 2 gbpun nuup phuinudm Y 0 1 260,900 0,000




18 | Unulbidught ppundblniumgnid u? 0 6 203,700 0,000
19 | Pwpuyhbi jhgp LE 0 6 162,300 0,000
ZEmunpd thgp ) 0 0,000 0,000
20 | w)pnynnqlipny 10eIV » 0 810,900 0,000
p)ainph wphuwwinubpny 10elV W 0 1 800,900 0,000
Chnunitup 0,000
E/p 6.0:3.0 pugwépny unnnywlh nkqunpnud
Znnuijhlt walswnwbiplkp hnuh nupyuwh hunhwp kpu.i.0
1 [ u3 2w pupdnud w/h b nbknunh. jquilnin 1.04d hkn. fpw P 1295,100 0,000
10eIV
2nn. wh-bkp hnunpulikph thnpiush hwdwip Epu, 1.003
2 | 2w pupanud w/h b nknuithafu.jgulnijin 1.04d htn. Ypu IS 1295,100 0,000
10elV
Znn. wphrunnubpbp thnunpulbph hopiwb hunfwip
3 | tpu.L.0M3 Ynnph Ypw Ynunwhbng hkwwnupa 1haph I 646,200 0.000
hwdwp 10e]V
4 | Uduwqulny&uyhl bwjuwy, h=10uf g 6 421,500 0,000
5 | lguyhb hpdp h=10ud I3 7 210,800 0,000
oandwhh hpwblbbph hhdpbnph
S lunwdne ) pbwnu B2OFIOO e 64543500 —
2kbwpwblibph hpwibkph hunjwpngh N5 pialjukph plnnt
7| s, - 285x165%100u, Ve3.0143, P=7 2un: hun et —
ZEbwpwbbikph hpwbbkph hkbwlbbph dhwany b/phwnnt.
8 | w.w. @8 A240C-9.23 Yq/u3. @12 A500C-34.31yg/u3; B25. u? 97 108,200 0,000
F200
©/p hunjuipnh qijumnhplikph N8 pnjjubp ywih, ~
? | 302x75x60ut. V=1.0943. P=2.70n: hunn e 0,000
Sthawnpplibph pnljikpp hkbwpwbikph plnljikpp hkwn
10 Jhwnpuwl (Unbinjhunwguwl) phnnt: B25. F200 e 79 996,500 e
N31 dwalh uwbph hunjwpm|h &/plnnt. swih. -
11 | 53x100x660 ud . V<3.07U3. P=7.7 wn; hunn 1185 815,70 0,600
w.uy. Al= 33.1 Yg/u3. All=152.3gAl3
12 Uwadlh vwibpp vial hbbwpwbught dwubp Eplokpun " 6 863,400 0,000
nmpkpnhahg:
Unpanblibph dhwény) plnnt ngnywlh dnunpnud b
13 Bpnwd kgpuyht vgkph Jpuw: B20. F100 w 66 910,500 L
Owdlih uvwibph pinlukph EpYobpin unubduyhl
gpwbliniumgnil hqnquidmy’ wwawnuubihy skpnp
14 wpubnnpijud phunniing H=4ud:Udpulughl guig . 10:809,000 —
{100x100 W) @4 Bp-1. P=0.217 w:
Lnybp' hkbwpwbbbph hpwbtkph pralukph dpgl Ywpkph
15 | unubduyhb gpwdklniuwgnud upmanuyubjy sbpinp g 20 844,500 0,000
8x25x50ud hunfurpmih phuninbik uwhlybkphg B20.F100:
16 | Ywph U hkbwlught wwnwdh dhwdmy) phnnt B20 F100 i 81 463,500 0,000
17 ;r:)r(;)anllh hunnwh Ywrnigad Upwany) pbnnbjpg B20., g 70 365,600 0,000
Qunnpn phbph yunnignd Whwany) plinntihg B20. F100 0,000 0,000
18 | hhdpkp U 64 543,500 0,000
hpwhitkp g 66 910,500 0,000
bonnjuiljh ppubiibph b hhdpkph. mannpy pukph
19 | gpnilunh htwn ptdnn dwlbplnyphbkph puywbpuypt U2 1.258,200 0,000
opuwuklnunwgnu:
20 | Pupuyhli jhgp N 6 146,100 0,000
21 Zmunwpd (hgp . 0,000 0,000
wlpnynaqkipn] 2 808,200 0,000




p)aknph waliminwbpm| u* 1 796,400 0,000
Clrpudklp 0,000
Zkbwugun 1. G 64725 - U 6+782
1 | 28V Yupgh phuthanh dhjupgnid wuwpwbgpuw)ht o 0,000 1 485.900 0,000
{hgpbpny h=1-24
1" | 9a-Vjupgh pluhnnh hjupkgnud hpnpnunipdm] U 405,700 1 485,900 602 829,630
206-VII jupgh plwhnnh thupbgnid wujpuwbigpught
2 thgpbpmi h=1-24f i 0,000 2715,300 0,000
2" | 206-VIII Yupgh plwhnnh thiupbgnud hhnpndnipdny u? 1 144,000 2715300 3 106 303,200
vurjuopnp thiupkgywd 206-VIIl Ywpgh phwhanh pupdn
3 | wh LOU3 2. w. kpu., b wikqunhnjunid jguyniyn 1 Yu hbn. s 1086,8 1972,800 2 144 039,040
Ypu
4 | Lnylp dknpny] W 57.2 15505,200 886 897,440
Lwhuonnp hupbgiud 9a-V lpupgh piwhngh dowlnudp
5 | tpuld 1.0 phn Ynnph Ynunwljnuinyg hbwwngwpd (hgph e 7707 841,500 648 544,050
huifun
Lnuyhp dknpny W 40,6 9898,200 401 866,920
7 | Lupunyuinpuvnuljwt gkpin $? 45 6436,800 289 656,000
g | ZElwngunh hpdph hpulubugnul thwday 357,93 74455,200 26 649 749,736
kphuppknnbjg
g | ZEuuwyunnh hpwbh hpubwlugaul Whudny; e 382,05 73001,700 27 890 299,485
Epljwppknnlihg
10 | Zhupkph nt hpubh wipub Yyq 37373,64 450,900 16 851 774,276
p | Zbwwwnh  htnbwdwwh - gpibwdp - (Quuwpmpub) | 52,45 10293,300 539 883,585
hpwljwbiwmgnud
12 | phbwdwyhb pangnjuljubtph wnkqugpmd lI 74,72 2480,400 185 335,488
13 | 2kbwwunnh ublghwhbbph dheb Thpwnhp w N 433,800 39 475,800
14 | fudwbpunhl ppudEynumugnit u? 682,19 1260,900 860 173,371
Swbwywphuwghb hwbnyphg. bujwgbu ymuwljws 9a-V
15 | Jupgh pwhnnh pwpdnuf w/h kpu. 2.503 3. b 15 331,89 1505,700 499 726,773
unbnuhnjunid hbnwnwnd 1hgph hwdwp 1.044
16 | Zanwrpupd |hgp pnugnqbpm| 9a-V g 1086,04 810,900 880 669,836
17 | 2bnwurupd (hgp dknpny| 9a-V u? 57,16 1800,900 102 939,444
Clrnpudkip B2 580 164,074
Zblmuyunn 2, Y 6+930 - Uy 6+993
1 | 93V hwpgh plwhanp dijupbgnul wuypubgpuyht WP 0,000 1 485,900 0,000
\hgptipm] h=1-24
1" | 9a-V Yuipgh pawhnnh thjupbgnid hhnpndnipényg e 596,400 1 485,900 886 190,760
9 206-VIII jwpgh piwhnnh qijupbgnud wjwjpubgpuyhl p 0,000 2715300 0,000
thgptpny h=1-2d
2' | 206-VIII Ywngh phwhnnh thjupkgmu hhnpadnipdng e 2252,900 2715,300 6117 295,370
Luthuopnp Yijupbgwd 206-VIII Yupgh phiwhnnh pupdnud
3 | wh 1.0U3 2. w. Epu.. U wbnunhnlunud ([gulmgpn 1 4 hkn. U 2140,200 1 972,800 4222 186,560
1pw
4 | unybp dknpny s 112,640 15 505,200 1 746 505,728
Luwuopnp thjupkgws 9a-V Yupgh phwhnnh dpwlnidp
5 | tpuld 1.0w2 50w Ynnph Ynunwlnudng hnwnwpa (hgph iy 1 133,200 841,500 953 587,800
hundwp
& | Umyhp dknpny g 59,600 9899,100 589 986,360
Lwuwwunnpuunalpnh skpn I 64,500 6 436,800 415 173,600




g | Ziwawunnh hiiph ppubutiugaul dhudny, e 662,180 | 74457,000 | 49303936260
kplupplunnlihg
g | Zsturunnh hpuith pulwliagaud Whwng " 707030 | 73003500 | 51615664605
tpljwpplinnbpg
10 | 2hudpkph nu pputbih unlpwl lig 72 085,020 450,900 32503135518
p | Zebwwuih - htntunfweh - gpbbwdh - (@udwpmpup) | 60,450 10 293,300 622 229,985
hpuljwhwgnud
12 | Mpbbwdunhb uagaduljubph wknunpmd U 114,540 2 480,400 284 105,016
13 | Zkluyunh ubljghwlitbph dhel dhewnhp 2 150,000 433,800 65 070,000
14 | fuiudpuhl ppuniklniumgnul N 1040,550 1260,900 1312 029,495
Swbwuypwphwihb hwimyrhg. bwpwybe fournolws 95-V
15 | Yuipgh phwhnnh pupanud w/ph bpu, 2.5u3 g0, b e 709,100 1505,700 1067 691,870
nknunhnjunid hlnwnupd jhgph hundwp 1.04J
16 | Zkwwnupd thgp pougnqbpny 9g-V g 1 806,860 810,900 1465 182,774
17 | 2bwunupa hgp dbnpny 93V P 95,100 1.800,900 171 265,590
153 341 241,291
ZEhwugunn 3,
Yu7+425 - Uu7+454.5
1 | 2&Vlwapah phuhnnh duptgnul wuypuligpughl o 0.000 1483,200 0,000
1hgpbpmy h 1.0-2.0d
1' [ 9a-V Ywpgh phwhnnh thjupkgnud hhgpniingpén W 0,000 0,000
‘Lwluopnp thjupkignwd 9a -V Jupgh phwhnph dpwlnuip
b pwpdnud tpu. 1.0d3 2.in.w/p wki.(guynipn dhbyh 1.04d v — i —
Lnyhp Aknpm) e 0,000 11523,600 0,000
‘Lutjuopnp thjupbgwd 9a-V fjupgh phwhngh Lywlhnulp
tpul] 1.0u3 50w Ynnph Ynunwlnuiny hbuunwpa jhgph g 0,000 839,700 0,000
hunfwp
206 -VII upgh phwhnnh tijupbgnud wwypwbgpuyhl
(hapknny b 1.0-2.00 g 0,000 2710,800 0.000
206 ~VIIT wpgh pluuhnnh qilupbgnud hhnpodnupdm] 3 0,000 0,000
Luwluopnp thiupbgnwd 206 -VIII Ywpgh plwhngh
vpwlnudp b purpdnulf bpu. L0 7.n.w/h nibinjguljmyn Ve 0.000 1969,200 0.000
uhlizh 1.000
Lnybp dkppny u* 0,000 15477,300 0,000
ZEbwyunn]y hjph hpwlwbwgnud vhwany| phnnbhg U 0,000 65168,100 0,000
ZEiwwwwnh hpwbth hpulwbugnd dhwdnyg) phnnbhg P 0.000 67460,400 0,000
ZEuwwwnh  hbwnbwdweh  gpbtwdh  (qudwpnipnh) o 0,000 10275,300 0,000
hpuwhwgnul
“phwdughb unnnwlbbph nknugpod gind 0,000 2475,900 0,000
Luudpuhb gpudklniuwgnud W 0,000 1258,200 0,000
Zkbwupuwnh uklghwlibph dhpl dhpwnhp 2 0,000 432,900 0,000
Zknwqupd (hgp poynnglpny 9a -V u? 0,000 809,100 0,000
Unybp aknpny 9a -V N 0,000 1797,300 0,000
Clunundlup 0,000
Cunhwbmpp 4104 230 713,140
Clpufbbp stufsunnbugdwd swhiubp = 119 629 293,995
Udpnnop 4223 860 007

* Updbpp bbmunnid E pninp dwifuutinp, bipunmg <<Cuhnypps» & US4 20%

** Quufuwtpbutfid wptuwpwhbipbbpl & dwpsutinp hunfup wugdhmepnd Yoqdhg Gungugennipl tppwduwnpdnn upwhmupughte dhonglbipp blpuilju Bb JSwpduds’
ybnghtif  Ynnihg  hpudlwdnpan  unepwpnplpp  (Gupwpnnuluwl  wipbph,  kbopliwhugpte 4 ipbfuliplpslpils  hulianaeimit - ppuiljuliugbing whidbph
banuwipugripiniblibph waljunipyuwb} bptuywgidbin nbupmd:



Ywyqwpupbpp-tufuwhhwyhy

L€ Upmupph dwpgh $-8-93.Létu-Swpl nbquwijwh uwiwlnpwl unfunwbwwwphh Yd 04+000-Y 19+889 hwunfwdh

YEpwlwnnigdut wahiunwuglbph
Lf 9+500-Y4d 194889 hwwnws

(WLWR. MPOBUS UM plljbpnieywl {nnifhg hpwlwiwgbihp wzfuwnwiiptibin)

/€< npud/
Quuth. Uhwinph Cunhwtinp
NN Uzhuunnwtiptiiph  whiuitinudp Shu], Dunjwp wpckpp wpdbipp
1 2 3 4 5 6
/Quwnndwé 4 0+000 5 Yd 94500/
I. Snnquighty wfuunputipbibn

: 20a-Vil jwpgh ptwhnnh dijupbgnul wwjpwigpu)ht 5 0.000 1996,200 0,000
thgplipny h=1-24d

1" | 20a-VIl wngh puwhnnh thpuphgnu hhapndnpéng ¢ 360241 1996,2 719113 084,200

2 206-VIli Yupgh puwhnnh thifupbgnd wuypwugpht 5 0,000 2763.0 0,000
thgpbipny h=1-2d

2| 206-ViN Ywpgh puwhnnh glupbgnd hhnpndmpGny gl 115390,0 2763,0 318 822 570,000

3 9p-V Yuingh puwhnnh thtupbgnud wwjpwlgpuiht el 0,000 1512,9 0,000
thgebipny h=1.24

3" | 9a-V Yupagh puwhnnh thiupbigmd hbrypndnuptmy ¢ 38726,000 1512,9 58 588 565,400
Luwfuonnp thjupbgyws 20a-Vil Yungh ptwhnnh dowlymd

4 | tpu. 2.503 2. pwpdnid w/h inbnwihnfunud gwlynyn 3 72 048,200 1575,900 113 540 758,380
dplisls 1 4d
Lwhuopnp thupbgywd 20a-VIl ungh pwhnnh dawlnud .

5 pnyngbpnd. ubnwihnfuncs 304 Unngh Ynumulnd J 288 192,800 575,100 165 739 679,280
Luwluopnp thtupbgywé 206-VIIl Ywpgh puwhnnh dawln

6 | tpu. 2.5d3 2.0, pwpdnuf w/h nbnuihnfunud [guiynywn ¢ 23 078,000 1575,900 36 368 620,200
ptsle 1 4d
Lwijuopnp ihjupbgyuws 20a-VIIl Yupgh puwhnnp Sowlnd .

7 puynngbnd. wbnuithnfuncd 300 Ynngh Ynnwlnd u 92 312,000 574,200 53 005 550,400
Luwtuonnp thfupbguws 9a-V Lwpgh pwhnnh douilynus

8 | kpu. 2.503 2.un. pupdnd w/h wbinuahnfunid (gulnyun ¢ 13 764,000 1305,900 17 974 407,600
Upbisle ¥
Lutuopnp thfupbigywd 98-V uipgh ptwhnnh dawtinud .

9 pruynnqhpny. wbmuithnfunud 306 Unngh Ynumulnud u 61 699,330 574,200 35 427 755,286
98-V uipgh puwhnnh dawlnd pnynngbipny 5

10 wbmwinfuncd 504 hap (hwpentd. spnu. fumwgnu) d 3 086,835 1327,500 4097 773,463
9a-V wpgh pachnnh duwlymd £pu. 1.0d3 2.0, pwpdnid s

n w/h L wbnuidhnfuntd (hap 1 (hwpmd. pnu. Jucugn) ] 5423,000 1650,600 8 951 203,800
9a-V Lupgh puwhnnh dawlnu kpu. 2.5 43 7. i, pwpdnud

12 | w/h wbnuihntuned dhbgh 1yd.  Lnunuwlynud hbtuwwuinbiph Ul 327,040 967,500 316 411,200
hbivnwnwpd (hgph hwdwn
10e-IV Ywpgh puwhnnh dawlymd kpu. 2.58% 3.1, pwpsnud .

13 w/h U wbnuthnfunid gunyn dhtgl 18 U 83 888,630 { 1067,400 89 542 723,875
10e-1V Ywngh puwhnnh Jpwlnud pnynngbpny. .

14 wnbnuihnfunud 308 Yrngh Ynunwtnd d 335 554,521 298,800 100 263 690,875
10el¥ fupgh puwhnnh dawlnd prynngbipny s

15 wbnuihnfunud 506 (hgp (hwnend. spnu. junwgnul) 1] 5 250,820 1166,400 6124 556,448
10e-1V Yupgh puwhnnh dawlynud Epu. 2.503 7.1, pupsnd S

16 wih L wbnuihrfunid (hgp 144 (wpenud. spnid. fnwgnid) u 5 793,000 1699,200 9 843 465,600




10e-1V Ywpgh puwhnnh dawlmd tpu. 2.503 2., pupsmd

17 | w/h kb wnbnuapntunud (hgp 240 (hwppnd. gpnud. a2 5 647,000 1812,600 10 235 752,200
futnwgned)
i0e-IV Yuwpgh pwhnnh dowynwd tpu. 2.503 2.0, pwpdmd
18 | w/h b nbnuihniunud thgp 44 (hwppnw. gpaud. gl 4 505,000 2037,600 9179 388,000
fuwnwgnud)
10e-IV Ywngh puwhnnh Jawlynud kpu. 2.5 43 5. .
19 | pwpdnud w/h nbnunhnfunid dhtgl 1d. Younwlynud U3 355,342 1007,100 357 865,110
funnnijwlubph hbnwinwpd |hgph hwidwp
10e-IV Jupgh puwhnnh dpwlnu kpu. 2.5 43 2. .
20 | pwpand w/h wbnuithnfuncd dhtisl 140, Ynuwnwlynod g2 270,582 1007,100 272 502,790
heunnbintiph jhgph hwwiwn
10e-1V Yupgh puwhnnh dowlnud bpu. 2.5 43 2. .
21 | pwpdnd w/h inbnwithnfund sl 1y, Gounwlmd a3 5 714,650 1007,100 5755 224,015
Ynnuwlubiph jhgph hwidwp
10e-IV Ywngh puwhnnh dawlnud kpu. 2.5 03 2. .
22 | pwpdnuf w/h nbnunpnfunud dhtgh 144, Yrunwlnu gl 22,820 1007,100 22 982,163
npbtwdh hbmwnwnd |hgph hwdwp
UuwnhGwubph Junngnu 0,000 0,000
1 20a-VIl Ywpgh puwhnah thfupbgnd wwjpwlgpw)pu g 0,000 1996,200 0,000
lhgpbpny h=1-24
1" | 20a-VIl hwpgh puwhnnh thiupbignd hhnpedngéng g3 1787,000 1896,200 3 567 209,400
2 206-VNl Ywpgh puwhnnp thiupbignd wwypwbgpw;hl P 0,000 2763,000 0,000
thgpbpny h=1-2d
2' | 206-VIll upgh puwhnnp thlupbignud hhpndnpéng 19 1,000 2763,000 2763,000
lhapbpny h=1-24d
3" | 9a-V upgh pwhnnh thiupbgnud hhnprdngiéng W 85,500 1512,900 129 352,950
Uuwnpbwbibph Ywnmgnd bwhuwubu difupbgywa 20a-Vil
4 | Ywpgh puwhnnd pnynngbpny (nbnwinfunu dplsle o 1 787,000 443,700 792 891,900
204d)
Uuinhwbbbph funmgnw! bwhiwwbu hfupbglwd 206-VII
5 | Ywpgh pewhnqnud pnynnglipny {inbquwihnjund dhtigh u? 1,000 443,700 443,700
200}
Uuwnpwbbph Yurenignud bwjuwwybu hjfuptigws 9a-v
6 | Lwpgh puwhnnmd paynngtipny (nbqudpntuntd dhtigl 3 171,000 443,700 75 872,700
204)
Uunhwubph juwnmgnul 10e-1V upgh plwbnnmd .
7 prungpmy (snbmwiinfuncd Shtigh 200) d 2096,000 211,500 443 304,000
Cunwdbtp 1. 1768 556 367,935
i, Ynnuyht wnmbbp
1 20a-YIl Ywpgh plruhnnh thiupbgnd wwypwugpuwhu B 0,00 5698,800 0,000
Ihgpbpny h<Q.54d.
2975,00 5698,800 16 953 930,000
2 206-VIll hwngh puwhnnh thlupbgmd ww)pwbigpuw)hu P 0,00 9338,400 0.000
thgpbpny h<0.54.
1763,00 9338,400 16 463 599,200
3 9p-v lqwnqh pt’whmlh lhl"l’hgﬂll‘ WNJPWUQEthu BE 0,00 4435,200 0,000
ihgptpny h<0.5d.
468,00 4435,200 2075 673,600
Ynnuiht wambbph hpulwbwgnud bwhwwbu
4 | thjupbigijwd 20a-VIl Ywpgh plwhnnnud tpu 0.6543 j.u.. I 2830,19 2198,600 6 225 292,019

pwpdmyd  wbnuahnfumd jguynyun 14d dhohts hbin




Ynnwjhtu wantibph ppwlwtwgnud Lwfuwwbu
5 | thlupbglwd 20a-VIl Yupgh piwhnnmd dbnpny. pwpanud 2 144,81 12 532,500 1 814 796,596
bpu 0.6543 2.n. nbnwiinfurud (guilgnyun tyd Jhohl hbin,
Ynnwihl wnntubph ppwlwbwgnd Bwhiunytu
6 | thhupbgluwd 206-YIll hwpgh puwhnnmd bpu 0.65d3 ... P 1674,96 2199,600 3684 233,789
pwpdnul inbnuahinjunud lgwlinyw i4d dheht hta
Ynnuht wnndibph ppwlwtiwgnid Ywhiwwbu
7 | hhupbgywd 206-VIl Yupgh puwhnnnwt dbnpny, pupdnud IE 88,04 16 326,000 1437 402,104
fpu 0.6543 2.in. wbnunhnjunud igulnywn 14 Whght hbn,
Lnnwjht wnnubph ppwiuwibnugnud Uwjuwwbu
thlupbigywsd 9p-v 3
. Yuwpgh pbwhnnnud tpu 0.6543 2.n.. pwpénud . 889.00 Ly LGELIER
wnbnwihnfuntd igwynyun 14d Jdheht hbin
Ynnwjht wantibph hpwlwiwagnd bwfuwwgbu
9 | thlupbgywd 9n-V fwpgh puwhnnnd denpny. pwpsnud tpu g 47,00 12175,200 572183,458
0.6543 2.0 ibnuithnjunid guwlnywn 14t dpepl hbn.
Unnwiht wembph hpawljutnugnul 10e-1V Ywpgh
10 | puwhnnmd tpu 0.65U3 2.0.. pwpéned wibnuihnfunud a2 1 580,151 1427,400 2 255 507,056
wlnywn 14d Shehl hbn
Ynnwjht wnmbbph hpwlwbwgnul 10e-1V Gwpgh
11 | puuihnnnud dbnpny. pwpdnud Epu 0.65d3 2.1 a2 82,849 6 731,100 357 667,173
nbnuithnfund (guiynyun 14d dhepts hbin,
Clnpudbhp 11 53 678 897,508
M. bnpbulihn
10e-1V Jwpgh Lbwhiuwwyby dawlywd puwhnnb pupdnd tpu.
11 2.543 2. nn. w/h. wbnwiinfund Ynnbwlubph (hgp 140 us 5714,65 1539,900 B 799 989,535
(hwppend. gnnd. unwgnul)  h=26ud
2 | nnbwlubh wdpwgnud wrwquiynuGughl bmeny e 21979 639,000 | 14 044 581,000
hdhg.=10ud.
Clnunibip L. 22 844 570,535
IV, Gpplbhtih dww
1 | wwhlwynp Bupwhhdp. (wwqulnwhs) h=10 ud & 116 033,400 507,600 58 898 553,840
tubwlwaquiht hpdp {C-5) h=20udj
1000 hwdwp
fuh6 (40-70) 10% - 2.6/
fuh6 (20-40) 35% - 9.14°
2 fuhé (10-20) 20% - 5.2¢° U 75882100 | 2083,500 158 100 355,350
fuh6 (5-10) 10% - 2.64°
fup6 (0-5) wiweq 25% - 6.54°
gnip-1.143
3 | tungnpwhwinhly pupdp Swlhnnlbineguwdp w/p h=6ud e 72747,400 | 4149,900 301 894 435,260
4 | ungnpwhwinhly w/p h=6ud iy 72747,400 | 5688,900 413 852 683,860
5 | "B" wnpwh dwbpwhwinhly juptn twp w/p h=4ud 2 72 747,400 4 211,100 306 346 576,140
Conpwdbtp 1V, 1239 092 604,450
V. hPounplinbp U dniupphip
i 20a-Vll Ywipgh puwhnnh thjupbgnd wuwypwugpuht 2 0,000 5 604,300 0,000
tharbpny h<0.54.
1" | 20a-VHl Yungh pLwhnnh thtupbgnd hhgpninipény K 0,000 5 604,300 0,000
2 9a-Y Ywpgh puwhnnh thjupbignid wuypwligpujhl NE 0,000 4 362,300 0,000
thapbpny h<0.54.
2 | 9a-V Ywpgh pwhnnh thjupbgnud hhppndngiéng Iy 0,000 4 362,300 0,000




Luwiuonng thjupbgywd 20a-VIl Ywpgh puwhnnh dpwlnud

3 | kpu. 1.003 2.0, pwpanud w/h nbnwinfunu (guynyn | 2 0,000 1 974,600 0,000
Yd uhe. <an.
Lwjuopng thfuptgyud 98-V Yuwngh pwhnnj dgwlned
4 | Lpu. 1.0d3 2.n. pwpanuf w/p nbnunpnfunud lgulynywn 1 o 0,000 1 647,000 0,000
yd Jdpe. <bn.
10elV Ywpgh pwhanh dawlnul paynngbpny .
3 unbnwinfuntd 500 |hgp (hwpemd. gpnud. funwgnid) i 15,000 117,800 Udelznies
Buwbwwwphh hwunyphg bwiuwwbu Yrunwlws 10elV
5 | Yupgh puwhnnh puipsnd bpu. 2.503 2.n. wbinwthnunud e 240,000 1 507,500 361 800,000
lhgp 1 Yd dhg hbn. (hwprnul. gpud. funwgnw)
tpplblbh Swo 0,000
huGwfwauupt hpdp { C-5) h=12 ud
juhé (40-70)- 10% - 1.564°
[uh6 {20-40)- 35% - 5.46.
1 | fuhé (10-20}- 20% - 3.120° g 494,300 1 371,600 677 981,880
fué (5-10)- 10% - 1.561°
[uh6 {0-5)- wywq 25% - 3.9
gmp-1.143
2 | B whyh Jwupwhwwpl fupn wip h =4 uld & 465,500 4 223,700 1966 132,350
Ubnwnwlwl fjunnnywlubp @ 53004 0,000 0,000
1| Wwqwlnubwiht 2Epn h=10ud (dtwn. junn. nwl) g3 0,585 5 853,600 3 424,356
2 | Ubw. funqnyjwlubph @ 530x50d inbrwnpnw qdd 9,000 129 420,000 1164 780,000
3 | Qpudtymuwgnud (2 2bpun nwp phuinuind) qdd 8,509 3 060,500 26 045,476
4 | Upwdny| ptiwnub B-20 gjfuwdwubp e 0,655 116 515,800 76 264,887
5 | Huwidwutiph gpwibyniwgnd (2 2t nwp phunwiny) g 2,435 1261,800 3097145
Chnunfbup V. 4 296 293,095
VI, 8nugdh huinmgned §Jd0+000-4u2+200
20a-VIl Yupgh puwhnnh hlupbgnu ww)pwlgpuyhl
1 | |hggbpny ¢ 0,000 3 433,500 0,000
h=0.5-14
20a-Vll upgh piwhnnh thfupbignud bhnpndnupéng 3 0,000 3 433,500 0,000
9a-V Ywngh plawhnnh thiupbignmy ww)jpuligpht 3
2 hgptpny h=0.5-14 d 0,000 1 978,200 0,000
9g-Y Jupgh puwhnnh thlupbgnud hhnpadnipény ¥ 0,000 1978,200 0,000
tupwdnune pwurpnd bwhuwwbu thfupbgywd 20a-Vil
3 | ywpgh puwhnnnu tpu.0.658 2. wn. pwpanul 1 0,000 2127,600 0,000
wnbquihnund (gulynywn 14d dhe.hbn. (1x0.4x620)
4 | Lnyup &bnpny P 0,000 15 516,000 0,000
hupwinuyne pwbnn bwhuwwbu gtupbigdwd 98-V Yuipgh .
0 puwhnnmd tpu.0.650% 2.inynneh Ynunwlnud (1x0.4x170) 4 0,000 855,000 0.000
6 | Lnyup sdbnpny 3 0,000 9 996,300 0,000
fupundnunnt pwunnui 10e-iV Yuipgh puwhnnow Epu.0.654° .
7 aanynneh Ynenwlind (1x0.4x1410) g 0.000 679,500 0,000
8 | Lnyup &tinpny Iy 0,000 5 312,700 0,000
Ujwah bwjuwwwnpwunwlwl 2o h=10ud .
9 (2200x0.4x0.1) d 0,000 6 291,000 0,000
10 | Lnp wnjhtphibt unnnwlh nbqunpayd d=50x3d4 qdd 0,000 1288,800 0,000
11 | Ninhn, dhtugmd d=500d4 hun 0,000 2 619,900 0,000
12 | UWjwgh wwatnuuitips gbpn h=20ud {2200x0.4x0.2) @ 0,000 6 291,000 0,000
13 | <bhwnwnuwpd thgp prynngbipny I 0,000 818,100 0,000




14 | <hnwnwnd (hgp Sknpny u? 0,000 1818,900 0,000
Lwhuwwbu Ynunwlwd 98-V Yupgh ptwhnnh pupdnud 5

s £pu.0.6543 2.0, L nbnuihnjund jguyniyun 14d he.hbn, v 0,000 1782,000 0,000

Cunuwidbkup VI. 0,000
Vil. Ypblwdh lpunnigned
Eplwjbwlul npbtnudh funnignd L=180d
L 3+4240-Ud3+360. jU3+540-4u3+560. f3+920-
YyJd3+240. 4d4+080-4J4+100 (L=1804)
206-VIll Ywpgh puwhnnh huptignud wuwypwbgpuw)ht

1 | thgpbipny h=0.5-1d (170x0.75x1) (R el R Ly

T 206-Vill Ywpgh puwhnnh thuptgnud hpnpndmpény & 0,000 3 408,300 0,000
{170x0.75x1)
9p-V Ywpgh plwhnnh hfupbignd wuypwlgpwht 3

? | ihgpbpny h=0.5-14 (10x0.75x1) v e 0.000

> 9a-V Ywpgh puwhanh thiupbgnud hhnpndagpéng 5 0,000 1 962,000 0,000
{10x0.75x1)

Luwfuopnp thiupbgywd 9a-V fwpgh puwhnnh dawlnul

3 | ftpu. 0.6503 2.1n. pwpdnid w/h whnwihnfund lgwnipn 1 o3 0,000 1769,400 0.000
Ld dhg. <bn.

4 | Unwp dbnpny P 0,000 11 431,800 0,000
Luwjuopnp thfupbigywd 206-VIN Lwpgh ptuwhnnh dowlnud

5 | kpu. 0.6543 .1, pwpdmy w/h wnbinuehnjunid |gwlnyn 1 Ul 0,000 2 112,300 0,000
Y dhe. <bn.

6 | Lnuip sbnpnd DR 0,000 15 400,800 0,000

7 | up 40-700d ubrgrdnpyws plwhnnh dbg h=7ud 0 0,000 495,000 0,000

8 | Wphuweh Lwnngmd qbd 0.000 9 816,300 0,000

Luwstnoljsl ppsuwdh funmgnud  L=744d
Uif3+280. d3+320. Yd3+540. Yd3+920. Yu4+080
206-VIll jwngh puwhnnh thfupbgntd uyw)jpwlgpwyhte -

" | lhgatipny h=0.5-14 (51x0.75x1.1) I 0.000 | 3408300 0,000
206-VIIl uwpgh ptwhnnh thfupbgned Bhrprdnipam| ° 0,000 3 408,300 0,000
{51x0.75x1.1)
9a-V Yungh plwhnnh thfupbgnd wwjpwigpuhl )

2 thgplinny h=0.5-1d {23x0.75x1.1x0.5) d 0.000 1962,900 0.000
9n-¥ Ywpgh puwhnnh thlupbgnul hhnpndnupéng =
(2340.75x1.10.5) ] 0,000 1 962,900 0,000
Lwiuopnp thfupbgywd 9a-V Ywnpgh pwhnnh dawlmd

3 | kpu. 0.6543 2., pwpdnud w/h wnbnuipnfunad jgulnywn 1 Ul 0,000 1769,400 0,000
Yd vhg. <hn.

4 | Linip sbnpny u? 0,000 9 921,600 0,000
Luwtuopng thjupbgywd 206-VIIl hwpgh ptuwhnnh dpwlynud

5 | bpu. 0.65d3 2.un. pwpdnd w/h inbnuihnpunud (gulnywn 1 0 0,000 212,300 0,000
Ld dhg. <bn.

& | Lnup dbnpny o? 0,000 15 400,800 0,000

7 | uh6 40-70dd ubwwynpdwd puwhnnp dbg h=7ul Iy 0,000 18 665,100 0,000

8 | "Mpbbwdh Ywnmgnud gdd 0,000 22 395,600 0,000
Buwbuwywphh hwingphg Uwiuwwbu hnunmulwd 10elv 4.

9 | puwhnnh puwpdnd bpu. 2.543 2., wbwuthnfund 3 0,000 845,100 0,000
hbwwnwna (hgp 1 Y Jhg hbn.

10 | <bwnwnuwipd thgp paynngbpng P 0,000 812,700 0,000

11 | <bunwnwpd hgp dbnpmy 5 0,000 1 803,400 0,000

Cunudbp Vil 0,000




Vill. Bwbwguphught bywtibip

Lnn dwb, bgwlubph nbnwnpnd, wn pynud*

- bwuwqgnizwgting hwn 348 23304,600 8110 000,800
= wnunjGnpjwu huwen 7 28793,700 201 555,900
- wpgbnn hwin 12 28793,700 345 524,400
- phjumpnn hunn 1 28793,700 28 793,700
2 | - unbnblwundnipywl hwwn 1 10012,500 110 137,500
- Inwgrighs wbnbljwingnipprul hwuwn n 13464,900 148 113,900
- wihwuinwlwl twiuwgdiwl o 0 54377.100 0,000
(hwwnmly pbrunpwiiph)
- wibhunuliwls Lwugddul @ 3.1 54377,000 | 169 112,781
(tnBnblwwnyneeywl)
3 | “Ywbgbwl dtn. funn 57x3.50d hwtn 346 22211,100 7 685 040,600
4 | Uhwény) ptnnbb hhdp B-15 g 36,33 48568,500 1764 493,605
Cunwdbup VI 18 562 773,186
IX. Lawgdnmd
Lawgdnuip punhwunip dwlbpbup {(pbpdnuywun h=3d04.
1 i 31N 9720,000 30 822120,000
wujlyb qunhyubiph wybugdwdp)
Chnpuwdtip 1X. 30 822120,000
X. Upgbputhudingtibp
Ubn. wpgbwihwlingubnh wisnwnpnud 3 4445,
1 | Ywiqulbbp abitp N16. puyip 2d Ynown gdd 8190,000 | 28 088,100 | 230 041539,000
hwpywdwdwnhsny
Ubwn. wpgbpwihwlngubiph inbrunpnud 3 44d.
2 | Yubquwlubp adbtp N16. puyp 4d Ynan qdud 2244000 | 22 952,700 51 505 858,800
hwpywéwdwnhsny
3 | Mnjhdbpwiht ninnpn untitbph (C-1) wbnwnpad hunn 37,000 4 512,600 166 966,200
Chnudbbp X. 281 714 364,000
Ubumwqwlwl dupn=102044 jungnjultbph nbnunpmd
9a-Y Yuingh puwhnnh thhupbgnud
1 g 0,000 4 347,900 0,000
wwipwlgpuiht (hgptipny h=0.5d
p | 98V uingh plwhnnh thhupbgnud # | 35000 | 4347900 | 152176500
bhnnpndntpény
20a-VIl Ywpgh puwhnnh tlupbignd
2 gl 0,000 5 586,300 0,000
wuypwlgpwihb (hgptipny h=0.5d
z | 202Vl Luungh plwhnnh thiuptigud # | 125000 | 5586300 | 698 287,500
hhnpndnipény
206-VIll Yupgh pwhnn vhfupbgnu
3 P 0,000 9154,800 0,000
wwpwlgpuhli jhgpbipny h=0.54
3 | 206Vl hwngh pluwhnnh driupbignus # | 67,000 | 9154800 | 613 371,600
hhnpndnipéing
nnuiht wfuunwiptitp 10e iV Ywngh pwhnqmd hnth
4 | nnndwb hwdwp kpu.1.0 d3 2.0, puwpdnud w/h b inbnuih, u? 34 1295,100 44 033,400
[guynywn 1.0Yyd hbn. Ypw
<nnwjht wpnwuinwliptitip bwiuoprp thiupbgyws 9a-v
5 [ Yuwpgh puwhnnmdd hntsh nipqdwt hwdwp kpu.1.0d3 7. (1Y 5 1641,600 8 208,000
pwpdnid w/h b inbrunh. guilinyin 1.04d. hbn. Jpw
<nnwht wztuwnwipbbp bwuopnp thfupbgyws 20a-Vil
6 | Ywpgh puwhnnawd hmup nippdwt hwdwp tpu.1.043 7., B 25 1967,400 49 185,000
pwpdnud w/h b wbnwih. gulngn 1,040, hba. Jpw




<nnuwblr waluwinwbiptiip Uwiuopnp thupbgywé 206-VIII
7 | Ywpgh puwhnnnd hntbh ninndwt hundwp bpu.1.043 2.0, ¢l 6 1967,400 11 804,400
pwpand w/h b nbnuih. igulingun 1.04d. hbn. Jpw
<nn. waluwnwptbp 10e IV Quipngh plwhnned
8 | thnunpulubiph tinpdwl hudwn tpu.1.0 43 2.0, pwpanud a2 26 1295,100 33 672,600
w/h Linbquag. lgwlaywn 1.04d hbr. dpuw
Cnnuiht wzbuwnwitplibp twluopnp thiupbgywd 9a-v
bwpgh puwhnnnud funqndelh dinunpuilh inpdwt .
9 hwdwp tpu. 1.0d3 2. wn. pwpdnd w/h L nbmuginfunad L . L1gny ALY
jgwynywn 1.04d hbn. Jpw
<nnupb waluwnwipbiip bwiuopnp thiuptigtwd 20a-Yil
Ywpgh pwhnnnud funnnjwyp thnunplp dinpiw .
10 hwdwn tpu. 1.043 2. wn. pwpanud w/h U wbquithnfumd 4 100 (L7 LIz
[gwlnywn 1.04J hbn. Jpw
Lanwiht watuuinwiuptibp bwluopng thfupbgyws 206-VilI
Ywpgh puwhnnad funnnywih dinunpwiyh hnpdwl .
" | husdu Epu. 1.003 2. . puindnud w/h U nbinuichnfund u & LR LAl
jgwlinyin 1.04d hbn. Jpw
<nn. wztuunnwtipttp 10e 1V Yuwpgh puwhnrnd
12 | thnunpwliubph thnpdwl hwdwp bpu.1.0 43 Yongh Ypw a3 38 646,200 24 555,600
Ynunwlbnyg hbunwrand |hgph hudwp
<nn. wajuwnwlplibp Lwluopnp thfupligywd 9a-V Lwngh
puwhnpaud unpadwlh Ginuapwlutph hnpdwl hwdwp .
13 | tpu.1.0 U3 Ynngh pw Ynunwltny hbununuwnd (hagh ¢ 1 838,800 95 623,200
hwdwp
Bwiwwwphwihl hwinyghg 10e-IV Ywpgh puwhanh
14 | dawlmid tpu. 2.543 2.0, pwpdnid w/h U inbnwdhnfunud g3 68 949,500 64 566,000
hbuinwnwpd hgph hwdwp 2.04d
15 | Ujwquilnubught bwfuwey, h=10uf g2 25 6421,500 16 053,750
16 | huBw)htt hpwip h=30ud F 51,9 5263,200 273 160,080
Hhuwtlwuh wnnignu Jhwény ptiintthg  B20 FI00 0 0,000
17 | hhdptp g 10,2 115962,300 i 182 815,460
hpwutbp ¢ 18,2 115962,300 2110 513,860
18 | Npitwluywibb wdpwiubp @16 AS00c 1=134ud Ug 33,9 791,100 26 818,290
Ubtnwnulywl dwpwin= 1020 dd funnadwlh inbinunpnud
9 1q80=249.08 g wywnh hwuwn. 1003 gdd 60,2 369042,300 22 216 346,460
20 | Ywph b hsbwYwiht wnwdh dhwdny ptnne B20 F100 i 7.1 81470,700 578 441,970
Luwdpwihu gpwdibynuwgned 2 gbpn tiwp phunawdng 0 0,000
21 | funnnyul qéd 57 5872,500 334 732,500
pbunnt he Nn2.6 1257,300 141 571,980
<bunwnwnd (hgp 0 0,000
w)pnynngbpny 10elV W 102 808,200 82 436,400
22 | wjpnynngbpm) 9g-V g S0 808,200 40 410,000
plabnph wahnuinwpng 10elV g3 14 1796,400 25 149,600
plabngh wtuwinwipny 9a-V e 7 1796,400 12 574,800
Conuidbbp 29166 393,150
Ubnwnwlwl dwpin=122004 funnnyulubpp ntingwnpou
9a-V Ywngh puwhnnh thjupbgmd
1 g? 0,000 4 344,300 0,000
Ww)pwugpuhb |hgptipny h=0.54
p | 9V yungh plwhnnh thhupbgnud P 0,000 | 4344300 0,000
hhnpadnpény
20a-VIl Ywpgh puwhnnf thfupkgnul
2 18 0,000 5 581,800 0,000
wwypwigpwiht thapbpnd h=0.5d




20a-VIl Yupgh puwhnnh thiupbgnud

! 3

2 hhnandninémy u 255,000 5 581,800 1423 359,000
206-VIll Ywpgh puwhnnh thjuptgnd

3 et Ml e et 015 Ul 0,000 5 146,700 0,000

3 | 206-VIll huipgh puhnap dhunbgnud i 0,000 9 146,700 0,000
hhnpndntpéing
Lnnuwjplt wpfuwnwupubp 10e IV Ywpgh puwhanad hnth

4 | nuniwt hudwp kpu.i.0 d3 2.n. pwpénud w/h L inbnwd. g2 245 1294,200 31 707,900
(gwynytn 1.0Yyd hbn. Jpuw
<nnuwjhtt woluwinwupubn twiuopnp thjupbglws 9a-Y

5 | Ywpgh puwhnpred hnteh aenrdwy hwdwp Epu.1.0d3 .. $ 0 1640,700 0,000
pupdnd w/h L wbnwth. |guwynyw 1.04d. hbn. dpw
<nnwjhb watuwnwuplbp bwjuepnp thjupbgywd 20a-Vil

6 | uwpgh puwhnqmd hnup nepdwy hwdwp bpu.1.0d3 .. g2 46 1137,600 52 329,600
puwpdnd w/h L wbnwid. (gwlnynn 1.04d. hbn. Ypw
Lnnwjht wpfuwwnwbiplibp bwhiopnp thfupbgywd 206-VII

7 | Yupgh puwbnnmd bnop ninndwl hwdwp fpu.1.0d3 2.u:. 3 o 137,600 0,000
puwpdnud w/h L inbrwith. \gwlnyn 1.04d, hbn. pw
<nn. wzuwnwplbp 10e IV Ywpgh puwhnnnud

8 | thnuapwlbbph thapdwi hwdwp Epu.t.0 43 2.n. pwpamd e 0 1294,200 0,000
w/h b inbquih. ulnywn 1.04d hbn. Ypw
<nnujhtt watuwnnwbipibp bwhuopnp thjupbguwé 9a-V
Lupah puuthninud funnnyjwlp thnunpulh thnpdwt .

? hwdwp Epu. 1.0d3 2. w1, pwpdnud w/p W inbnuihnlund d 0 1640.700 0.000
jgwbnywn 1.0Ud bbn. Jpw
<nnujht wtuwinwuplibp Uwiuopnp thlupbgwd 20a-Vil
Yupgh puihnnnd funnnywbh thnunpwlyp hapdwb .

e hwdwp kpu. 1.0d3 2. n. pwpdnw w/h b inbnuidinfunwd . Gl Uz LRI
gwyniyn 1.0 hba. Jpw
Znnuyhts wauwinwlplibp bwjuopng thfupbgywd 206-VIII
Ywpgh puwhnnmd junqmjwlh tnunpuyh inpdwt .

1 hwdwp tpu. 1.003 2. w. pwpdnd w/h W wbnuwhnfunu i 0 137,600 0,000
jgwlnyw 1.0yd hbn. Upw
<nn. wypuwnwiplbp 10e IV upgh pwhngnud

12 | dhnunpwltbph dinpdwt hwdwp bpu.1.0 43 Ynaph Ypw ¢ 45 645,300 29 038,500
Ynunwlbiny hbunwinwps thgph hwdwp
£nn. wphuwnwigbbp bwhuopng thjupbgywéd 9a-V Ywpgh
puwhnnmud funnyuwlh thnunpeelutph hnpdwy hwdwp .

13 tpu.1.0 d3 Ynngh pw Ymnwlbing hewwnwna hggh U 0 838,800 0.000
hwdwnp
Bubwwwphwiht hwtnyphg 10e-1V Yupgh puwhnnj

14 | dawlymd bpu. 2.5d3 2.0, pwpdnud w/h b inbquinfunil g 125 948,600 118 575,000
hbunwnwps |hgpp hwdwp 2.04d

15 | Wwqulnwbw)ht bwjuww. h=10ud u? 2,66 6417,000 17 069,220

16 | huwht hhdp h=30ud g2 54,52 5259,600 286 753,392
Stuwdwup Gwamgmd dhwdny) pbininthg B20 F100 0 0,000

17 | hhdphp 18 12,84 115869,600 1 487 765,664
hpwttbp g3 31,29 115869,600 3 625 559,784

18 | Npduwlwuwywht wdpwlubp @16 AS00c I=144ud ya 27,24 780,200 21 525,048
Utnwnwljwt dwptn=12200d unnnjwlph

19 inbnunpnud.1g8d= 357.49 Ug. wuinh huwwn. 1204 qdd 50,6 581018,400 29 399 531,040

20 | Jwph b hbbwluyhts wowdh dhwany) pnnu B20 FiG0 3 7,21 B1405,900 586 936,539

21 Luywdpwiht gpwiblnwwgmd 2 sbptn tiwp phunuing 0 0,000
funpnduwly qdd 47 7018,200 329 855,400




phiuinb 2 114,54 1256,400 143 908,056
22 | Rwpwjhb |hgp W 0 6141,600 0,000
Lhuwnwnuwpd (hop 0 0,000
w)pnyangbpny 10elV 15 130 808,200 105 066,000
23 | wjpnynnqtipny 9a-v Wl 0 808,200 0,000
pldbnph wpjuwwnwupny 10elv I8 14 1795,500 25137,000
p)bnph waiwwwlpny 9a-V g 0 1796,188 0,000
CunwdGhp 37 921 875,543
VEnwnulwl dwpuin=142004 funnnyuwlibph nbnunpnd
<nnuwjhl waluwnwliplip hnish nenpuwi husdwp kpu.1,0 pu.
1 [ 4320 pupdnd w/b b wbinuith. (gulnyin 1,044 hkn,
tUnw IE 0,000 1298,700 0,000
pl. 0,000
<nn. watuwnwbipbibp funqnywih thnunpuiusph
2 | pnpduwts bunfwp bpu.1,0 U3 p.n. pwpanul w/h L
inbnunth. \gwlnywn 1,044 hbn, pur g3 0,000 1298,700 0,000
pl. 0,000
<nn. wphuwunwbpblbip funnnywyh thnunpuwiljubiph
3 | npdwts hunfwp tpu.1,0 P Ynnph Ypuw Ynunwlbny
htwnwnwna thgph hwdwp 2 0,000 648,000 0,000
Udwqulmybught bwhuwuy. h=10ud 0l 0,000 6417,000 0,000
hubwiht hhtip h=30ud I8 0,000 5259,600 0,000
Huwdwuh Yunngnud dhwany pnntihg  B20 F100
6 | hpdptp U3 0,000 116423,100 0,000
hpwbitp u? 0,000 116423,100 0,000
7| Npuwlwwwiht wipwiubp @16 A500c 1=235u4 g 0,000 790,200 0,000
Ubinwnuwl dwpin=142006d funnnywih
. wnbnuwnpnud, 1gdd= 622.36 Yq, ujwinh hwun 184d 2 0.000 SLEEER 9,000
9 ;l;.lg(l;ph U hbwluwyht wuinwdtbph Shwany| ptwnnt B20, P 0,000 81700,200 0.000
Lutjwdpwihb opwitiynuwgmd 2 sbpin nwp phwnwing
10 hunnnyuly qdd 0,000 8738,100 0,000
phnnu U2 0,000 1255,500 0,000
Chuinwnwipd thgp
. pU.
w) pny
p | ™) Raunngbnay e 0,000 810,900 0,000
) dtngh wahuwnwhipn o
nph wohuwnwlpn
Fi SHnal wainwlp iE 0,000 1801,800 0,000
Snjnupgntls niliignn quwdwutiph putinnud hGuinwhwp
12 [ dnipéind, pwpdnud w/h b nbnwihinfunud [gwlpywn 1,044 g 0,000 26757,000 0,000
hbn. Jpw
Snynipjnit nitiignn b/p onwlubph wwwdnbnwdnud, .
™ | puwipanud wh b wbnuiyawlegin 1,040 hbn, dpw (d<1.08) | 9 e —
Cunwdbup 0,000 0,000
Ubunwnwlwh dwpuin=15200d junnniwljtiph wnbnunpnul
98-V Yupgh pliwhnnh thfupbgnu
1 18 0 4341,600 0,000
Wwjrwugpwihb |hgpbpny h=0.5u




9a-V uipgh puwhnnh thiupbgnu
hhrpndnipéng

g2

4341,600

0,000

20a-VIl Yupgh puwhnnh thjupbignd
wjwjpwigpwihs thgebpny h=0.5d

it

5578,200

0,000

20a-VIl Ywpgh puwhnnh thfupbgnud
hhnpndnipéing

U3

5578,200

0,000

206-ViIll ywpgh puwhnnh thiuptgnu
wuypwlgpwiht thgpbpny h=0.5d

1]3

9140,400

0,000

206-VIIl jupgh pLwhnnh thtupbgnu
ww)pwlgpuwpl thgptipny h=0.5d

03

1293,300

0,000

206-YIIl ywpgh puwhnnh thiupbgnul
hhnpndnpény

63

9140,400

0,000

<nnuht wpfuwnwpbbip Uwhuopnp thfupbgywd
puwhnanmd halsh ninndwt hwdwp Epu.1.043 9.,
pwpdnul w/h b wbnueh. gulnyn 1.04d. hbn. s 9p-v

lj3

1638,900

0,000

<nnwjht watuwnwbpten bujuopnp thfupbgyws
puwhnnnud hntuh minndwb hwdwp bpu.1.0d3 2.,
pwpdnul w/h b nbnwih. igulynywn 1.044d. bbn. ypw 20a-
Vil

d]

1964,700

0,000

<nnuwiht wluwnwliptibn bwiuopnp thiupbgywé
puwhnnnd hmtith ninndwt hwdwp Epu.1.0d3 2.n.
pupdnud w/h b inbnuieh. igulnywn 1.0Yd. hbn. Jpw 206-
Vil

lj3

1964,700

0,000

Lanuyht wztuwinwlpubp hntuh npndwt hwdwp kpu.1.0
43 2., pwpand w/h b nbnweh. gulnyin 1.04d hbn.
Jpw 10e-1V

275

1293,300

35 565,750

<nn. wfuwinwupubp funqrdwlh thrunpwlttph
thnpdwt hwdwp tpu.1.0 03 2.0, pwpdnud w/h b
wnbnuith. jgulnywn 1.04d htin. Jpw 10e-1v

g3

106

1293,300

137 089,800

<nnujht wziuwnwbpbbp bwiopnp ghifupbgywd
puwhnnnud unnnywlih thnunpwbh thopdwt hwdwp Epu.
1.0d3 2. . pwpdnd w/h b nbnuihnfumd gulagn 1.044
hbn. Jpw 20a-Vil

1964,700

0,000

<nnwhb wzluwnwlptbp bwiuopng thfupbgywd
puwhnpnut funpadwlth taunpubh ginpdwt hudwp tpu.
1.0u3 2. . pupdnud w/h U ibnuhnfunud lgwlngyn 1.044
hbn. Ypw 206-VIIl

2

1964,700

0,000

<nnuiht whuwnwliplin bwhiopng thfupbguwd
puwhnnnu funnnduwlih thnunpwlyh thpdwt hwdwp bpu.
1.043 2. wn. pwpdnud w/h b inbnwihnjunud gwlnywn 1.044d
hbn. ypw 91-V

LP

1638,900

0,000

<nn. waluwinwipbbp funqnjwlh ginunpulbph
thnpiwb hwdwp tpu.1.0 d3 Yngph Jpw Yonwlbmy
htwnwnwpd (hgph hwdwp 10e-IV

e

70

645,300

45 171,000

n

<nn. watuwnwipbp bwfuopng thfupbgywé puwhnnnud
funqnuwh drunpueiubiph inpdwt hwdwp Eput.0 @2
Ynnph Ypw Ynunwlsng hnwnwpd |hgep hwiwn 94-V

NE

837,900

0,000

12

Bwbwwwphwyht hutinyphg 10e-1Y Ywpgh puwhnnh
dawlnud tpu. 2.543 2., pwpdnud w/h W inbnuihnfund
hbwmunwpé jhgph hunfwp 2,044

g

947,700

0,000

13

Udwquuynutwiht bwhuww, h=10ud

dS

2,25

6410,700

14 424,075

13

huGwght hiwip h=30ud

|j3

38,92

5255,100

204 528,492

14

Sfuwdwuh Gwnmgnu dhwdny| phiinuhg  B20 F100

0,000

hhupkp

d3

7,58

115786,800

877 663,944

hpwititbp

d’3

10,72

115786,800

1241 234,496




15 | Npubwlwwughl wdpwbubp 916 A500¢ 1=235ud Yya 29,68 790,200 23 433,136
Ubnwnwlwh dwpin=152004 funqngwlh
16 inbinunpnul.lqd= 537 g, wuwinh hwun 1504 qbd 30,4 870459,300 26 461 962,720
18 ;l;g;gph b hbtiutyuyhl winwdubnh dhwéng phint B20. 5 3,49 81347,400 283 902,426
Pududpuh gpwdblynwwgnud 2 sbpn twp phwnuing 0 0,000
17 | funqnyudd qéd 28,0 8738,100 244 666,800
pbuinl o 59,91 1255,500 75 217,005
Lhwnwnpd hop 0 0,000
w)pnynnqtipny 10elv 1Y 0 807,300 0,000
18 | wjpnynngbpny 98-V J? 20 807,300 16 146,000
p)dtnph watuwwnwtipny 10etv 3 0 1793,700 0,000
p)dbnph woluwunwupny 9a-v g 3 1793,700 5 381,100
19 | Pwpuwjht |hgp u? 0 6138,000 0,000
Lununikup 29 666 406,744
Cuiwpmifh b/p junnnwlubph d=1.04 nbnwnpnui
9a-Y Ywpgh plwhnnp thfuptignus
o? 0,000 4 371,300 0,000
1| Wuypwbgpuyhl jhgpbpny h=0.54
98- Guingh pushnnf thiuptignud 42500 | 4371300 |  185780,250
1" | hhnpndnipéing
20a-Vll upgh puwhnnh thjupbgnud
ol 0,000 5 616,000 0,000
2| wuwypwibgpwihls |hgpbipny h=0.54
20Vl uungh pluhnnh (hupbgnid ® | 128000 | 5616000 | 718 848,000
3 | hhnpndagéng
206-VIll Ywngh pwhnnh thiupbgnud
Wl 0,000 9 203,400 0,000
Wuwypwlgpuht thgptipny h=0.54
| 296-VIl hungh ptwhnah thtupbignud ® 25000 | 9203.400 | 230 085,000
2 | hhnpndnpényg
<nnwjhl wizluunnwliptibp 10e IV Ywpgh plwhanmd hniwh
3 | mandw hudwp £pu..0 3 2.0, punénul w/h b tnbnunh, 3 66,000 1302,300 85 951,800
igwlnyn 1.04d hbn. Jpw
<nnuhb woluwinwbiplitip Wwuopng thjupbigywd 9a-v
4 | Ywngh puwhnnned hntch nnuwb hwdwp tpu.1.0d3 2.0, u? 39,000 1 650,600 64 373,400
pwpdnui w/h b inbnuith. igwynywn 1.04d. hn. Upw
Cnnuht watuwinwpbin bwtuopnp thfunbgt|wé 20a-VIi
6 | Yupgh puwhnnmd hnh nrpwl hwdwn tpu.1.0d3 o.un, 3 25,000 1978,200 49 455,000
pundnd w/h U wtbinwith. igulynyun 1.04d, hbn. Ypw
Cnnuijhl waluunnwlipliip Uwhuopnp thjupbgyws 206-Vill
7| Ywpgh puwhnnnuf hnih ninpndw hwdwp tpu.1.0d3 .0, g 3,000 1978,200 5 934,600
pupdnud w/h b wbnweh. gulnywn 1.04d. hbn. Ypw
<nn. wluwwwliplbn 10e IV Yupgh puwhnrnud
5 | thnunpwlubinh thnpdiwl hwdwp kpu.1.043 2., pupanug o 4,000 1302,300 5 209,200
w/h b ibinwih. luilinyw 1.04d  hbn, Ypw
Snnuwihl wafuunnwliplibp burfuopng dilupbgyws 94V
Ywpgh puwhnnpd funnnydwih thnunpwyh thnpdwy .
6 hutiwn tpu. 1.0U3 2. . pwpdnd w/h b unbnuihnfund d CAZHIY L DRI
[guwilinyen 1.04d hbn. Jpuw
Cnrwihl wofuwwnwliglip Uwiuopnp thlupbgdws 20a-viI
Ywngh puwhnnaud funnndwlh thnunpuljp thnpdwl .
7 hwdwn kpu. 1.043 2. wn. pupanid w/h U wbnwihnjunu u LERULL 1978,200 AL
jgwlnywn 1.04d hbn, Jpw




<nnwihb wofuwinwbpbbp bwiuopnp thlupbigyws 206-ViII
Yuipgh puwhnnnud junqawlh thunph hapdet .
i huwiiwp Epu. 1.003 2. w1, pwpanu w/b L wbquihnfunid d iy 1978,200 SR
[guinywn 1.04d hbn. Jpw
<nn. wluwinwbpitn 10e IV Ywpgh piwhnnnud
8 | thnunpuuliubiph inpuwl hwdwp Epu.].0d3 Yonph Ypw 1L 93,000 649,800 60 431,400
Ynunwlybiny htwnuinwnd thgph hwdwp
<nn. waluwwnwbipbiip Uwfuopnp piupbguwsd 9a-V Yungh
puwhnnaud funnadwlih thaunpwelubph dinpdwte hundwp S
13 pu.1.003 Ynnph pw Ynunwltind hbuwnwnd fhgph u 20,000 843,300 16 866,000
hwdwp
Swbwwuwphuyhl hwnyehg 10e-1V Ywpgh pliwhnnh
14 | dpwlnud kpu. 2.53 2.0, pwpsnud w/h b wbnwihnfund g3 42,000 954,900 40 105,800
hbwnwnwns thgph hwdwp 2,044
9 | Udwqulnwwiht bwivwwwwpwunmd  h=10 ud u? 14,190 6 456,600 9i 619,154
GHuwdwuh Ywnmgnd dhwényg plnnipg  B20 F100 0,000
10 | hhdpbp 18 10,680 116 587,800 1245 157,704
hpwiibp a3 14,850 116 587,800 1731 328,830
11| Ywph b hbbwiwhl unnwdh dhwény| pbninl B 20.F 100 3 §,640 81 910,800 707 709,312
Cwywipnh b/p N12 onuiljh inbqwnpnud v=0.35 43 P=1.1tn
swihbpp 120x100x10ud widp. wwnpmb, Ac240=25.7 Yq/u3,
12 | Ac500=67.71g/13 B20. F200 huwin 51,000 101 020,500 5152 045,500
Onwlubiph Ywpbph dawynus (Yubbithweb) bipsdgws
phunnuding)
13 | Onwlubph hhdpbiph dhwany| piunnt B 20.F 100 a2 36,940 81 910,800 3 025 784,952
14 | Unubidwihb gpuwidblynuwgnud e 51,000 6 221,700 317 306,700
15 | Pudwdpuiht gpwdblnuwgnud 2 sbpun niwp phuining U2 297,940 1264,500 376 745,130
<hunwnuipd |hgp . 0,000
w)pnynngbipny 10ely g 112,000 812,700 91 022,400
i6 | w)pnynngbpny 9a-v a3 18,000 812,700 14 528,600
p)ébnph wajuunnwlipny 10elV u3 13,000 1 806,300 23 481,900
plabnph waluwinwupny 9a-v i 2,000 1 806,300 3 612,600
Chnudkbp 14 533 673,832
Lwjwpnyh &/p funnniwlbibph d=1.250 wbnwnpnud
98-V Yungh puwhnnh thiupbignud
1 Iy 0,000 4 365,000 0,000
wwjpwigpwihl thgptinny h=0.5d
p | 9V huingh pwhnnh hluptignud i 0000 | 4365000 0,000
hhnpndnipéing
202-VIl jwpgh puwhanh thjupbgned
02 0,000 5 608,800 0,000
wuypwgpwihl |hgpbipny h=0.5u
20a-Vll Yuingh plushnrh hiupbgnud g 68,000 | 5608,800 381 398,400
hhnpndnipény
206-VIll hwpgh puwhnnh thfupbgmd
2 g 0,000 9190,800 0,000
wwypwhgpwhls (hgptipny h=0.54
y | 206-VHll Yuingh pluhnnh thfunbignud @ 0,000 | 9190800 0,000
hhnpndnipény
<nnujht wahiwnwlpbibin hnih nipdwt hundwn bpue.1.0
3 1 U3 2.n. pwpdnd wy/h b wbiqwih. jgwlnyw 1.044 hbn. g3 82,5 1300,500 107 291,250
dpuw 10etv
<nnwjht wafuwwnwlptbp Uwvonpnp thiupbgyws
4 | phwhnnnd hmbh minndwl hwdwp tpu.1.0d3 f.n. g3 0,000 1647,900 0,000
pwpdntd w/h W inbnuih. iguilynyen 1.0yd. hbn. gpw 9a-v




<nnuiht wtuwnwbpbp wiuepnp hfupbiguwd
puwhnnnud hnih npndwl hwdwnp kpu.1.0d3 2.,

3
6 pwpdnd w/h L mbnuih. gulngn 1.04d. hba. Upw 20a- i LEGL LErEE LY I
Vil
<anuwjhb watuurnwpbbp bwluopnp thfupbgyws
puwhnnntd hnsh ninnuwy hwdwp Epu.1.0d3 2.un. .
3 pupdn w/h b nbnuah. gwlnynn 1,044, htn. Ypw 206- d 0.000 1975,500 LUy
ll]
<nn. wptu-tbp hnunpwlubph pirpdwl hwdwp kpu. 1.003
6 | 2.0 pwpdnu w/h L inbnuihinfu. jgulnyun 1.04d hbn. Ypw g 111,000 1300,500 144 355,500
10elv
Lnnuiht wluunwbplbn Uwhuapng thfupbgywd
puwhnnnuwi funnywlb thaunpwyh thnpdels hwdwp bpu. .
7 1,003 3. wn. punanud w/h b nbruipnfund jgulnyn 1.0y | 0 1647.900 0.000
hbn. tjpw 9a-V
<nnwjhtr wiluunwpubn bwjuopnp Ghifupbgywd
puwhnnnud funpnyuwlh dinunpulh giopdwt hwdwp tpu. =
101 1.083 3, 1n. pupanu wh b whnihsun gubagn 1.0y | Y 3 1975,500 LA by
han. ypw 20a-VIl
Cnnuighle woluwwnwbplibn Lwiuopnp thfupbgywd
puwhnnnud pinaduiyb thnunpuwebih thnpduwis hwdwep Epu. 5
8 1.0d3 2. . pwpdmd w/h b ibnunhnfunid gwlnya 1.04d i 0 LRI 0,000
hbn. Jpw 206-VIlI
<nn. watuwnwbgtbp unqnjuidih thnunpulibpp
9 | thopiwt hwdwp tpu.1.0 P Yrnph Ypw Ynunwling g2 99 648,900 64 241,100
htnwnwnad (hgph bwdwp 10elV
<nn. wyhuwinwbipbtin bwhuopap thjupbgulwd puwhnnnud
10 | penadwlh  thnunpuubiph hapdwt hwdwp Epu.1.0 o3 g 0,000 842,400 0,000
Ynnph Jpw Ynunwhbpng hvwnwpd (hggh hwdwp 9a-v
Bubwwwphught hwtnyehg. bwjuwwbu Ynenwlws 10e-
14 | IV ywpgh pbwhnnh pwpanad w/p kpu. 2.503 2.0, L Ul 14 953,100 13 343,400
wnbnuihnfunwd  hbuwnwpd thgph hwdwp 2,044
1| UWwquinutw)ht bwhweunpuunmd h=10 ud 2 11,600 6447,600 74 792,160
Suwdwuh Juemgnd dhwany) pininuhg  B20 F100 ¢ 0,000
12 | hhdpbp g 10,530 116423,100 1225 935,243
hpusitibp Iy 14,470 116423,100 1 684 642,257
falbph Ywnmgnd dhwany) pbwnuhg B20. F100 0 0,000
13 | hhdphp 18 6,340 64805,400 410 866,236
hpwlubp I 5,950 67182,300 399 734,685
14| Onwlubiph bhpliph dhwény pawnb B 20.F 100 w2 51,08 81793,800 4178 027,304
15 | “wph b hbbwluht wnwdh Jhwany plant B 20.F 100 u? 7,410 81793,800 606 092,058
Lwjwpntlh b/p N14 onwlih inbnunpmd V=0.52 43
P=1.3wn ywihbpp 149x100x12ud widp.wwipni.Ac500=17.1
16 | 4g/d3. Ac500=78.3Lg/d3 B20. F200 huwin 51 142940,700 7 289 975,700
Onulubiph Ywpbph dawlmd (Yubbthwpb) bbpddywd
phuwnudnyg)
Qwiywpndh B/p N15 onulih tnbnuinpnud V=0.61 d3 P=1.5tn
swihtpp 153x100x14ud wadp.wwpni.Ac500=17.2 q/d3.
17 | Ac500=103.34q/u3 B20. F200 hwin 0 163501,200 0,000
Onwlubiph Yupbph dwlnd {Yuibihwpt) ubpddyws
phunnwiny}
18 | G/p bwhuwpwpwd funnadulubph tbnwnpou qdd 153220,950 0,000
19 | Rudwdpuihl gpwidtiniuwgnud 2 pbpin nwp phunuing W2 650,540 1262,700 821 436,858
20 | Unubdw)ht gpuadblynwuwgnid W? 56,96 6212,700 353 875,392
21 | Shdblnwghb zwrwiu U150 g 0,000 0,000




22 | Rwnwihu thop U2 0 6171,300 0,000
Zhuinwnwnd (hgp . 0 0,000
w)pnyrngtipny 10elv W 101 811,800 81 991,800

23 | wipnynnqbipny 9g-v u? 0 811,800 0,000

pldbnph woluwwmwtipng 10elV u? 12 1803,600 21 643,200
p)dbnph watuwwnwbipny 9a-v Y 0.000 1803,600 0,000
Lunuwdbbp 17 993 976,543
Zunjwpnih &/p junnpojuljbibiph d=1.54 wbknugpoud
9a-V Jwngh phwhnnh thhupbgaud
1 g 0.0 4360,500 0,000
wwjpwbgpw;iht hgptpny h=0.5

v | 2V hwngh Fiwhnnh dhuptgnud w 0.0 4360500 0,000
hhnpndnupdng
20a-VII Jwpgh pluuhnnh thapbgnud

2 u? 0,0 5 601,600 0,000
wwjpwigpuyhl thgpbipny h=0.54

2 | 20-VIlhuingh phushnnh hjupbgnut e 47,0 5 601,600 263 275,200
hhnpnunipdny
206-VHI wpgh phwhnnh thpupkgmud

3 iy 6.0 9 180,000 0,000
wuypwbgpuyht |hgppny h=0.5¢

- | 206-VIII Yuipgh ptnuhnnh thjupbgmd

3 hhnpmimpdny g 0,0 9 180,000 0,000
Znnuyhb uphounwbiphtip hmbh nuguwb bundwp bpu.1.o

4 | ¥32wn. pmpdnd w/h b whnuih. \gulniyin 1,040 hkn. Jpw B 10 1298,700 12 987,000
10eIV
Znnujhb wyhiwwnwhpbkp bwjepnp thiuptigyws

5 | phwhnpnud hnith supnwk hwdwp kpu.1.04d3 240, 3 0 1 646,100 0,000
pupdnul w/h b wbiquih. jguilinyn 1.04d. hkn. Jpw 91-V
Znnuighlt wzwnwbipbitp bwluopnp Ghlupbgywd

6 | puwhnynul hnibh ngpuwb hudwp Epu.1.04d3 5an. 'Y 2 1973,700 3 947,400
pupdmf w/h b nkguid. jguljntyin 1L.OYW. hbn. Jpuw 20aVII
Znnuyjhb wypmunwbipbbp bwhiopnp hjupbg]us
Puwhnnnud hmbp nugnuwl hunfwp kpu.1.0u3 g0,

7 pupdnud wi/p b wbnui. (gulniyn 1.044. hkn. Jpuw 206- lp ¢ 1573,700 .
VIII
2nn, wizfu-bbkp thnunpuljubph Ginpuwb hwdwp kpu. 1.003

8 | 2. pupanuf w/h b mknuihajuguilpnrn 1.044 htn. Ypw W 0 1.298,700 0,000
10elV
Znnuyphb wphnnwbphibp bwjuopnp thupkgijub
Fuwhonmud jungnifwlih hinunpuh inpdwb hwdwp bpu,

? LOU3 2. . pupdAnud w/h b nknunfinjunud jguljntu 1,04y w 0 1 645,100 e
hkn. Ypw 95-V
Znnuhl wylsunnwbplbkp busjiopnp thjupbgyub
phwhnnnud junnnywigh thnunpubh Giopdwl hwdwp kpu.

10 1.0u3 3. w. pupanud w/h U nknuihnjunud jgwlnin 1.04d w 45 e 86 816,500
hkn. Jpw 20aV1I
Znmuyhll wohnunwbplitp bujuopng hjupbgywd
Fhwhnnmud junqnwlh thnunpulh hapdwt hwdwp kpu.

1 1043 2. . pwpdmd w/h b wikquuhnjumd (gulnyw 1.044 W 0 e .
hkn. ypw 206-VIII
Znn. wphmatnwiipbbp junnojwlih hnunpwlubph tinpdwh

12 | hunfwp tpu. 1.0 P Ynnph Ypw Ymnwlkm] hbnwngupd I 61 648,000 39 528,000
(hgph huduip 10elV
Znn, wpuunwiplikp Wuwopnp thiupkglws pluwhngnid

13 | pnnmjulh dununpulibkph thapdwb bunhup kpu.l.0 @ e 0 841,500 0,000
innph Ypw Ynunwllym] hbnwnwpd (hgph hwdwp 9a-V

14 | Ujuquinyduph bujuwuunpueinnd h=10 ud w 8,29 6 439,500 53 383,455




Qqpuunfwup Junnigned dhwany) phnnkhg  B20 F100 0 0,000
15 | hjnpkp I 4,210 116 289,000 489 576,690
hpubhkp g 6,336 116 289,000 736 807,104
Bukph Yupmgnud dhwany) phunbhg B20. F100 0 0,000
16 | hjuipkp e 2,240 64 729,800 144 994,752
hpwbilkp Ie 2,580 67 105,800 173 132,964
17 | Onuibkph hinlpbph jnwwdny) phnnb B 20.F 100 g 28,960 81 700,200 2366 037,792
18 [ <wph b hkbwluht winwh dhwdniy phnnt B 20.F 100 ? 3,001 81 700,200 245 182,300
Zunjwpnh &/p N16 oquilh wbqunpnud V=0,72 U3 P=1.8u
swihkipp 178x100x1 4wl wfp. wwpnib.Ac500=16.5 ljgAf3.
19 | Ac500=76.7Yg/u3 B20. F200 hwtn 19 220 797,900 4195 160,100
Onulbkph hupbph dzwhnud (Yubbhwpb) bbpssyud
phuinuini)
2ujupnyh k/p N17 oquljh wbqugpmid V=0.84 43 P=2.1un
sunhkpp 182x100x16ud wiip.wwpnili. Ac500=15.7g/u3.
19 | Ac500=119.04lg/u3 B20. F200 hunn 0 254 021,400 0,000
Onuljiiknp fupkph dpwlnud (Yulbhupl) bkpadywd
phwinuini)
2unjwpnith b/p N71 oquiljh wknuinpmud V=1.19 43 P=3.01n
yurthbipp 194x100x22ud wfp.wwpnil. Ac500=14.20gA13.
20 | Ac500=118.04yg/u3 B20. F200 hunn 0 347 505,300 0,000
Onuyubph Yupbph dpwynud (Quibhwpk) bkpsdwd
phwnnudnd)
21 | &/p bwhiwpupfws prnodulbikpp nkqugpod qdJ 0,00 300 763,350 0,000
22 | Pujubdpurhl gpulkhniuugm 2 gbpin nwp phinniim] VG 169,512 1.260,900 213 737,681
23 | Unubduyhb gpudkyniuwgnd g 27 6 205,500 167 672,610
24 | Stdktinwght punwh U150 W 0,00 0,000
Zbuwnuipd 1hgp . 0,000
w)pnyqngbpny 95-V w» 35 810,900 44 599,500
25 | wipnyyngpny 10elV W 810,900 0,000
P)aknph wphmnnwbpny 95-v 18 1 801,800 0,000
platnph wpluunwbipm) 10eIV W 1 801,800 10 810,800
26 | Pwupuyhl hgp e 0.0 6 164,100 0,000
Snynipyni nibbignn qiuusfwukph pwbignid hEwinwhwp
27 | dntpdny. pupdnd w/h b nkquinunuf lgwlnpn 104y g 0 26 757,000 0,000
htn. Ypw
Snynupynit mbkgnn Wp oquljubph wywintnwdnd.
%8 | pupdnud w/p b wknuipigulnyn 10U hen, dpo @100 | o 38 464,200 —
Cununkhp 9 249 649,848
Zunjwpnih b/p junqniwllitph d=2.00 wkqwnpod
202-VII Ywipgh phwhnnh thjupbgnud
1 w 0,000 5 599,800 0,000
ujupwhbgpuyhhb thgpbipny h=0.5u
1+ | 20e-VI qwngh plushanh hlupbgnud N 489,000 5599,800 2738 302,200
hhgpodnipény
206-VII Yupgh phwhnnh thhepbgnid
2 3 0,000 9 177,300 0,000
yuypwligpuyhli |hgplpny h=0.5¢
5+ | 206-V1I Ywpgh pushanh thjupkgnvy P 182000 | 9177300 1670 268,600
hhnpndnigpdng
Znnughb wpluwnwbipbibp hntbh nupnuwl hwdwp tpu.1.0
3 | U3 2. pupdnul w/h b mknwith. jgulnyin 1.0 hen. Jpw s 84,000 1298,700 109 090,800
10elV




Znnuyhl wpuwmulipltp twjuopnp hjupkgyws
4 | plwbnpnu hath nupuwh hwdwp bpu.1.043 o0, g 184,000 1972,800 362 995,200
pwpanul w/h b wbnunh. jgulmpn 1.0 hkn. Jpw 20aVII
Znnuyhb wphwnwipbkp busjuonnp thjupkgyws
5 | phwhnpnu hntuh nupnwb hwdwp bpu.1.0u3 g.u0. W 86,000 1 972,800 169 660,800
pwpdmy w/h b nbknui. jgungn 1.044. hbrJpw 206VH
Znn. wplu-bkp dhounpulikph tinpiut hudwp bpu. 1.0d3
6 | 2.n pupamud w/h U wbnuihnju.jgulnyn 1.04d htn. Jpw N 62,000 1 298,700 80519,400
10elV
Zanuht walunwiipblp bwjuopnp thupbgws
phwhnnnud uannyuyh thaunpuyh hinpuwb hunfwp tpu.
’ 1.043 2. w1. pupdnud w/h b wknuihinfunud (guilinin 1.044 w B 1 572,800 Co il
hkn. Jpw 20aVIi
Znnuyhb wphnunwhipbkp Uwjiopnp hjupbgwd
pawhnnnud unnnjwlh dinunpulh thapdwt hudwp bpu.
8 L.OU3 2. w. pupdnid w/h b inknuithnunid jguljnign 1.044 o B —— RS
hkn. Ypw 206VTI
2nn. wyteunnwhbiplibp ungmjuwh qinunpuljbbph hiopdub
9 | hunfwp kpu.1.0 1P Ynnph |pw hnunwllyng hbwwpopd u 28,000 648,000 18 144,000
1hoph bundwp 10eIV
Swtuywphuyghb hwbnyphg 10e-IV fupgh pwhnnh
10 | dpulnud bpu. 2.5¢3 .40, pupdmd w/h b whnuwiinjunul 3 144,000 952,200 137 116,800
htunwnupa (hgph hwdup 2.044
11 | Uduqulpy&ughl bwpnuywnpuunnd h=10 ud IS 46,970 6 437,700 302 378,769
Fhudwuop jwnmgnmd dhwany) phninbhg  B20 F100 0,000 0,000 0,000
12 | hhdptp 15 21,060 116 253,000 2448 288,180
hpwbtkp P 40,596 116 253,000 4719 406,788
@ubkph jurngnid Jhwdmy) plnnbhg B20. F100 0,000 0,000 0,000
13 } hhdpkp B 15,750 64 710,900 1019 196,675
hpwutkp B 28,830 67 084,200 1934 037,486
14 | Onwllikph hhdpbph vhwany) pnnb B 20.F 100 g 159,760 81 675,000 13 048 398,000
15 | qwph b hkbwlwihb winwdh Thwany) pkwnnb 8 20.F 100 02 28,542 81 675,000 2331 167,850
Zunjwpnyh &/p N72 onuilhjt inbqumpmd V=1.09 43 P=2.71n
swithbpp 232x100x16ud wilp.upwpnil.Ac500=14.5 Yg/u3.
16 | Ac500=81.4Yq/u3 B20. F200 hwwn 96,000 426 324,600 40 927 161,600
Onuljubph Yupkph dpwlnud (Yubkgunpk) Ubpdstjus
phunnuimgf)
17 | futwbdpuht ppudtniuwgmd 2 gkpin viwp phinnudng W2 945,357 1 260,900 1192 000,641
18 | Unubdwjhl ppwdblnunwgnid 2 165,800 6 203,700 1028 573,460
19 | Pupwhii {hgp 15 48,580 6 162,300 299 364,534
Znumwpd |hgp _ 0,000 0,000 0,000
20 | w)pnynnqbpny 10elV g 155,000 810,900 125 689,500
plaknph woluunnwbpny 10elv IS 17,000 1 800,900 30 615,300
Clnudfblp 75 483 469,383
G/p 6.0x3.0 pug]wdpny junnmjulh nkpumpnud
Znnuyhli wphounwbphkp hmbp munqiwh hwdwp kpu.1.0
1 {3 z.n. pupdnud w/h b wbnunh. jguymyn 1,044 hbn. Ypuw » 194,000 1295,100 251 249,400
10elV
Znn. wplu-tikp Ginunpwlubph hopiwb huwdwp kpu. 1.043
2 | 2 pupdmd w/h b nbnuihnju.jguwlniyn 1.04d htn. Jpw P 1 414,000 1 255,100 1 831 271,400
10elV
Znn. wphinwbiphbp hinunpwljbikph topdwt hudwp
3 | kpu.1.0u3 Ynnph Ypw hnunwbing hbnwnwpd |hgph B 308,000 646,200 199 029,600
hunfwp 10elV
4 | Ujwqulny&unpb hwpnowy. h=10ud U3 9,120 6 421,500 58 564,080




5 | lgayht hhup h=10ud 3 47,130 7 210,800 339 845,004
onnduwyh ppwbubph hpdgbph
6 dhwdnijyy pbwnl B20EF100 u? 224,220 64 543,500 14 471 943,570
ZEuwpubiikph hpwbbbkph hundupmih N5 palyubph plnnt
7 susth. — 285x165x100u, V<3013, P=7 211: hunn 90,000 356 181,300 32056 317,000
ZEbwpwbibibph hpwbkph hkbwlbbph Jhwany) /phant.
8 | w.uy. @8 A240C-9.23 hg/u3. @12 AS00C-34.31g/u3: B25. u? 19,030 97 108,200 1 847 969,046
F200
&/p hudwpmip qilewnpplikph N8 pinlbbip swih. -
9 302x75x60ul. V=1.09U3. P=2.7u: hunn 30,000 217 749,600 6532 488,000
YJumnhpubkph piayubkpp hkbwpwbbkph pyolibkph htn
10 | rudapifa (atin ) phannl, 525, F200 g 1,830 79 996,500 146 393,595
N31 dwblih wwkph hunjwpnyh b/plnni. sunh. -
11 | 53x100x660 ud . V=3.07U3. P= 7.7 wy; hunn 45,000 1185 815,70 53 361 706,500
wy. Al= 33,1 Yg/u3. All=152.3g/u3
17 | Owdyh vubiph vl hitnapwhivghl wubp plgkpn 2 36,610 6 863,400 251 269,074
nnipbpnhnhg:
UnprnbUbph vhwany) phnnb junpewlh dnuapnud b
13 Bpnuif bqpuhl uwbph dpu: B20. F100 B 3,300 66 910,500 220 804,650
Owblih uwybph pinljlkph kplobpin unubdwyhi
gnulblmuwgnul hqnquiiny wwgunupwubhy okpnp
1 wdpuwbuninpiws phnnting H=4ud: Udputiuy b gutig e e R 7451 724,600
(100x100 ul) @4 Bp-I. P=0.217 wn:
Lnybp® hkbwpubtbph hpwbikph pabkpp dhob Yupbph
15 | unubdwjht gpwidblmunwgnud wwonyubhy skpnh 2 264,880 20 844,900 5521 397,112
8x25x50ud hunJwpmijh plnntb wwhllkphg B20.F100:
16 | <wph b hkbhwlwjht winmudh dhwany) phunnb B20 F100 e 12,780 81 463,500 1041 103,530
17 ;’:)%"‘lm‘lh hunnuh Yunnignul thwdny phunbhg B20. B 84,880 70 365,600 5972 632,128
(lunnpn pukph unnigaw! Jpwany) pinnbihg B20. F100 0,000 0,000 0,000
18 | hpulpkp 1Y 40,020 64 543,500 2 583 030,870
hpuliikp v 31,680 66 910,500 2119 724,640
Tonnnjwyh hpwbbibkph b hhdpbph. nupnopn ptiph
18 | qpntinnh htw ptnng wlkphnypltph puwapuyhi e 548,130 1.258,200 689 657,166
gpwidklnwuwgmd:
20 | Swpuyhb hgp e 59,450 6 146,100 365 385,645
Zknwnupd |hgp . 0,000 0,000 0,000
21 | w)pmynnqbpny 03 277,000 808,200 223 871,400
pldbnph wauunnwilipnig u 31,000 1796,400 55 688,400
Clnudtup 137 593 066,410
Zhhwwguun 1. WS 6+725 - YJ 64782
1 [ 9&Vhungh plwhanh thlupbgmul wuyputigpuyhb W 0,000 1 485,900 0,000
1hgplipny h=1-2u
1" | 9a-V Ywpgh pbwhnnh thjuptgnul hhapninipdm| e 0,000 1 485,900 0,000
2 206-VIII Yupgh phwhnnh hlupbgnud wuypubgpu)ht £ 0,000 2715300 0,000
\hgpkpny h=1-2d
2" | 206-VIII Yupgh pwhnnh thjupbgnud hhnpndnipdny U3 0,000 2 715,300 0,000
Luwfuopnp thjupkgywd 206-VII Yuwpgh puwhngh pupdnd
3 | wh 1.0d3 2. w. Epu.. b wbquihnumd (gwlnyn 1 Y htn, U3 0,000 1972,800 0,000
Y
4 | ‘unylp dknpny 3 0,000 15505,200 0,000
Lwuopnp thjupbgwd 94-V Ywpgh phwhnnh dpwlnudp
5 | tpuld 1.0 ;00 Yanph Ynunuynidng hbwwnupa (hgph B 0,000 841,500 0,000
hurdwp




Lnylip dknpmy gl 0,000 9898,200 0,000
7 | Lwuuywunpuurmwhb stipn L 0,000 6436,800 0,000
8 ZEnwwwh hhph hpwluhwgnud dhwény) 0,000 74455,200 0,000
Epljuppbinnlihg
9 Zkbuywwnh hpwbh ppuljwiwgmd dhwdny " 0,000 73001700 0,000
bpljupphinnthg
10 | Zhupkph nt ppwth wlpuh liq 0,000 450,900 0,000
1 Zkbunyunnh - hbwbwdwuh  gpbbwdh  (gudwpmpuh) J 0,000 10293,300 0,000
hpwlwtnugmu
12 | pkhwdwyhb fennaywlbkph nknugpaod J 0,000 2480,400 0,000
13 | 2Ebwwwwnh uklghwliknph dhel dhewnhp 2 0,000 433,800 0,000
14 | Pujubpuypb opuwlkniuwgnid e 0,000 1260,900 0,000
Swlwuywnhughb hwbnyphg. bwjunybu faonwijws 9a-V
15 | Ywpgh plwhnnh pupdnid w/h tpu. 2,543 p.an. b 2 0,000 1505,700 0,000
wnknuwihnjunid hbnwnupd jhgph hudwp 1.04d
16 | Znwrupd (hgp pnugnqbpm] 95-V 3 0,000 810,900 0,000
17 | Zbwunupd hgp dbnpry 9a-V W 0,000 1800,900 0,000
Clununftlp 0,000
Zhhuupunn 2. T 64930 - Ud 6+993
1 [ °A&Vlwngh plwhnnh dlupbgnud wuypubgpuyhl W 0,000 1 485,900 0,000
1hgptpny h=1-2d
1" | 92-V jwpqh pinuhnnh thjuptignud hhnpndnipéng g 0,000 1 485,900 0,000
2 206-VIII Yupgh pluhnnh qiupbgnul wuwjpwlgpwjhi P 0,000 2 715,300 0,000
Lhgptpnt] h=1-2d
2’| 206-VIIHjwpgh plashnnh thjupbgnul hhnpnunipény P 0,000 2715,300 0,000
Lutjuopnp thjupbgyws 206-VIIl Yupgh plwhnph pupdnud
3 | wh 1.0u3 2. . kpu.. b wbknuithnjunud gulnipn 1 Yd hkn. U2 0,000 1 972,800 0,000
Ypuw
4 ) Unylp Aknpm} B 0,000 15 505,200 0,000
Lwjuopnp thiupbgfwd 9a-V Yupgh phwhnnh dpwlnidp
5 | tpuld 1.0 0w Ynnph Uninulnudm] hbwnwnupad thgph » 0,000 841,500 0,000
hudwip
6 | Lnybp Abknpm| B 0,000 9 899,100 0.000
7 | Lwhwwunapuumnmljutb gkpn g 0,000 6 436,800 0,000
8 ZEiwwgminh bhuph hpuljwbugnud dhwaney P 0,000 74 457,000 0,000
kplwpphinnlhg
9 ZEbwuyuinh hpwith ppuljwiugnid dhwany & 0,000 73 003,500 0,000
tpjuppbinnthg
10 | Zhdpbph ne hpwith unfpmb lig 0,000 450,900 0,000
1 Zbbwwwwh  hbnbwdwuh  gpbbwdp  (gudwpnipnh) J 0,000 10 293.300 0,000
hpwlwbagnul
12 | Tpbuwdwipb jpngnjwljbkph wknungpood d 0,000 2 480,400 0,000
13 | Zkbwyjuinh ukYghwlikph dheb vpgunhp 2 0,000 433,800 0,000
14 | RPujwbpuyhb gpudklmuugnud 2 0,000 1 260,900 0,000
Swhwwwphwhl hwbnyphg. twhwybe Yeaunwlud 95-V
15 | Ywpgh pbwhnnh pupdnid w/h Epu. 2.543 g0, b g 0,000 1 505,700 0,000
wnknuihnjunul hbnwngwpa thgph hwiwp 1,044
16 | Zbwwmupd \hgp poupnqlipny 9a-V 3 0,000 810,900 0,000
17 | Zbwnwnupd \hgp dknpry] 95V 3 0,000 1800,900 0,000
0,000

2Ebunywn 3.




Yu7+425 - Nl7+454.5
9a-V ljw n Lgn w uyht
1 ﬂfgphll*m&‘gl‘ll_’{;‘_‘;g d'“‘ thhuptgaud wpupuibgpuyh P 0,000 1483,200 0,000
1" | 9a-V YJwpgh pwhnaqh thjupbgnud hhgpadmpdny W 0,000 0,000
-V n
s it g 100 gy gy apbge Loy | O | 000 | 1ewsvo B0
Lnylbp dknpoy u? 0,000 11523,600 0.000
Lwjuonnp thjupkgud 93-V Jupgh pliwhngh dywlaulp
tpuld 1.0u3 sl Ynnph Ynonwlnidn] hkwnuguwpd (hgph ey 0,600 839,700 0.000
husiwp
206 -VHI Jupgh phuwhanh hjupkgnud wwjpuligpughtb o 0,000 2710.800 0,000
1hgpkpny b 1.0-2.04
206 -VIII jupgh pirwthnnh thjupbgnud hpnpodnopény g 0,000 0,000
Luthuopnp thjupbgpws 206 -VIII jupgh pluuhngh
Uzwlnuip b pwopdnid tpue. 1.0 pan.uh ibnguljnyn ? 0,000 1969,200 0,000
hlsh 1.0
Lnybp aknpny UE 0.000 13477,300 0,000
! ZEbwwunnh khuph hpulwbwgnuf vhwdny; phwnithg R 0,000 63168,100 0,000
ZEbwrunh hpwbh ppwluwhuwgnnd dhwany; phnnbhg Uk i 0.000 67460,400 0,000
Zhbwwwnp  hbwnbudweh gpileodh (gudwpnipnh) oot 0,000 10275.300 0,000
hpaljulnegnud
Apktnedwihb ingrdujbbph winugpond LLI) 0,000 2475,%00 0.000
fufwbpuyhly ppudlnunngnad W 0,000 1258,200 0,000
Zkbwuyunnh ukljghwibph dhelt dhewmnhp e 0,000 432.900 0,000
Zhunwnupd thge prvynnqbpay 92 -V i3 0,000 809,100 0,000
Lnyhp dknpod 97 -V e 0,000 1757,300 0.000
Chnyunftip 0.000
Clphwimepp 3771 176 502,162
Clruubhp shutuunnbufud swpubp ** 109 921 496,626
Udpnnep 3881 097999

* UpdEgp bbpwnned b omnp dwhrbpp. Lbpuwnpw <<Swhnypes= & SN U 20%
* Ditufutnpbiifad ughmpoliplioph & Suduutph wdap cugdhpanpeth Yodhg lageguenly gpudugpgon et dhgegbting Stiewle b gepdull’ dopphthu Yonpg

hy efnpran shusipeuganespp thupmanonalial wlipkph, hinhteuipehl & pbrdbplpolurt hulnanpmd rpwiaotiwglnn whabph Sqpudpugagndiicah waljuyoppat) deppupegdbm pbwpned,
aUsS4dhrusnh LumULUNDh
L& wnwpwdpught Yuwnuwifupdut b «LWR. Mpnklens UME «Rwnwdwl» UT0
bupwlwnngiwdplbph bwiuwpwpnigmt &, p. Bplut, Upwplbp 391w L&, Uulbipwih 2ng., . Pppwdnn
<< p.bpluwt, Ywnunjwpwlwl vimb 3, «UpnohUpwily» ®PC «Swjphqubupwly» PPC Uinbthwbwlbkpnp
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